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Lhipwdniyeyntl

Fhdptintbghw) hwjwuwpnuibbin Ynsynud b wyh hwjwoewpnudbbpp, npnbgnud
whhwyppbtipp 06y Jwd Jh pwih hhnfuwlwbbbphg Gwhwd $ncdljghwidbp to,
nbn npnud hwywuwnpnudbtph dtke dwubwlgnud B hbswbu wihwyyp ncdljghwitipp,
wylybu &) bpwbg wdwigpubtipp: bpt wihwpp $ndlghwibpp Ywhdwd o oty
hnthnfuwlwbhg, www hwjwuwpnuibtipp Yngnud B undnpujwb nhdtiptbghuy
hwwuwpnuibtip, huy tpt wihwyyp $ublghwdbpp Ywhwd tb dh pwih (pyne
Yuwd wytih) hmpnfuwlwbibbphg, wew hwjwuwpnuibbpp Yngdnud Bo Gwoebwlwh
wdwhgywbtpn] nh$bptibghw) hwywewpnuidbp: Swywoewpdwb T Jwubwljgnn
npnitih $nbyghwyh wdwbgywh dwpuhdw Yupgp Ynsynud & hwjwuwnpdwb Ywpg:

Awuwgppnd nwnufbwuehpnud G0 dhwyb bpypnpn Ywpgh  gdwghib
nhdtiptiighw) hwywuwnpnuibtinp:

Ltindndbbp npnp bowbwynuibtp:  R,-nd Opwiwlbbp n-sunhwbh Eyyhntuo-
Jwh pupwdnpnbp, £ = (21, ..., Z,)-n] Bwbwlibbp R, pwpwdnipjwd Ytgp,
2| = (224...+22)Y2: R, pwpwdnipywh phpnyp Ywd n-suhwbh phpnyp wabng
Jhwulwbwbp R, pwpwdnpjwd Ytypbph pug b Huwywlhgjwd puqingeynid (ng
nuipwinly):

Yhgnip Q-0 n-sunhwbh phpnyp & £ C @ pwqunygajnidp Ynsynud t Q-h huiwp
Jpuap Glppht, tpt E C @, npyptin E-ny Gowbwlywd t E pugqinpywi thwinuip
R, ywnwdnipjwd dbypphljwyny:

CH(Q)-ny bpwbwltbp @ phpnypnud dhigh k-pn Gwnpgn bbpunyw] whpbnhwg
Juwubwlwh wdwbgywbtp mbtgnn pninp $nblyghwdbph pwqingenibp, npyptin
k-0 ngpwgwuwljwd wdpnne phy t:

CHQ)-ny Oowhwlyhbp CHQ) pwqinewh bhpwpwqinipnbp, npp
pwniwgwd t pnnp wyb nibljghwibphg, npnbg dhish &-pn Yupgp Obpwnjw)



dwubwlwd wdwbgpubtpp wipbghwy 6o Q-nuf:

C%Q) u C%Q) pwquinpynibbbph hwiwp, npnbp hwiwwwpwuiwbwpwn
Q-nui L @-nui wihphnhwy $nublyghwitiph pwqinenbbitph tb, Yogypwgnpdhbp
twl C(Q) L C(Q) tpwhwlynuibtipp:

C*(Q)-ny bowbwltibp wyb dnblghwdbph pwgingEnibp, npnbp wwpwihnu

th pninp C¥(Q), k = 0,1, ..., puqinipymbitpht’ C*(Q) = ﬁ CHQ):
C*°(Q)-ny bpwbwlkbp wih $nblighwibtph pwqtimpjnmg,:;pnﬁp wwipljwibnud
th pninp C*(Q), k =0, 1, ..., puqinipynbitpht’ C*(Q) = ﬁ CHQ):
f(z) dnblghugh wnweht b tplpnpn Lwpgh amum:ﬁn wdwhgyublkinh

hwiwp Yogquypugnpdtitp bwl fz;, foz; Bpwhwynuibbpp.

_ 9f(=z) _ Pf(2)
fmi — axi ] fa;.;a;j = axzaxj .

f € CHQ) pnblyghwyh (fay, -, fon) gnunhbbpn Yopwbwlkbp Vf:

(n — 1)-sunpwih S thwl dwtpinye wubin] Yhwulwbwdp C¥, & > 1, nuuh
wnwig tqph (7 — 1)-swihwbh vwhiwbwihwl hwl Swibplngp, wiehbph’ R,-nul
nbywd uuwlgwd vwhiwbuwhwl hwl swibplnge (S = S), npb odpwd t
htigplywy hwpynipjwdp.

gwhlwgwd z° € S Yhyph hwdwp gnnpinh mbh wyn Yeph Uge opswljwp
(n-sunpwbh) b C*(Uyo)-hbi wwiplwbinn wybwhuh Fro(z) $mublghw, pbn npnud
VF,o(z% # 0, np S N Uz pwgqinpinibp dhwnwgpdnud t Fyo(z) = 0 hwjwuw-
nnuinyg (S N Uz pwqinpiwd pnpnp Ytpbpp pwdwpwpnud B0 Fo(z) = 0 hwjw-
uwniwap, b Ugo-hb wuwiplwbng gwblwgwd Yy, npp pwdwpwpnui £ Fo(z) =0
huwuwpdwbp, wuwplubnad £ S-hb):

@ yphpnyph kiqpp Yopwbwltibp 0Q-ny: Wunihbiyp Yebpwnntibp, iph hwiwnw-
4n hunpniyy sbagh, np nhypwplynn phpnypitnh bgnbpp punugwd tb Jtpgwnp
pUny hpwp htap shwpdnn (7 — 1)-gunpwth C' nwuh il dwybplngpitphg:
Llhwytibp, np tph S thwl dwibplingpp wwplwinut £ C* nuuhd, wyw wn
dwltplnyph gwiljwgwd z° € S Yhyph hwdwp gnyuupyl mbh wyn Ytph w)b-



pwih thnpp U;o nowluwyp, np SN U;o hwypnuip dhwpdbpnptl wpmbyyynud &
ynnpnhiwpulwd hwppngeynbbtphg dGynud piwd C* quuhd wwyplwing bgp
mbtignn nplut (n — 1)-squnpwbh Dy yphpnyph Jpw. gnymupind mbh wybuhuh
1, 2 = 1,...,n, np wyn hwpnuip bwnpwgnynud

Z; = <Pz0($1, ---,zi—1,$i+1,---,$n), ($1, ---,zi—1,$i+1,---,$n) € Do,

hwwuwpnuing b @0 € C¥(Dyo): SN UL, hwpnuip Yuwiwbbp S dwitplingph
wuing lppnp (Qwd fppnp):

Lwbh np S dwibplngep vwhiwburhwly t W pwl, wyw {U,,z € S}
dwdlinyphg Ywptih t pbgpptp Jbpewdnp bpwdwdlnyp: Wnwhoh Jbpewdnp
Libpwdwdlynyphh hwdwwwipwuepiwbng S, ..., Sy wwpg Yypnpbtinh hwdwhinuipp
Juiwidtbp S Jwitiplinyph wwng Yypnpbtpny dwdljnype:

(n — 1)-sunhwbh C*, k > 1, nuuh S dwlbpunyp wutind Yhwulw-
bwihp Juwwwlgwd Jwibpungp, npp Ywpbih t owjbybe dwdll) Jbpeunp
pUny U;, ¢ = 1,..,N, yphpngpbbpny (n~unpwbh), np S; = S N U,
i = 1,.., N, puqimpynibbtphg jnipupwisinipp Jhwpdtipnptib wpnybiyypdnad
ynnpnhiwpulwd hwppnpnihitinhg dhlnul pblwd C* puuhb wwipljwing tgpny
nput (n — 1)-swihwbh D; whpnyph Ypw. npbt p-h hwdwp, p = p(E), 1 <p < n,
wyn hwypnuip ohwpwgnynud t

Tp = Qi @1,y ey Bp1, Tpt1y ooy Tn)s  (T1y ey Tp1, Tpity ooy Tn) € D,

hwywuwpnuing b ¢; € C*(D;): S dwlbpunyph Uy, ..., Uy dwdlnyphd hwiw-
wwipwupuwbnng S;, ¢ = 1,..., N, wupg Yypnpbkiph hwdwhnoipp Qubdwibtibp
S Jwlbplnyph wwpq Yynpbhbpny dwdlnyp: Wunthtiyp (7 — 1)-sunhwbh Jw-
Ybpunyp wubinyg Yhwuywbwbp C*, k > 1, nuuh (n — 1)~swihwih dwibplngp:

“Yhgnip S-p Q-nuif phiywd C*, k > 1, nuuh nplit dwibplingph wwng Yypnp t
U nhgnip

Tn = ()o(x].’ "':xn—l) = (p(xl)7 xl € D: (lo(xl) € Ok(ﬁ):
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wyn Yypnph hwy wuwnpnudb t:

Ywutip, np S-h Jpw ppdwd f(z) = f(z1,..,2,), ¢ € S, pmblghwh
wwiplwinut t C*(S) pwgimpywbp, f € C*(8), tiph f(z', ¢(x')) Pnibilighwh
wuwipwint £ C*(D) pwquintpjwin:

Gopwnptiip S-pn @-nui powd C*, k > 1, nuuh thwl Jwibplungp t
(Jwubwynpuwby S = Q) L Sy,..., Sy bpw wwpg Yypnpbbpny dwdlnyp
Gwubkbp, np S-h Jpw ppwd f(z), z € S, Pnublighwh wwplwbnu t C*(S)
puwgqimpywip, f € CHS), iph f € C*S;), ¢ = 1,...,N: 2w st blhwphy,
np f(z) $rublghwh wwplwitupynubp C*(S) puqinpywip Ywhwd st S
dwlbplnyph wwnpq Yypnpitpny dwdynyphg:

JYhpwnunibwbp nhybptbghw) hwyjwuwnnuibtphib:

Uhpwnmpynbbtipnd - wbhpwdtogpnipnt £ wpwowbnud  nunuibwuhply
nh$biptoghw) hwjwuwpnuidbp b npnpwlh phpnyenwt gty 62gnhy,  Yuwd
dnpuynp, mdnuibtip Jud nenuibwohpty nddwd npuwljwljwd hupmpnadbbpp:
Lon npnud, nhypwplpynul o ghdbpbbghw hwwoewniwb ng pnnp dnuibbpp,
wyp wyb udnuibitipp, npnbp, nputu Ywibnb, phpnyph tgnph ypw pwwpwpnad o
nuwnuwbwuhpynn fubnph pbnyphg punn [puwgnighs wwjdwbbbph: Rtiptibp Gh pwbh
phwywht ophbwlbbn:

1. Utdppwih bujuwuwpulpempyus b owpddwd  julinhpp:  obnhpp
Yuywbnui t htgplgwinut qpit] ndtiph wgnbgnipywi pwl qpbyng dtdppwbh
hwjwuwpwlppnipjwi nhppp:

Gopwnpynud &, np  dhdppwbh  gwblwgwd  pnypwppbh nhpp  hpkibhg
ohipuwjwghnui t (z,u) = (24, Z2,u) Puwpwdnpwib Jwikpunygp, npp Shwpdtpn-
ntb wpntyypgnud £ 210z hwppnipywd nput @ wphpnyph dpw b pudnud ©
u = u(z), z € Q, hwjwuwpnuiny, npyptin % € C1(Q):

Gopwnnnui t, np tipk » = ¢(z), z € Q, dhippwih nplit pnypwpntith nhpp t,
wuww gwilugwd wy ¥ = u(z) pnywippbith nhpp upwgynud t « = ¢(z) nhpphg



Utdpnwih jupuwpwbsymp Ytiph Ou wnwibgphl gnigqwhtin phnuanhnfunipyuwdp:
Glpwnnynut £ bwl, np d6dppwibh Jpw wgnnn wpgpwphl ndp nnyud & Ou
wnwhgphlh gniqwhtin b mbh f(z) wipbnhwy fupngeymd: Uhdppwip ¢ nhpphg
4 nhppp phnuihnfutiine hwdwn wyn ndh Jupuwpwd whiwpwopp hwywown €
w(z)

//mwm—[mwm>w@m

Q@ ¢(z)
PFwgh wjn, dipnwbh Jpw wgnnud £ bwl btipphd nud: Yhwdwplbp, np dtdppwbp

® nhnpphg ¥ nhppp ptinuiginfubtine pbpwgpnul wyn ndh Jupupwd wyhuwpubpp
hwwuwn &

_ / Ka) (VIT VoF — /11 [VeF) do

Q

((wl,xl + Azy) x (22,22 + Az2) pwpphd win ndh hwpliuwgpwd wyluwpwipn
hwitdwypwlwd & dbdppwih dwibplngph wji dwueh dwitpbuh yimpnfungejwip,
npp wpnjklpynud £ wyn pwpph dpw, k(z) > 0 gnpdwlhgn Yngdnud & dbdppwbh
Sy wdnpynil, Vu = (uzl,umz)):

bpt dbuppwih bgph Ybpbpnd Ghpwndwd togi(z,u) = gi(z) — o1(z)u
(o1(xz) > 0 tgnh wowaqulwd wipwgiwh gnpdwlhgh t) gdwjhd fupnyeywdp
nd, wwyw Stippwip ©(z) nhpphg «(z) nhppp phnuibnfubine hwdwp wn ndh
Luipwnwd wrhnwpwipp hwjwuwn

wz)

[ [ e auas= /@@W@%wm—ﬂ@Ww—w@Qw

Q ¢(z)
() nhppnuwt dhippwih wnpbbghw) thbpghwd hwjwuownp &

Uw) = Ule) + [ K@) (VIF VAP~ VIFIVeF) do— [ fo)u ) dot
Q

Q

g1
+ [ (2= —au-p) as
QR
npuptin U ()-b ¢ ghppnud dhidppwbh wnyptibghw) tibpghwi t
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Mupqupjwd hwiwp tipwnptbp, np Jtlppwih pnywypptih «(z) nhppkph
hwiwp Vu(z) pudwlwbwsunh tnpp t U |Vu|* Ywpgh winwdtbpp Ywpnn Gop
hwoyh swnbti: Wn phwpnd w(z) nhppnd ddppwbh wnpbbghwy thkipghw
uponnith

U =U) + [ 5 (Vul = VeP) de = [ f@)u—¢) da
Q Q

2L~ ¢?) — g1 (u—¢))dS
+a£(2( ©’) —g w)
bupp:

bph u(z)-p ddpnwih hwwewpwyoonyzjwi nhppeb t, wwyw gwiliwgwd nplt
wy prylwyntih v(z) nhpph ntiwpnud ¢ = 0 Yhpp

Pt)=U(u+tv)=U(u)+1t

/ (kVuVv — fv) dx + / (oruv — g1v) dS] +
Q aQ

2
-I-% |:/k|V'v|2dx+/01'u2dS

Q aQ
pwqiwbnuwih (puy t-h) Jhohdnwh Yhy & (wyupbn VaVe-nd bhwbwlgwd & Vu

U Vo Jtlyypnpbtiph uhwpjwp wppunpwin’ VeV = Uy, Uy, +Ue,Vs,): Stipluwpwn,

dP(0)
dt

npuptinhg uypwgynui , np gwijwgwd v € C1(Q) $nibiighuyh hwiwp FEippwih
hwwuwpwlzpnipywd nhpep jwpwgnpnn w(z) dnblghwd puwnpwpnad t

0,

/kVuV’u dz + /alu'v ds = /ffv dz + /glv ds (0.1)
Q 9Q Q aQ

hinpbgpwy bnybnupywbn:
bpb dhdppwbh tgpp wiownd &, wyuhbiph” Ynoy wipwgywd b, wwyw dtdppwbh
pninp pyjwipntih %(z) nhpptipp pwjwpwpnud GO

=¢| (0.2)



wwjdwbhb, b wyn ghypnud Yuwdwwlwd »(z) ghppnd dhdppwbh wpbbghw
thtpghwid hwywuwn t

0w =)+ [ (5 (7uP = 1967) - flu =) ) do:
Q

“hgnip u-0 Ynoyp wipwgywd Jhdpnwih hwwuwpwlppnipywid nhppb t: Wn
nhiwpnul gwilwgwd v € CH(Q) Pnilijghuh hwiwn, npp pwwpwpnud t

v]ag =0 (0.3)

wwydwbhb, v + tv mblghwd Ypwldwnpwph (0.2) wwydwbhb: Seplwpwn, pognp
wnuwhuh v dnbljghwdbiph hwdwp

P(it)=U(u+tv) =U(u) + tf(kVqu — fv)dz + %/MV’UF dx
Q Q

puwqiwbnudip ¢ = 0 Yhypnd phgmbnud t thnppugnyd wpdbip: Muph, (0.3)
wwyTwhhb pwywpwpnn guwbliwgwd » € CH(Q) $nublighwyh hwdwn Ynoyp wipwg-
qwd  dhippwidh hwjwuwpwlppngywd nhppp Ohwpwgpnn w(z)  dnblghwb
pwywpwnnud t

/kVuV’u dz=/f'u dx (0.4)

Q Q
hinptignwy inybnuEjwbp: bet hwdwptibp, np dedppwidh hwwuwpwlponyeywi v

npnbtith nhppp yndnud £ ng pli 0bl, wy tipne wbqud nhptiptibgliih nblghwgh
dhengny, » € C?(Q), www (0.1) L (0.4) hinphgnwy wuwydwbibtpp Ywnkih t hn-
fuwphbty (njw) wwydwbbtpny thpwnptny k(z) € CYQ), k(z) > 0, z € Q,
01, 91,9 € C(0Q):

Swiwduyd Quyppngnunulne pwbwalih
, ou
/kVqu dr = — /v div (kVu) dz + /kafv ds,
Q Q 9Q



. 0
npptin A = (A1, Az) Jblypnph hwiwp divA = Ag,, + Aoy, % 50 = (Vu,v)|sg =

(U, 1 + Us,V2)|ag, ¥ = (V1,v2)-n 0Q-hD pupdwd @-h dljwpdwdp wppwphi
Ghwynp Gnpdw Yulypnpd & Shpluwpwp, (0.1) U (0.4) dnybnypynibbbipp Qupbh t
qnty
. ou !
/ (d'w (kVu) + f)'u dx — / (ka + o — gl) vdS=0 (0.1)
Q

9Q
18
] (dz"v (kVu) + f)v dz =0 (0.4)
Q
iphiupny:
Lwbh np div(kVu) + f drublghwh whphnhup t, wyw (0.4") nyinpinithg
upwibnud tibp

div (kVu)+ f=0, z€Q@, (0.5)

hbsp Yoy wiipwgywd dippwih niypnul (0.2) &gpruyhl wwydwbh htiy shwuhb
hwinhuwbnud t wyb nuy wwydwbp, npht wtipp &t pwdwpwph npnbbijh w(z)
$nubiyghwa: (0.2) tigpuyht wwydwdhd pwdwpwpnn (0.5) hwdwowpdwb jndnuip
qulbtint jubnhpp Yngdnud © wmughl kqpuyhl plghp (Wl Hpphybh uinhn)
(0.5) hwjwuwnpiwd hwdwp:

Lwbh np (0.1)-md v(z) Qwiwywlwd Publghw t CY(Q) nwuhg, wuw
nhypwpytipng dwobwynpuybue (0.3) wuwydwbhd pwdwpwpnn v(z) $nblighwibp’
Jupwbwbp, np wju phwypnud Lo w(z) $mblyghwd pwwpuwpnd t (0.5)
hwwuwnpdwp: Seplwpwp, (0.17) Gnybnynbp Jwpbh © gply

/(k%—l—alu—gl)'vdS:O

9Q
pbupny: hgnip 01,91 € CH(EQ): Lwbh np CHHQ), 6Q C C?, pwginipuip
wwpljwing gwiljugwd $nblghw nibh C1(@Q)-hb wuplwinng swnpnibwlnipynd,
wuww Ytipehth bnybmpnibhg wypwbnu tibp

(% + au) |3Q —y (0.6)

12



kopuypl wpuwydwlp, nphn o = ? >0,9 gk1

(0.6) tgpwyht wwydwdhd pwyjwpwnpnn (0.5) hwywuwndwb ndnuip gpbbpne
fubnhpp Yngynud t Eppnpg kqpuyhl pagpap (0.5) hwjwuwniwd hwdwp: 6 =0
ntwpnut bppnpn Bgpuht fubinhpp Yngdnud & Eplpnpy Eqruyhh fuanhp (Qwo
Ulybwlih pulimhn). Wu nhypnud Ggnughb wwydwbb nbh

ou

53Q=9 (0.7)

ptivpp:  Wuwhuny  upwgwbp, np dwippwdh  hwjwuewpwlpppnggwd  nhppp
oywpwgndnud £ (0.5) hwjwuwpdwd mddwb Jhengnd, npp pwdwpwpnud t
npnawlh bgnughd wwydwbh:

Wdd nhuypwpltibp ddppwbh awpdiwd fubnhpp:

Yhgnp u(z,t) $nbljghwd npnonud t Jhdppwbh nhppp dwdwbwlh ¢ wwhhib:
Wn nbwpnud u,(z,t) W uy(z,t) $ndilighwibpp npnonud Bb dedppwbh z € @ Ytph
wnwgnpynbp b wpwgqugnuip (Ghpwnnynud £, np wyn wdwbgyubbpp gnynpynid
mbth): Yhgnp dwiwbwlh npnowlh ¢ = ¢ wwhhb ppwd Gb Shdppwbh (z,t)
Ytiph nhppp L wpwgnyeynubp.

Ulito = %o(2), € Q, (0.8)

Uslimz, = P1(2), €Q: (0.9)

(0.8) L (0.9) wwydwhbbnp Yngmd bh uhgphwlpub upupfubbbp.

Qwpwdpbph  uygpnibph  huwdwduy®  Jhdppwbh  swpddwh  hwywuwpnuip
dhdppwih hwywuwpwlpnngpywd (0.5) hwywuwpnudl &, npnd f(z) $nubilyghwb
tnfuwphidwd t —p(z)ue + fz,t) Pnblighwiny (—p(z)ux-b hbbtnghwih
ndh fupnyymbh t oz Ytpndd, f(z,t)-b wppwpht ndh fupnyaymdd t, npp,
pinhwbnwwbu wuwd, Yuwhdwd t t-hg).

div, (kVgu) + f(z,t) — p(x)uy =0, z€Q, t>ty: (0.10)

0Q tqnh Jnw ppdwd wwjdwbbbphg Ywhewd, hbswybu L upwghnbwn nhiypnud,
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tiqpuyhtl wwydwbbbpp ponnuanud 66 (0.2), (0.6) Yuwd (0.7) yhupp L phnh mbkh
nhypwnpyynn dwdwbwlh ponp ¢ > ¢y wpdtpbbph hwdwp:

(0.2), (0.8), (0.9) Gwd (0.7), (0.8), (0.9) (ywd (0.6), (0.8), (0.9))
wwydwbbbnht pwyjwpwpnn (0.10) hwdwowpdwd udnwip gt fubinhpp
Unsnud &, hwiwwwypwupswbwpwp, wmeghl Ywd  Gpipepg Gl &ppepg)
Juunp pubighp (0.10) hwjwuwpdwd hwdwp:

Wuwhuny, dtippwih swpdnuip bwnpwgpynad £ (0.10) hwwuwpdwd mddwb
thengny, npp pwywpwpnud t uygpbwlwd b npnowlh Ggnwjht wwjdwbbtph:

Godbne pwpwdywd dtdppwih nhiypnd (Q = Rp) swpdnuip Ghwpwgpnn
u(z,t), z € Ry, t > 0, dnliljghwdr (0.10) hwuuwpdwd jmudnud £ U puwnupnud
t (0.8), (0.9) ulgpbwlwd wwydwbbtpht: Wn pypnud wunud 6b, np w(z,t)
$nulihghwt (0.10) hwwuwndwd hwiwp whgpbwlput puagph (Unphh panph)
s

bpt (0.5) L (0.10) hwywuwpnuibtpnul gnpdwlhgbbnp hwopwpnbbbn to,
k() =k >0, p(x) =p >0, wyw wn hwjwuwpnuibbpp hwiwwwpuwoeowbw-
pwn Yngynud &6
Mnuuunbh huwjwwwapnod.

Ay = —@, z € Q, (0.5")

b wyppuyple hufuwuwpnod,

k /
izutt —Au = —M, TEQR, t>t, a= \/i, (0.10)
ag k P

2 52
nptin A = —— + == W Ung|mud t Luaypuup oybipunpnp:
Ox;  Ox}

Utily pupwdwlwd thpnfuwlwih nhiypnud (0.10") hujwowpnudd nidh

1 t 1t
?utt — Uge = -—f(:;: ), T E (a,,B), t> to, (0]_0 )
0

phupp: Wu hwwuwpnuwip thwpwgpnud £ (e, 8) dhewlw)ph Jpw plinuluwdwd
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Jwnh swpdnuip: Bowsunp z = (24, Z2, 3) nhuypnud

1 f(z,t)
Ok

Pl Au = , TEQ,t>t, (0.10")
0

hwywuwnnuip, npptin Ay = Uy, 2, + Usez, + Uzszs, Bwnugnnui & quigh swpdnuip
Q@ yphpnypnu (u(z,t) $nblighwd phngpuwgnnad t dwdwbwlh ¢ wwhhd z € Q
Yhypnud qugh 8iodwh shinnuip hwupupndd §onuihg): Wyu nhypnud ao-b quignud
dwjbh pwpwddwd wpwgnyymbb t:

2, Qipimpywl pupwdiwil fulighpp: Yhgnp Gowsunh pwpwdnpud @
tpphpnypnut nubtip bynua, npb nbh p > 0 fupnueynid, ¢ > 0 shipdnubwlmpynd L
k(z) > 0 gbpiwhwnnpuwlwbneywh gnpdwlhg: vz, t)-n bowbwlbbp ¢ wwhhb
z € @ Ytypnut sbipdwuphGwibp: Ghpwnptibp, np ¢ = ¢ ulyqpbwlwd wwhhi otip-
JwuyphSwbp hwyypbh t,

u(@, 8)]emt = %o(a), z € Q, (0.11)

L wwhwbgynud t qupbiti sbpdwuphswbp £ > ¢ hwdwp:

Nhgnip Q' yphpnypp Q-h nplit thpwyhpnyp & Snpybh opkiiph hwdwawt
(t1,t2), to < t1 < to, dwiwbwlwhwpwdnd Q" tgnny Q' phpnyp dypbnng ghip-
dnipywd pwiwlp hwywuwp t

to
ou
/ dt | k(z)5ds,
i1 3QI

npuptin v-8 Q -ht pwnpwd @' -h blwypdwdp wpypwphb Shwynp Gnpdwb b
bph Q whpnypnut woljw t f(z,¢) fupnupjwdp shpdnpywd wnpynwn, www
(t1,t2) dwiwbwlhwhuwpwdnd Q' - nud ghpdnypwh wp hwwuwn &

io to
/dt/f(m,t)dz—}—/dt/k(m)%ds:
Q' t1 aQ

t1

U otipdnupynibp dwhiunud b jmpuwpwisiup 2 € Q' Yhiypnud shipdwuyphwbh
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wndtipp u(z,t1)-hg Shigh u(z,t2) hmpniubiin Jpw L plinh nbh

/dt/f(x t) da:+/dt/ k(x )— ds = /c(z‘)p(x) (U(fl?,tg) —u(a:,tl)) dz

ohinwht hwywuwnwlpnmpyui hwwuwpnuip: Swadh webting, np

u(x,ta) —u(z,t1) = /— dt

L oqupytiiny Ouyppngpunulynt pwbwalhg Yupwbwbp
ta a
/dt/ (c(x)p(x)—u —dw (k(x)Vu) — f(x,t)) dx =
ot
t1 Q’

npptin Vu = (Ug, , Us,, Uz ):

bpt thpwhipbgnuwuwht Pnblghwd wipbnhwy &t Q yphpnyenul, wuyw
hwath wnbbind Q@ whpngph U (1,%;) dhewluyph Ywdwjwlwd  (hitin
Yuypwbwibp, np Ytipghtt hwywuwpmipinibp hwiwpdtp t

c(x)p(x)% —dw (k(x)Vu) = f(z,t), x€Q,t>to, (0.12)

nh$tintbghw) hwywuewpiwbp: W ntiypnud, tpp c(x), p(z) L k(z) nublghwdbipp
hwuypuypnibbbip B0 c(z) = ¢, p(x) = p, k(x) = k, (0.12) hwjwuwpnuip Yngfnud &
ghplfwhwnnpnulpulmgerub huafunwpnod,

Lot~ = 1@, (0.12))
a? cp

nuptin o® = % AU = Ug g, + Uagzy + Usgas:

Lhunpkbp, np (0.12) hwyjwuwpnuip gphnh nbh dhugd ¢ >t b dhwyd @
whpnyph Otipphl Ylpbph hwdwp: u(z,?) mblghwyh Jwppp ¢ = fo wwhhi
yppynud t (0.11) wlhgpbwlwd wwydwbnyg, huly z € 4Q Ytiphpnud whyp &t yppyh
Inwgnighs: Wb phijwnndnud £ phahljwljwd Ynblptip fubigpny, npp gbipdwhb Yuy
t hwuipuypnud @ phpnyeh b wpywphb dhewduyph dhel:
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Muwpqugnyl nhypnd 4Q tgph Jpw ¢-h pninp nhypwpldnn  wpdbpbtinh
hwdwp ppynud t w(z,t) shpdwuyphswbp

ulaQ = fo(x,t) : (0.13)

Un ghwpnud obpdwuphwbp Yoywpwgnpdh (0.12) hwjwowpiwd wyb jnddwb
theongny, npp pwwpwnpnut t (0.11) L (0.13) wwydwhbbphb:

Gpb hwypbh t 9Q tigpny gtipdwyhl hnuph go(z, ) fuypnipiniip, wyw dnugth
ontiiph hwiwdw)b’ tigpwjht wwydwdh mbh

k(w)% o qo(z, t) (0.14)

ipphiupp:

tpb hwypbh t Q pwhpnyphg nnuu pblwd dhewwyph uo(z, t) ghptwuphtwop,
L 4Q tigpny stpdwyht hnuph go(z, t) upnipnibp hwibdwpwlwd t ulsg U volag
stndwuphSwbbbtph puppbpupwip, www tqpuiht wwjdwbb pbnnbnud

(k(x)g—ﬁ + klu) |aQ = kluO’aQ (0.15)

phupp, npuptin k;(z) > 0 opewlw dhewywph htiyp twnpdbh gbpdunpinfuwbwlne-
pwib gnpdwihgh t:

(0.11), (0.13) Luwd (0.11), (0.14) (Qud (0.11), (0.15)) wuwyfwdbkphh
pwywnupnn  (0.12)  hwjwowpiwd  mdnuwip  gpbbine fubnhpp Ynggnud &,
hwiwwywipwuiwbwpwp, wewghl Ywa pgpepg (Wl Eppnpn) pouep panhn
(0.12) hwjwuwpdwd hwdwn:

Wb ptiypmud, tpp Oynpp 1gbnud £ wipnne Rs pwpwdngaynibp (@ = Ra),
u(z, t) shpdwuphSwin pwwpwpnud t (0.12) hwywuwnpdwbp, bpp ¢ > to L (0.11)
ulgprbwlwb wwjdwbhib, tpp ¢ = to: Wn ghiypnd wund Bb, np u(z, t) dnblighwb
(0.12) hwjwuwpdwb hwiwnp uhgrawlpub uanph (Ynpph pbgpp) ndnud t:
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Q.intju 1

Gpypnpn Juipgh hunjwuwpnuiiph puuwljupgnndp
fLunypwugphs Ywmijtipbnyphtip

n-sunhwbh Ry, n > 1, z = (24,...,Z,), pupwdnypjud @ pwg puginpwh
dnpw nhupwplytibp
> (@) Uae; + Y ai(@)us, +a(@u = fz), zE€Q, (1.1)
i,j=1 =1
tpypnpn Ywpgh  Jwuebwlwb  wdwbdgpubtpm]  gdwihh  nhduptibghuy
hwywuwpnuip, npptin hwdwuwpdwb a5, a;, a, (4,7 = 1,...,n) gnpdhwlpghbpp
pnwd phpwlwd wpdtpwih $nblghwdbp b C(Q)-hg, hwwuwpiwd f(z)
wquap whnudp (wp Kwup) pujwd dndlghw t C(Q)-hg: u(z) dnblyghwi
yngynud £ (1.1) hwwuwpdwh judnad, tpb v € C2(Q) L pwdwpwpnul £ (1.1)
hwywuwpdwbp: Awpdp Qupgh wdwbdgubbph a; (4,7 = 1, ..., n) gnpdwlhghtipp
dlwynpnud bb wifuug grpdwlpghtiph A(z) = |a;(z)| pwnwynuwihd dwipphg:
Sbypwquynud, wnwbg pinhwbpnpymibp uwhaipting Yebpwnpbbp, np A(x)
dwipphgp uhdtypphl t: bpnp, hwpuh woebbing wib hwupp, np C*(Q) nwuhd
wwplwinng nbljghwdbiph hwdwp

Ugiz; = Ugjzy, ] = L..,n,

n n
B _ Qij + Qji
azg'u'a;ga;j - 2 'u'a:,;a:j ’

,5=1 8,5=1

www A(z) dwpphgh thnfuwptt dhoyp Juptith t Jtingbty

1 1
3 lai;(z) + aji(2)|| = 7 (A(z) + A*(z))
uhdbippphly dwpphgp (sthnfuting hwywuewpnuip):
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§ 1. Sunjuiuwpmu@ph puuwijupgnuip

tipgttip Ywiwywhwd z Yy Q-hg: |A(z) || dwipphgh ubthwlwd wpdbpbting,
wyuhbph® det|A(z) — AE|| = 0 hwjwuwpiwd wpdwpbbpp, Gowbwlbbp
A(2), . An(z) (mupupwbgmp A; Yphignud t wybpwh wbqud, nppwd Dpw
wuwiphynipymbd t): Rwbh np [|A(z)| dwyphgp vhdbpphy &, wwyw ponp A,
i = 1,..,n, hpwhwd tb: Yhgnip npwiighg n. = n_(z) pwgwuwlwb b,
no = no(x) quywlwd b L 7y = ny(z) npulwb Gb. n_ +no + ny = n:

1. ng = 0 nliwyp.

w)tpti ng = n, n- =0, jwd ny = 0, n_ = n, wyw z Yhpnud (1.1)
hwywuwnnuip Ynsynd & Epwyudui phugh,

ppting =n—1L,n_=1L4win, =1, n_ =n—1, wyw z Yapn (1.1)
hwywuwnpnuip Ynsynud £ rpwylppnywluwi (phuh,

q) ipt ny > 1 Wn_ > 1 (qw hiwpwdnp & Jhuyb 7 > 4 phypnud), wwyw z
Ytipnut (1.1) huwwuwpnuip Yngdnud t neyippukpugleppnudui phuh:

2. no > 0 ntiyp.

Wyu phiwpnud 2 Ytigpnud (1.1) hwdwownpnuip Yngdnud & upepeapralpel phugh:

Yppngoyeymi; Swjwowpdwd puowlwpgiwd vwhiwbnuhg plunud &, np
hwdwuwnpiwd phyp npnobine hwdwp wwppwnhp sk gty A(z) wpduwgpbbph
wndtipbbinp, w)) pwywpwp t hiwdw) wpdwpbbph Gpwbbbpp, wt)h Shoyp n_(z),
no(z) b ni.(z) wipnng pybipp: Wn bywpwlng nhypwnlkip

(A@)¢,8) = Y aij(@)&E5 €= (61,-,6) € Ra,
i, =1

pwnwinwwihd aup (z € @ dhpuwd Ytwp b): Swipwhwoah nwupbpwghg
hwppbh &, np gybpwotingnng hpwlwd dbuwnpnfumpywi dhengnd wjb JQwptyh t
phint Yuwinbwlwd (wilynbwgdwghb) phuph b pwnwlnwwyhd dutph hbtipghwyh
optiiph hwiwdw)t’ wyn Ywbnbwlwd phuph ppwlwd bowbnyg whnpudbtph
pwhwlp ny(z) &, pwgwowlhwd Gowbnd winudbkph pwiwhp n_(z) t, huly

no(z) =n —ny(z) —n_(z):
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bpt (1.1) hwjwuwpnuip nput £ C Q@ pwqimpwid pmnp  Yhphpnud
thwuwlwd t (hhwbppnpwlwd £ L wyd), wyw wid Ynadndd © Gawulud
(hpuylipenpulpud b wy)b) E muginippud o pu

Ophtwljatip.

Nuuuunbp hunjuwwwnpnolp.

Au= f(z), z€Q,

2 52
npptin A = 32 +...+ 922 Lwgpuup oglipuapnpl t, Au = tg,p, + ... + Yzpzn,
1 n

(bpp f = 0 wyu hwywuwwpnuip Yngynul & Lewyjruup hwnjwnwpnod) Q phpnypnud

thwyuwlwd phwh t, pwih np wyu iypnui A(z) = E L pnpnp z € Q Ylaptiph
hwdwp A (z) = ... = A(2) = 1:

)hpuyhle huunjwuwupnoip.
Ug x4 +... +'u’a:n_1:nn_1 —Ugpz, — f(z), RS Qa

@ yphpnypnut hhwbpprwlwb ghwh €, pwih npwju nhiypnud painpe 2 € @ Yhiph-
nh hwdwp A (z) = ... = A_1(2) = 1, Ap(x) = -1t
Qbplwhwnnppuuwbngeui hujwwwpnoalin.

Ugyzy + oo + Ugp_yzny — Ue, = f(X), 2 €Q,

@ phpnypnud wwnwpnwiwh phwh t, pwih np wju nypnul pninp z € Q Ytpki-
nh hwdwp A(z) = ... = Ami(z) =1, Ap(x) =0:
Sphindph hunjuupnoin,

ZoUg,xy + Ugoz, = f(il?), S Q C RZ,

Q = {|z| < 1} qbnnui fwwnp phwh £, pwih np wju phypnud hwywuwpnuip
{lz| <1, zz > 0} Yhuwppowbnui Hhwuwlwd phwh &, {|z] < 1, 22 < 0} Yhuw-
2ngwinui hhutippnywlwd phuh £, hul {|z| < 1, zz = 0} ppwiwgdh dnw wwpw-
pwlwi phwh t
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§ 2. Fumulpupguiwd hinjuphwinpnyeymap nnnpY hnjudhwpdtp
wpypuuurpyipmdatph aluyiudp

Yhgnip U-b nput phpnyp t @ pwqingenibhg, U C @, L ghgnip
y=¢p(x), ze€U, (1.2)
Jwd puyp Ynnpnhbwgpbbtinh.
Y1 = 1(T1, 1T )y s Un = Pn(T1, s Tp),

= (21, ..., 2n) € U, o(x) = (1(2), ..., pu()), U-nui ppjwd dlunpnfunipjnid t;
Glhpwnntbp

w) (1.2) dbwnpnfunpynibp U yhpnypp thinfudhwpdtipnptl wppuwwwplbpnog
t V yphpnyph Jpw (y € V),

p) e(z) € C3(U), wyuhbipl' ¢;(z) € C2(U), 1 =1, ...,n,

@) J(z) = | gz | 8wynphh dwypphgn U phpnypnud sh bpwutipynud, wjuhbpb
(1.2) aluunpnfunipywd jwlynppwbp det J(z) # 0, x € U:

Swypbh &, np w) - q) wwyiwbbbph ghwpenul (1.2) dbupnfunyaywd hwlwnuwpd

z=9@y), yev, (1.2)

dbunpnfunipymbn bnybwbu odpywd t bdwh hwplnupynibibtipny:
V yphpnypnut wwhdwbbbp v(y) dnblighwi.

v(y) =u(¥(y), yeV: (1.3)

8nyg pwbp, np biph w) - q) wuydwbbbpp pbnh nbbh, wwyw hwwoewpnadp,
nphdt V' yphpngpnud pwwpwpnud t o(y) $nblighwd, ¥ € V Ytpnad Yihoh dngb
yphwh, hbswhuhdt t (1.1) hwwoewpnwip ¥y € V Ytipht hwdwwywpuwoeiuwbng
z € U Uhpnd (pug (1.2) Gwd (1.2): Sbkhg wju winnuip jhwulwbwip
npwtiv - quuuwlupgidwh pbjwuppwbopngemil Gpvfwd dhiuahnpungeynbbbiph
Gyl
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Cuy (1.3)-h
wz) =o(y) =v(p(z)), zeclU(yeV):

Pninp 2,7 = 1,...,n hwdwp

n
Uy, = E Uy Ph; »
u:z;i:z;:, - Z Z Vyrys Pka; (psil?g Z (o (pk:l;,:l;j :

k=1 s=1
Shypluwpwn, v(y) dnblghwd V ghpnypnad pwdwpwpnud &

n

n n
z a’%J( z Vyrys Pha; P sx; + Z 'Uyk(lok:v.i:vj) + zai Zv‘yk Prx, + AV = f, (IT)

i,j=1 k,s=1 =1 k=1
hwywuwpdwbp, nph wjwg winudbtnh gnpdwlhgbtiph nuobb

aks(y)=(Z%.(z)aw(x)ww,( N_yr Bs=1Ln

] z=9(y)

yptiupp: dbpohll pwhwdlhg htwplnud &, np (I.T) hwywuwndwh wjwg gnpdw-
Uhgttnh | A(y)|| dwiphgp J(z), A(z) b J*(z) bnbp Swipphgbbnh wppwnpyw t

1AW = (V@ A@I@)| _,
A= JAF Yud A=JAI, npgbn A = A(y), T = J(4()), A = A@W®)),
yeV:
Shgnip P-0 wjbihuh sybpwubndnn dupphg &, np € = Pn dluwnhnfungegnibip
A Jduupphgh (A€,€) pwnwinwwihtt dup phpnd b Ywbnbwlwb phuph’
(A&, &) = (An,n), npptin A-b wblnibwgduyghl Jwpphg t, nph wilnibwghdp
(\1,5,,_1/9,‘,,_9, —1,...,—1) Jtlypnnb t: Wn ghwpnud

ni no n—
A=P*AP, A=P*J 1A 'p
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nppbnhg pland & np A dwynhgh (4€,€) pwnwinwuwght sip € = (J*7'P)y
Slunpnfunipywd Jhengny phpynud t ingl (An,n) phuph, his phuph pbpgty tp A
Swyphgh punwinwuht sup: Seplwpun, A(z) b A(y), ¥ = ¢(z), dwpphgbbph
nnulwi, gnywljwid b pugwoewlwd vtithwlwd wpdtpbtiph pwbwlybbpp nybd Lb:
Minnuih wwywgnigywd t:

§ 3. pimpwgphs vwljipmphtp

Ahgnip Q whpnypnui pijwd (2 —1)-guthwbh S nnnply dwybplngpp (S C Q)
pnywd t

F(z) =0 (1.4)

hwywuwpnuwing, npyptin F € C1Q) hpwywh wpdtpwih niblghw t, VFI g7 O
z° € S Yhpp Ynsynud £ (1.1) hwwuwpdwh hwiwp péngeugphs Y, tph

(VF@A®,VF@) = Y. osa) g 250 =0, (19

2,7=1

tipp z = 2%

bpt z € S pnnp Ypbpp pbnipwgnhs Ytpbp B0, wyw S Jwibplngpp Yng-
gnud £ (1.1) hwjwuwndwd hwiwp pangewqgpps dwhbphnge Ywd nnnulh
plrupuignhs.

Lowbwlkbp v(z) = (11 (), ..., va(x)) = VF(z)

|VE(z)|
nupynibp U Jhwynp bpywpnpynd, |v| = v2 + ... + 12 = 1 (¥;-b hwjwuwp £ v

v Jtlppnnh nbh VF nun-

Jblppnph b z; nupnnupiwd Jugqiwd wiljwh cos-hii' v; = cos(v, z;)): Wn nhiupnud
(1.5) hwjwuwpmpnibp hwdwpdtip t
Z aij(x)vi(z)v;(x) =0 (1.5")
i,7=1

hwywuwpnupjwbn:



Ruptbp phnpwgnhs dwlbplnypitinh onphbwlybtin hwuypuwypnid

qnpdwlhgbtipny npny phuywihd hwjwewpnuibbph hwiwp (Q = R,):
MNmuuwuniih bafwewpouf: Mnuwunbh hwwowpnuip phnpwgnhshtp snibh,

pwih np wju nhiwpnut A(z) = E L (1.5) hwjwuwnpmpimbp Ypongnbh [VFE2 =0
phiupp:

Qipfwhuwgnppulpulimpyw  hufwewpnud:  Qipdwhwnnpnuwlwbnupwh
hwwuwpdwd hwdwp (1.5") hwwuwpnpgnidp phnndnd © hbplgwy phupp

vid .. +v: ,=0:

Styplwpwp, v2 = 1, v, = +1, U phnpwgnhsiipn 56 hwinhuwbnud wyb Jwib-
punyphtipnp, npnblg gnwnhbkbph L 2, upmpjwd Jugqiwd wiblyndp 0° Juwd 180°
t, wyuhbph® z, = C hwppmpnidbtpp, npptn C-o Juiwjwlwhd hwupupmd ¢
(F=z,-C):

Ughpuphtt  hwwuwpod:  Uhpwhh  hwjwuwpdwd  hwdwn (1.5')
hwywuwpnipnibp pbnndnud © htigplyw) phupp

2 2 2 .
1/1+...+Vn_1_l/n=0.

1 2
> Vp = :l:%, L pbhnypwgphshin th hwinhuwbnud wjb

dwytipnypbtpp, npnbg gnwnhtibyph Lz, nnupwd Juqiwd wilynbp 45°

Sbyplwpwp, v2 =

Qud 135° t: Lunptbp, np n = 2 dwubwynp ghiwypnud wihpwiht hwywuwpiwb
phnypwgnphshitin 6o hwinhuwbnud dhwyé 21 + 22 = C L 23 — 22 = C mnhnbbpp,
npuptin C-0 Yuwdwywlhwh hwupuigpnih t:

Lotibp pOnupwgphsbbph dh Yuplnp hwplnpgnid: Swppdh € np nnnpl
gnnpdwlhghtpny b we dwuny v’ + a3 (2)u + ax(x)u = f(z), a < z < b, kplypnpn
Yungh unynpuwlwd nhdtiptitghw) hwjwoewpnuibbph (nednuibtipn u nnpnply Go.
ophtiw hwuypuwpnil gnpdwljhgbtipng hwiwuebn hwjwewpnaip (f(z) =  0)
nbh Jhuyl wbybpe nhdbptibghih dnuwibbp: Uwoebwlwdh  wdwhgywbtpny
nhdtiptibghw) hwyjwuwpnuwibtph hwdwnp hpuwdhwlp wy t
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“Tthgnip JbY hmpnfuwlwbhg Yuhudwd £(¢) b g(t) $niblghwibtpp wwplwinu
th C%(Ry)-hb L ¢bb wunpywinud C3(R;)-hb, ophbwl. f(t) = 0, tipp ¢ < ¢y,
F(&) = (¢ —t0)% tnp t > t1, huly g(t) = (¢ —t2)%, tnp ¢ < £, g(t) = 2(¢ —t2)* tinp
t > to, nuptin ¢ U ¢ hpwlwd pytp bo: w(zg, z2) = f(z1) + 9(z2) Pnblghwd
wdpnne Ro-nud

Ug,z, = 0

hwuypupni gnpdwlihgbtinny hwdwoetin hwjwowpdwd mdnud £, pbn npnud -0
sh wwpwonwt C3(R,)-hi: Wn $nidlghwih tppnpn Ywpgh wdwbgywbtiph nki
hugnuiitin z; = ¢ L 23 = % nuqhnbbph Jpw, npnbp wyn hwjwuwpdwb
ponpwgnhsbitip th: Wu Gpunypp Ynnud t pbnhwbnog pbnype:

Uhgnip n-sunpwbh Q@ phanypp (n — 1)-sunhwih L nqnpl dwlplngen
pwdwbywd t tpym @3 U Qs thpunphpnypbtiph.

L={xz€Q: ¥(z) =0}, (1.6)
npuptn © € C1(Q), V|, #0,
Q=QN{zeQ:d(z) >0}, Q2=QnN{zcQ:d(zx) <0}, Q=1 UQUL:

Mupwpytibp @ \ L puqinpjwd Jpw npnpywd A(z) € C(Q1) N C(Q2)
dnbyghwd: L dwibplingph Jpw A(z) $nblhghugh prhsp Yuwbgwbkbp htiplyuy
$nibyghwt’

[R](z) = lim h(y) — lim A(y), z€L:

Yy Yy

2° € L Yhypn A(z) $nbljghwih wipbnhwypnipuwd hwiwp wihpudbop t L
pwiwpp, np [A](2°%) = 0, pon npaut
N _ 1 .
h(z”) = g};glé h(y) :

Stinh mubh htiplywy wbnnuip, npp Yobpwwgbtbp wnwhg wwwgnygh:
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PEinphd 1.1.1 Mpgnpe Q phpnypnat v $rubighud (1.1) hwfunwpifwd
mudnat b pln npnod npll wilpnne k > 0 hwfun

u € CHHQ)NCM*(QUL)NC*2(Qu D),

hulp hwfwwwpbwd gnpowlhghbpn b wquup whnwdpn wuaplpubnd &i
C*(Q)-ht: Bpk L dwhbplnyph npht hlprd judkwi (k + 2)-pn Jupgh
woubgnu)bbphg qnbk dkhp qunugemia smbh (hppuwamulpfwd wowbgpuh
prhspn qrryhg uppkp L), wupu wyn hpp pangeuqphs ybap b

Dwnbuwafnpuylin, bpl L Dwlbbphnyph jnipaapabsymp Ylapnok guyngemii
sntbp pudbwb (k + 2)-pn Qupgh wowbgpubliphg npht dkhp, wupe L
thwhleplhinypn phrpwgphs £

Ldiwd hwjwuwpdwd Yuwpghg wybih pwpdp Juwpgh  wdwbgyuwbtph
fugnuitipp Yngynud &b jnwddwh  eny; pugnodibp.

ERtnptd L1.1-p YQupbjh b Jbpualusybpygt) hbplgw) Gepyy ptinpidngd 0o wd
Jndndblph pny) pgridblipnp inbqulunfwd & phngaugphstliph Jpw:
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Q-intfu 2

Nhytippnpuljuitn yphugh hu] wowpnedailtip

bpypnpn  Yuwpgh  hhwybppmwiwd  hwywowpnuibtpp wowtp hwtwf
hwinhynwi &0 puwypwidnqwlwd  wpngtubbph htip Juupwd  $hghljwlwd
fubnhpbbpnud:

§ 1. Unpph fuinhpp b Ynohp njupwgywd juinhpp wihpuyhi
hunjuiuupiwm® huniup

u(z,t), x € Ry, t > 0, dniblighwd Ynsynul t

Uy — DNpu = f(x,t), € Ry, t>0, (2.1)
u|t=0 =p(z), z€R,, (2.2)
w|,_, = ¥(x), z€ Ry, (2.3)

Unphp pligph indnud, tiph u-0 wupwonw t C%(z € R,,t > 0) pwqinpywin
U pwywpwpnud t (2.1), (2.2), (2.3) hwdwuwnpnyzynbbbtphb:

Ludiwd uwhdwbnulhg wibhwyypnpkd htypunud &, np (2.1),(2.2), (2.3) ubnph
nwddwb gnynpywd hwdwp wahpuwdbzp o

feC(xe Ryt >0), p € C¥Ry), ¥ € C*(Ry)

wwydwbbbpp:
(2.1) — (2.3) ubnph htip dGlptn Quptih € nhgpwplb) Gwl htplyw) wybh
pbnhwbnug fubnhpp:
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TYhgnp Q-0 {x € R,, t = 0} hwppnyajwh nplt n-sunhwbh phpnyp & Q-ny
Yiowbwlbbp bwl (n+1)-sunhwbh {z € R, t € R} pwpwdnpjwb pugingp)ni-
bp, npp Yuwqiwd & Q-h Yhphiphg:

Jtipgbkp @ pwqinpiwh Guiwjwlwd (z°,0) Yhp L Yudwjwlwd t° > 0 phy
wjbwbu, np

Quoo = {|z—2° <%, ¢* > 0}

t° pwnwynny n-sunpwbh gnibnp pblwd |hoh Q-h dig:  Qgoo hhdpny U (2°,t°)
quaqupny (n + 1)-gaunhwbh Ynbp Brwbwltibp Qo .

Quopo = {|z —2° <t®—¢t, 0 <t <% :

Q0 0 Ynlih Spo g0 = {Jz— 2% =% — ¢, 0 < ¢ <0} Ynnubuwjhb Jwlkplngpp (2.1)
hwywuwpdwb Ynbwihb phnywgphsh Gypnp t:

(2.1) hwjwuwpdwd @ hhdpny pangewqphs §manpyg Ywd nnuih Q kfuipny
imbnpy Ywijwdtibp pninp Q40 .0 Ynbtiph Jhwdnpnut hwinhuwgnn Qg phpnypp.

QQ = U Qmo’to : (24)

(«0,0)€Q,
t0>0: Q0 £0CQ

{z € R,,t = 0} hwppnpwi ke Jtpghtbp Ywiwwliwd Q phpnyp L nhgnip
Qg hwilwwywipwuluwb Ynbnhnb L

utt_Au:f(xvt): (xvt) EQQ: (25)
u|t=0 =p(z), z€Q, (2.6)
wl_, =9(), z€Q, (2.7)

lbnhpp, nppbn £, ¢, ¥ hwidwyuwpuopowd puqdnpgnbbbph Jpu pplwd
$nublighwitin to, Ynaynul t Gnpph pnljpujugifiud panpp:

(2.5) — (2.7) bnph (nudnud Yngynud £ (2.5), (2.6), (2.7) hwdwuwpnuynicbbtiphb
pwdwpwpnn ¥ € C%(Qg U Q) dnibghwi:
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Unohh njuwqwgywd fubnhpp Unghh (2.1) — (2.3) hbnph pbnhwbpwgnuih t.
(2.1) — (2.3) pbnhpp hwipbybnd £ (2.5) — (2.7) pbgph htyp @ = R, nhypnud:

Uwhiwbnuihg htplnud &, np (2.5), (2.6), (2.7) fbnph (nddwb gnympjwn
hwiwnp wahpudbon

fFEC(QUQY), ¢eC*Q), velYQ):

§ 2. dmpytih dhuhnjunyeywa hpunnuip whpuyht hunjuivwpdwa
hwiwp Ynohh juimph ménuip wipwwym huwiwp

TYhgne ppjwd t(2.1) — (2.3) pinhpp: Ubp nwnuibwohpoggywd wwbp
htipplyund t. bwh, Snypybh dbunpnfungywd dnpdwy Yhpwedwidp, wnwhg fuhugp
hhibwynpnuibtiph, dhbp «yynwhbbp» wyb pwbwalp, npny (2.1) — (2.3) fbnph
nnuip wppwhuwypynd € o@(z), () W f(z,t) Pubyghwibph Theongny:
Wonhtiph (uipugwd pwbwdlih ogbnpjwdp) Jwinpunwebwip fubnph fuhug
hhibwynpwd nwnuibwoehpnyjwbp, hbswtiv bwl vpwgywd pwibwdlth fuhup
hhdbwynpiwbp:

Muwpgqnpywd hwiwnp nhypwpytiop
U — Aa;’u; = O, x € R,,,, t> 0, (2]_0)

hwiwuln hwjwuwpnwip tiptip puwpwdwlwd hnbnpwlwih phwypnud, n = 3,
= (21,%2,23):

Yhgnp w-0 (2.1° hwjwuwpiwdh dne B Rwqiwywpybop  (2.1%)-0
e~®@-ny, nppbn € = (&,&,&) € R, U puyp z-h hbghgptbp Rz-ny:
Luipwbwhp

Uy + [Eu(E,t) =0, t>0, (2.19

nuptn u(§,t) = / e~@y(z,t) dz hwinhuwbnd t u(z,t) |uddwh Snyybh

R3
dlwhnfunpynibp puy Pupwdwlwbd hmpnfuwlwdbbph: (2.2), (2.3) uigpbwlwh
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wwjdwbbbphg upwbnu thp
(&, t)|,_y = #(6), (2.2)

W, 1)],y = $() : (2.3)

(2.19), (2.2), (2.3) pbnghpp Jnupuupwignip $hpuwd € € Rs-h nhiypnul hwnhuw-
bnud t Unohh pubnhp hwupuypmb gnpdwlhgbbtipnyg unynpuwljwd nhdptiptibghuy
hwjwuwpdwb hwdwp, nph dnuib nbh

W(E, 1) = F(€) cos |s|t+%sm|e|t

yhiupp: Shplwpwn, dnyybh hwiwnwpd dbunpnfungeywi dhengny (2.1) — (2.3)
fubinph (nudnuip bbpliwywgynud t

1 [ ; 1 [ .
M0 = Gy / O d = oy / B(€) cos|g[te™™ de+
Rs Rs
o / i §)s1n €1t gite) g — —5 2%(3: t) — u,p(x ) (28)

(ptupny, npptin

1 _,cos|t (00 g —
ua(xat) - (271,)3/ (6) |§|2 d£ -

_ L o) =i gy | @) S LElE 1o
@) | L [ vl d£) dy= [ K@—vtol)dy: (29
/ ((2 ) / €] IZ

3

Wuptin

K(z,t) =

1 . wcos €|t
(27T)3 /ez(z’§)$ d€7 2= (21,22,23) € R3 : (2]_0)
R3
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Lwih np (2.10) hiypbgnuip Ywhedwd & dhwyb t-hg U |2|-hg, wwyw pwdwpwp
t wyb hwpty dhwyd z = (0,0, |2]), || # 0, Yhpnud

(e 2 T
1 . t
K(z,) =K©,0,12),8) = 53 / r? dr f dp / e*m"lzlco:’" sinf df =
0 0 0

oo
2 /cosrtsin'r|z| i
- (2m)2] r

0

1 T sin r(|z| +t) ]osin r(|z| — 1)
@m)?)] / r i r ’
0

0

T 1 ]-, |Z| >t$

1 -
= @07 (sgn(|z] +t) + sgn(|z| — 1)) 2~ 4na|

0, |z|<t:

Stnunptny uypwgywd wppwhwypnupindp (2.9)-h dhe Yupwbwbp

1 o(y)
ua(z,t) = | K(x —y,t)ay) dy = — el L7
/ /

4 |z — vy
|z—y|>t

1 oodr
i / o(y) dSy :

t le—y|=r

Styplwpwnp
o __ 1

o~ am | WS

|z—y|=2

npplinhg, hwiwaw)b (2.8)-h, uypwbnud thp

(’?t 4L7rt / vv) Sy | + / »(y) dS, : (2.11)

[e—y|=t Iw—yl—t

u(x,t) =

Wuwhuny, dhbp upugwip (2.1%),(2.2),(2.3) mbnph juddwd ghupp: (2.11)
wnypwhwjpmpmnbnp Ynsynud © Gappuhndh pubwdh;
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§ 3. Unohh jutinhpp wph puputiui hunjwuwpiwG hundup:
Twuipkph putwalp

Yhypwpybbp hhwybppnpwlywd phwh hwiwebn hwjwuwpdwd wWwpgqugnygb
ophbwl’
U — Q%Ugy =0, —00 <z < +00, t >0,

npptin ¢ > 0 hwupupnud £ Wou hwjwuwpnuip 0jwpwgpnud £ wbdtine jwph

puwipwinuip, nuptin w(t,z) Pniblyghwd z Ynnpnhbwy nidtignn Yeph nhppb t
duwdwbwyh ¢ wwhhi:

Lwih np gnywd hwywuwpnuip ¥ = at hmhnfuwlwbh thnfowphbdwdp pbnne-
onul t uyy — Uy, = 0 Quinbwlwd phupp, www, wnwig pinhwipnp)nip
huwpuptn, jhwdwpkbp a = 1.

Uy — Ugg =0, —00< <400, t>0: (2.12)

Unohh fubinhpp (2.12) hwywuwpdwd hwdwp Gujwbdnad © htiplyuwnud gty
(2.12) hwwuwpiwb wb v € C?(z € Ry,t > 0) jnudnuip, npp pwywpwpnu £

u|t=0 =p(z), —o0 <z < 400, (2.13)
ut|t=0 =¢Y(z), —o0 <z <+00, (2.14)

ulgpiwlwd wwydwbbbphd, nppbn @(z) L ¥(z) hwpbh $nblghwibp bo
(uhgpbwlwd @yyunbbn): (2.13) wwydwip dhwpwgpnud t ulgpbwlwd ¢ = 0
wwhhi )wph = Ynnpphbwyp mbbgnn Yeph nhppp, hul (2.14) wwydwip
wnwgmpnibn:

Lndtip (2.12),(2.13),(2.14) unghh pbnhpp:  Lwhe  qupbbkbop  (2.12)
hwywuwpiwd poghwbngp ednuip: (2.12)  hwwoewpdwd phngwgnphsbtin
t0 hwinhuwinl z + ¢ = C, C = const, mnhnbbpp: (z,t) hmpnfuwlwbbtphg
whgbtibp (£,7),

E=xz+t, n=zx—t,
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pmpnfuwlwidtipht: Lawbwlbbp u(z,t) = v(§,n) = v(z-+t,z—t): Lnp hmpnfuw-
Yuwbbbph hwiwywpgnad (2.12) hwjwoewpnup Ypbnnidh

’Ug,, =0 (2.15)

phupp: Qpbkbp wju hwdwuwpdwd pbnghwinp udnadp: Wohwyy t, np (2.15)
hwywuwndwb gwiljwgwd nddwh hwdwnp

vo(§,m) = f*(m),

nuptin f*(n) $niblighwi Yuwhdwd € dhwjd 7 thmpniuwlwihg: Snipupwibgnin §-h
hwiwp hbyptigptyny wju hwywuwpnuip pug 7 ppnfuwlwbh’ Jupwbwbp

o(6,m) = / £ ) dn+ () = £(6) + faln), (2.16)

npptin fi U f> dhwyh oGy thmpnfuwluihg, hwdwwywpuoiwbwpwp §-hg L
n-hg, Jwhwd Pnblghwibtp th: Stnh mbh bwl hwhwnwlp Yudwjwlwb

fi W fo tpym whqud wbpbnhwyp nhdtiptbghih $nblghwbbph hwdwp (2.16)
pwbwaling npnpYwd (€, n) $nblyghwd (2.15) hwwuwpdwd jndnud t: Lwbh np
(2.15) hwywuwniwd guwilwgwd jmdnud Juntjh & obpwjwgbly (2.16) phupmf
hwiwwwpwuiwb f; U f phppnggudp, www (2.16) pwbwalnyg ppdmud t (2.15)
hwywuwndwbd pinghwinp mdndp: Shpluwopuwnp,

uw(z,t) = filz+t) + fa(z — 1) (2.17)

$nblyghwt (2.12) hwjwuwpdwh pbnhwbmp ndnui t:
blpwnptbp (2.12) — (2.14) fubnph (nonuip gnynupgned nbh: W nhypnud w)b

ohphuwjwgynad &t (2.17) gbupny: Qpbbbp wibwhuh f; W fo $mblghwibp, np
pwdwpwnytb (2.13), (2.14) wyqpbwlwd wwydwbbbpp.

ul,_o = u(z,0) = f1(2) + fa(z) = p(2), (2.18)

U,y = (2, 0) = fi(@) — fyle) = ¥(z) : (2.19)
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bhwytignptiiny tipynnpn hwyjwuwpupnuon zo-hg  Yupwbwhp
£i(@) — 7sle) = [ W) dac+

nuptin C = f1(zo) — f2(20): Wuwhuny nibikip, np

fi(2) + falz) = p(2),

fi(@) - fole) = / ¥() da+C,

npptinhg gypiinud Lbp

7o) = 39(@) +  [w(e) da+ 5,

o) = 59(@) —  [Wle)da— 5

Guwhuny, ¢ b ¢ Pmblghwdbph dhgngny dkbp npptighip fi L fo
$niblyghwbtipp, npnbp ptnunptinyg (2.17)-h dhe Jupwibwbp

w(z,t) = £E=Y : platt) f W) do (2.20)

(2.20) wppwhwypmpnibp Yngynud & wgudpliph mubaedl: Gopwnptijnd,
np (2.12) — (2.14) pbgph udnuip gnynegaynid mbh, Ghop upwgwip Fwwdptiph
pwhwalip, hbsh wwwgnignd £ pjnddwd dhwinyeymbp: bpnp, tph gnjnysynih
mbbbwp (2.12) — (2.14) ubgph dbl wy oy, wwyw wb Yotphwjwgytn
(2.20) Yunwdpbph pwbwdling b Yhwipblbbp bwhinpn jddwh htig: hgmp ¢
$nubighwi tpyne whgud, huly ¥ Pmblghwid dhl wigqud winbinhwyp nhbptbghh
t0: Wybhwyy &, np wyn ghiypnad (2.20) pwbwdlng obphuwywgwd dnblghwd
pwydwpwpnud t (2.12) hwjwewpdwbp b (2.13), (2.14) uqpbwlwd wwjdwdbtphh
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(Gwptih t upmgh) whdhowlwh phnwnndwdp): Wuwhuny, wwywgngdwd t
(2.12),(2.13), (2.14) 4nohh fubnph uddwd gnynipymibp b Jhwingeymbp:

REnphd 231 gnp ¢ € C?(Ry), v € CYHRy): Wm nhwypnat (2.12),
(2.13), (2.14) Unphh pbinhpn nibh mdnwd, npp ippynat b eguedpliph (2.20)
pwblaudbmy b wyn jrudnolp dhaala b

Fwpwiptiph pwbwdlhg plunwd Gb Ynphh fwbnph (Wddwh npny nwwgpuy
hwipynipymbbtip:

Ihgnip M(zo,t0)-p nplt Phpuwd Yty b, pwikip wyn Ytpn] wigbnn
z— t= zg—to L x+t = 20+ to pmpwgphsbitinp, npnbp z wnwbgpp Yhwypkib
N(zg—to,0) L P(zo+ 1o, 0) Ytuptpnui: M N P tinwblymbp (N P hhdpny Yniinhnp)
Ungymd & parpuugpps bmublyrb; Coyp (2.20) pwbhwdbh M Yhypnad (niddwh
u(zo,to) wpdtipp npnadnud £ ¢ ulgpbwlwd dnbljghwih wpdtipbbpng N 0 P
Yhypbpnud b % uygpbwlwd $blghwih wpdtipbbipn NP hunpduwdh Jpuw.

(M) = P+ e(P) )+"’(P ) 4 / ¥(e) da (2.20)

Thypwnpyhbp bpyne ophbwl:
Ophtuuly 1: “hgnp ulgpbwlwd wwhhd pnnp Yhypbpp ndbd  qpoywljwb
wnwgpyb, ¥(z) = 0: Wn nhiypnud (2.20) pwbwdlp Ypbnmbh htiplyw) phupp

o=+ o+

u(z,t) = 5

Lpwgnighg Ghpwnntind, np ¢(z) # 0 dhuyb (24, z2) dhewlwypnud (p(z) = 0, tipp
z <z Qwd z > z3), Ynibbbwbp

—1 t
u(Zo, to) = el — to) —; plzo + 0),

tpp (2o — to, %o + to) C (21, 22),

¢(To — to)
2 ?

o(xo + to)
2 b

w(Zo,t0) = tpp 2o — to € (21,22), Zo+ to € (22,+00),

w(zo,to) = tpp  xo — to € (—00,21), Zo+ to € (21, %2),
U(.’L'(), tO) = 01 tifl[l (xO - tO) Zo + tO) C (—OO, xl)
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Luad (xo—to,xo—f-to) C (1?2, +OO) qud  20—1p € (—OO, .’131), Zo+io € (CII2, +OO) :
Ophtiuly 2: Yydd thpwnpkbp, np uyqpbwlwd stinnuip qpoywljwd & ¢(z) =0,

L % ulqpbwlwd wpwgupynbp gpghg pwpptip t Shwyb (21, z2) Shewljw)pnud:
(2.20) pwhwadlihg Yuypwbwbp
zo+to

1
u(zo, to) = 3 / Y(a) da, tpp (2o — to,zo + to) C (21, 22),

zo—to

@
1
u(Zo, o) = ) / Y(a) do, tpp zo —to € (21,%2), To +to € (22, +00),
xo—1o

zo+to

1
u(xo, to) = 3 / Y(@)da, tpp xo —to € (—00,21), %o+ to € (21,22),

&y

oo
u(xo,to) = %/w(a) do, tpp zo—to € (—00,21), To + to € (22,+00),
@
u(Zo,t0) = 0, tipp (o —to, Zo+to) C (—00,z1) Ywd (o —to, Zo+to) C (z2,+00) :
Quultnwtbp tpyne winnul, npnbp widhgwutiv upwgynui b Fwpwdpliph
pwiwalthg npytiv htippluwbp:

Plinphid 2.3.2 Epk ¢ b Y uhgplnulpul gniblghwblinn Gllup ko npht xo
Ytph Glpuapdunty, wupu prdmalp wyn hliapnot gpn b gubljpugud t-p huabup'
u(zo,t) = 0:

o Ytiph Dhwypdwdp ¢ b ¥ dmblghwbtinh Yhby hobtip bowbwlnud t

o(xo — ) = —p(x0 + ), P(x0 —T) = —P(20 + ) :
Swiwdwyb Mupwdptph pwbwalbh ndtibp

zo+t
w(zo,t) = P(z0 — 1) —; #(zo+ 1) + % / Y(a)da=0:
xo—1

Plinphid 2.3.3 Ephk ¢ b Y uligpluulpul prublighwblipp gnyq &a npht x
hlaph Glhuapdwdp, wupe puddwd dwuboulubl wowbgruyn wn Ypmd qpn
b qublpugud t-p hwabwp’ u,(zo,t) = 0:
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Zo Yhuph Dhunpdwdp ¢ b ¥ nublighwibph gnyg (hobp bpwhwynud t
p(zo — ) = p(z0 + ), Y(@o— ) =Y(z0 +2):

Wdwhghny (2.20) pwiwalip puy z-h b hwodh webbpng wyb thwupp, np gnyg
Publghwih wdwhgjup Yebyp Pnblighw b, Yupwbwbp

f — ¢ (2o —t) 42- ¢ (2o + 1)

Uz (Zo, + %('«,b(xo +t) — (o —t)) =0:

Londdwh  YJuymbmpymbp: bhaybu  wpnblh gnyg Ghp  gdty, (2.12)
hwywuwpdwd mdnp, npp pwdwpwpnd £ (2.13) 1 (2.14)  uygpbwlwh
wuwydwbbbkphh, npnoynud £ Jhwpdtipnpt: Wdd wwwgnighbip, np uljgpbwljwib
wuwjdwhbbph wbpbnhwy  thmbnfugbine ghwpnud dnuip bu wbpbnhwyp &
thnthnfunud: Stinh nubh htigplywy wbnnuip:

Rhnphd 234 Wwdugulpus [0,t] dunbwblwlpuhwpjudoh hwifunp b
lpuibwgwlpul € Sppngopuh hunbwp gungan nibh wyblughup 6(e,ty) > 0,
np (2.12) hwijwwwmbah qublpugud bphne vy (z,t) b us(z,t) pudnalbbp to
dudwbhulpuhwpfudh phpwgpnal hpwphg lpypuppbpdbb € -hg thnpp suhnf

|ug(z,t) —us(z,t)| <e, 0<t<t,

bpl
utl, o = ¢1(2),  uz|,_y = pa(a),
Uy, o =vi(x), uxn|,_, =1(2),

uhgplwlul prubljghwbbnp ppuwphg puppbpfbi 6-pg thnpp swpny
lp1(z) — pa(z)| <6, [h1(z) —a(z)| <4

Uyumgnyg: Wu  windwd  wwywgnygp  widhowwtiv plunud t Fwpwdptiph
pwhwadlihg: Mbtbp

p1(z+1t) — pa(z + 1) n p1(x —t) — pa(x — t)+

t) — ) <
|U1(.’L', ) ’U;g(x, )| = 9 9
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x4+t

+5 [ (@) — @) do,

npiptinhg wypwbnud kop
s (2,8) — ua(z, )] < g + g + 502 < 6(1+t0)

Jdbpghtnyg 6 = ;—%, Unibtbwhp wjh, his wwhwbeynul tn wwywgnighy:

et dwptdwphwlwd fubnph nWnuWip wbpbnhwyp t jwywd |pwgnighs
wwydwhbdtnhg (uhygpbwlwb, bgnughb b wyb), www wund GG, np ubnhpp feynd
L

Luwubbp, np dwpbdwphwlwb fubnhpp npdwd £ ek, it fubnph (ndnuip
gnynuymll nubh, fubnhpp nubh dhwly (dnud . fbnph (dnuwp wopbnhwyp
Jwhwd bwhbwlwd pdjwbbphg (Quynd t):

Wuwhund, dkbip gnyg ybghip, np Ynphh fubnhpp qwph pupubdwb
hwywowpdwd hwdwp gnud t Ynnblyp:

flg Ynoblyp npywd pubnph ophiwl Ypbiptibp Wwpwpnwlwd L Hhyuwlwh
hwjwuwpnuibbpht olhpwd guupubtinnud:

§ 4. Gnohh jutnph (MdWwa Yhwinyeymip whpuwiht
hunjuuwpiw® huniwp

Wu wwpwgnwdpnd Ynwnudbwuhptip Ynphh fubnph (nddwd JThwlnupnubp:
Lanfuw 2.4.1 Hgnip u € C?(Quo0), 2° € R, t° >0, &t

U — DN =0,  (2,8) € Qoo (2.21)
ul,_ =0, =€ Quoyp, (2.22)
Wf,_, =0, =€ Quop: (2.23)

Wn nlwypnak Quo zo -mutf u(z, t) = 0:



Uwuwgnyg: “Yhgmp u(z,t)-0 (2.21) — (2.23) pbnph judnuit £ Jdbpghtip
Gwidwywlwh (§,7) € Qo0 Yhip: 8nyg ypwiip, np

w(é,7) =0: (2.24)
Thypwnplhbp Qo o Ynbhb «gnigwhtine (€, 7) ququpny Q¢ , Ghpwlynip.
Qer={lz—¢ <T7—¢, 0<t<T} CQuoyp:

Wybhwyp t, np w € C?*(Qer):
Puqiwwywpltibp (2.21) bnybnyaynibp w-ny.
TR T TA Zu‘”*“”i =0, (z,t)€ Qer:
i=1

Lwibh np

—

1
Uy = _(utz)t') UtUg;z; = (umiut)mi - E(uii)t’ 1= 1’ Ty

[N}

wuyw
1 = = _
= (uf + Z’“i;)t =S (ot)e, =0, (2,1) € gy - (2.25)
=1 =1

Sbpwgw  swpwnuubph  wwpgupgwh hwdwp ¢ gmpnfuwlwbn  Bowbwlbbp
Tpy1-NU, t = Zpyg, U (2.25) hwwuwpnipynibp gpkbp

divA = Atg, + ... + Aoy + Antizn,, =0 (2.25")

phupnd, npptin A = (Ay, ..., An, Anta) Jblypnpp nidh hbiplyw) Yndwynbbhpbbpp

A = gy, 1=1,...,n,
L o =
Anyy = 9 | Yznps T Zumi :
i=1
blptigptny (2.25')—]1 Qe,-n U Yhpwebing  Ouppngnunulne  pwhwdlp
Luipwbwbp
/ (A1) dS =0, (2.26)
;o
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nuptn v = (¥4, Vn, Vngr) dblpnpp Q¢ -0 puipdud Q¢ -h Dupdwdp
wnpwpht Shwynp bnpduy & 8Q » dwlbplingpp Yuwqdwd t Gphyne Yypnpbtphg
80, = Sgr U Qg ,t Quplikilip v Jilpnpp wyn whbiplinyplitinhg jnipwpwiggniph
dpw: Whbhwyyp t, np Q¢ ~-h ypw v = (0,...,0,—1): Lwbh np S, dwhtplnypp
ppnud £ .
F@1,.ytn1) = Y (i —&)* — Ty —7)* =0
i—1

huwjwuwpnuing, www bpw wpypwpht Jhwynp Gnpdwp nuih htiglguy pbupp’

Y= (le,... Fwn+1) _ (xl_é.la"'axn_gn,'r_x'n+l) _
(B2 4+ 2, )" V@ &Pt o @ = G (T — Tap))?
_ $1—€1 z'n,_é.'n, L) . 2.97
(\/5(':' —Zny1) V2T = Zag1) V2/ (2.27)

Cuy (2.22) W (2.23) wwydwbdbbph' Al,,,,_, = 0, nuph Q¢ ,-h ypw A = 0 L (2.26)
hwwuwpmpinibp Yuptith t gpb) htigplgwy pliupny

é'l.. U 2 = u2 —
/ ! Z mi\/_('i'—.’.l,'n+1) mn+1 2\/—( mn+1 +; mi)] ds

Ser

_ 1 [Ix _ mi—& : N (@& _
&, T

22 / Z( 'r—xil“w)z ds': (2.28)

Wuytin oqupuignpdtighlip wyli husupp, np Se.r-h dw 35 (z: - §)? = (T — Tnp1)™:
(2.28)-hg whdhowwtiu htiplunud t, np Se --h Ypw

w —u z1— &1
Ty T YTn4i b

T — T4t

U —u Tn — én
Tn — P41 ’
T — T4t

wyuhbpl® Se --h Ypw

_ Ly — 61 Ln — én
(u:1;1""’ua:n7uzn+1) _uwn.H LS ’ ]- ?

T — T T — Znt1
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npptinhg, hwiwawyh (2.27)-h, upwinud kbp, np S ~~h Ypw
(uml’ "',ua':n,uzn+1) == umn+1ﬁy N

Jbtpgblip Se, YnbwjhD dwhbpunygph gwilwgwd dbhs, {-m| bpwiwlytbp
wyn dthsh nnupjwd (7 + 1)-sunhwbh Shwynp Julhpnpp: Swiwdwl Jbpghb
huwjwuwpmpiwd wyn dbhsh tpuybpny

ou
Bl = Ugpiy \/E(V’ ) =0,

hiisp Bpwbwynui &, np w = u(z1, ..., Tn, Tny1) blghwd Se » Ynbughb dwibplng-
ph dbhsh ninnnupywdp sh hmpnfuydnud; Owgph, (2.24) hwjwuwpngegniop plunuad £
(2.22) wwydwbhg: LEddwh wuwgngywd t:

Uwywgngwd (bidwihg plonud & (2.5) — (2.7) Unghh njuwjwgywd pubnph
nddwh dhwynpymubp, hbplwpwnp bwl (2.1) — (2.3) Unghh fbnph (ddwb
Shwinupnibp: bpnp, nhgnp 44 (z, t)-p b us(z,t)-p (2.5) — (2.7) ubnph (ndnuwibkp
bl Wyn nhiwpnud v = 4y (z,t) — ue(2z,t) puppbpmpnibp Jhwinhuwbw

U — Azu = 0, (.’L’, t) c QQ, (250)
u|,_,=0, z€Q, (2.6
wl,_,=0, z€Q: (2.79)

fubnph pudnud: Mo Bowbwyndd t, np u(z,t) Pnbljghwd Qg-nui pudwpwpnud
t (2.21),(2.22),(2.23)-ht:  Swdwdwyd  wwwgnggwd Gidwh  gwilugwd
(20, t0) € Qo Yhph ntiypnud w(z, t) = 0 Quo so-nul, htipluwpwn wy(z, t) = ua(z,t)
Qg-nui: Wuyhuny, wwwgnigwd t htaplywy) winnuip:

Ehinplaf 2.4.1 (2.5)—(2.7) panppp sh pupng nbkbow Bllihg wiybh pnidnod:

bbaytiv  wpnth Opdtp t, wju pbnptdhg, dwubwynpuwwbu, hplnd t
(2.1) — (2.3) Unphh pubnph (uddwh Shwinpnbp:

Rhinplad 2.4.2 (2.1)—(2.3) panppp sh pupnyg nbkbow Ehhhg wibih prdnod:
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§ 5. Uthpuyptt hunjuuwmpiwd hunfwip Wnphh jutinph m&uwh
gnympymip Gpkp pupwdwijud hnthnfouluabtph pEypnd

Wyu wwpwgnwdpp bghpdwd t 7 = 3 ghypnud (2.1) wihpwihd hwdwowpdwb
hwiwp Ynphh fubnph nwdwb gnynipwp:
Lowbwlhbp

1
Ay(z,t) = - / o(y) dSy, € R3, t>0: (2.29)

ly—a|=t
(2.29) hwjwuwpnuyzynbp tiptip thmpinfuwlwbbtiphg Ywhfwd  jupwpwbgnp
o(x), z € Rz, whpbnhwyp dnbljghwyh hwiwwyuwipwufuwinpjwi ke tnbnul snpu
swihwih pupwdmpwd {(z,t) : £ € Rz, t > 0} Jhuwpwpwdngpnibnul npnwd
A, dublghw, pin npnut® (2°,t°) Ypnud A, Prublghwgh wpdtipp Ywhdwd t
dhwjh 2° € Rs Yabppninyg U £ > 0 swnwnny udtinwih Jpw ¢ nbiyghwh
ponnibwd wpdtpibtiphg: Mw bawbwynu t, np Quoze Unbh (2°,8°) ququpnd,
nwph b Qg0 0 Ynbh gwilwgwd wy Yapnud, A, dnblighwih wpdtipp npnpygnud
t thuyd wyn Ynbh Qo hhiph dpw ¢ $nblighwyh phnmbwd wpdtphtipny:
Sbyplwpwp, tph ¢(z) $ublhghwd ppywd t ng ph wipnne {x € Rz, t = 0}
hwppnpjwd, w) nput @ C {z € Rs,t = 0} phpnyph dpw, www A, $nblghwi
npnpdwd t & hhudpny Qg Ynbnhnh Jpw:
Rhinpkaf 2.5.1° Hgnip ¢ € C3(Q), ¥ € C*(Q): W nhwypnit

u(z,t) = M%_(tx,t) + Ay(z,t), (z,t) € Qo, (2.30)
Pniblghut
Uty — (Upyoy + Uagzy T Uaazs) = 0,  (,1) € g, (2.31)
ul,_ =9, z€Q, (2.32)
w|,_, =), z€q, (2.33)

Unppp mlpupugifwd pubnpp pnond E
(2.30) wpypwhwypmpnibp Ynsynud & Gppuhndh puboudls
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Uhtish ptinptith wwwgnyghd whghtyp’ bwhu wwywgnigh@ip htplyuw) odwinuly
winnuip:
Leddw 2.5.1: pgne (2°,1°) Quobwpulpule Giap £ {x € Rs,t > 0}
hhuwwpupwdngyniliphg: yn nlaypennl
L tpl o € C%(Qpoy), k20, wupu Ay(z,t) € CF (Quop0), k=0,1,2,..,,

2 bpl@ € C*(Qpop), k=20, wupm Ay(z,t) |t=0 =0, € Quoy0,
3 bl € CF (Quop0), k=1, wupu M%—(Zc,t) = ©(x), T € Qo 0,
4 bplp € C* (Quo0), k>2, wupu % AAy(2,t) =0,z € Quo 40,
5 bpk o € C* (Qpop) , k> 2, wiy azAgff ) =0, 2 € Qo
Uupgnnyg: (2.29)-nuf Lupwntibp
y=x+nt

mipnfuwlwih hnfwphiinud, npuplin z = (21, 22, z3) dhpuwd Yhp t, -0 Phpuwd
nnwlwh phy & Cuyp Ynnpphbwgpbbph wyu ppnfuwlwbh hpnfuwphbinuip mbh
htiplyw) phupp’

Y1 = 21 + Mit,
Yo = Z2 + N2t
Y3 =23+ N3t :
Wn nhiwpnud
1
t ds, =
‘P(‘IB ) 47l't / (p(yla y21y3) Y
ly—a|=t
t
= / (1 + mt, 22 + not, 23 + nat) dS, : (2.34)

In|=1
Ltufdw 25.1-h 1 W 2. wonnuibtipp htnplndd B8 (2.34) Gbplwjwgnuthg L

{(2,1) € Qaggo, Inl = 1} thwly pwqingeywd nw tibpwhbptignuiwht dnblghw-
Jh wbpbnhwpnyenibhg:



3. wyinnuip wwwgnighjne hwdwp hwodtitp Ay(z,t) dnblighwih wnwehb
Jupgh wdwhguwnp puy ¢ hnhnfuwlwbh,

DL [ s [ 50

[nj=1 Inl—

7 S, =
gt T

1 t
= f p(z +nt) dSy + f (Vo®), M|,y e 450 =

nj=1 |n]=1

1 t I¢p(y)
- / o(z+nt) dSy + o f |yt S (2.35)
Imi=1 =1
nppbn v = 7 udbpwiht pwpjwd wnpwpht Jhwnp bnpdwb £ 3. winnuip
widhgowuwbiu htiplnud t (2.35) Gbpluwjwgnuihg, tpp ¢t = 0:
Wydd dbunpnjutip (2.35) hwywuwpmpnidp (wbghting v hmpnfuwlwih),

Luypwhwip
BAyz,t) _ 1 1 de(y)
ot 4me? / wly) a5y + 74 / oy v~
ly—=|=t ly—a|=t
— o [ ewas+ o [ sew
ly—z|=t |y z|<t

Wyuptin dkbp oqutighip Cuyppngnununt pwiwdlihg.
0
/ % dSy = / (Vo(y),v) dS, =

ly—a|=t ly—a|=t
= / divV(y) dy = f Ap(y) dy
ly—z|<t ly—z|<t

Wuughuny

t

0A, 1 1

—+t=-A,+— | 4@ A ds, :

at ¢ ‘P+4mt/ e / #ly) dSy
0 ly—z|=p

Wdwigtibp uypwgywd hwwuwnpnypinubp pugp ¢-h.

i

o4, 1 104, 1
R ey L O

0 ly—z|=o
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t

1 1 1{1 1
+ﬂ / Atp(’y) dS t2Atp + ; zAtp + H/ dp / A(,o(y) dSy —

ly—z|=t 0 ly—al=r
/ 1
dp / Dply) dSy+ / Doply) dSy = / Ap(y) dSy :

y—z|=p y—a|= y—a|=
0 ly—z| | |=t ly—e|=t

Unw Ynnithg mbtbp

1
4712

1

DNgAy(x,1) = Anp(z,t) = it

/ Ap(y) dSy,

ly—zl=t
npptinhg htiplinud € 4. wbnnuip:

5. wonnuip htuplinud € 2. b 4. wonnuwibphg: bph ¢ € C? (Quos0), wiyw
Ap € C(Quop) U Apy(z,t)|,_, = 0: Lhtifwh wiywgnigywd t:

Wydd wuyugnighp plinptidn:

Swiwdwyd (2.4)-h pwdwpwn b wuepugnigh), np phnptdp pbnh nbh, tpt Q
whpnyph hnfuwpbit nhypwplibip Qeo0 C @ thwl grubing, huly Qg Ynbnhnh hn-
fowpbt” hwdwwywpuuiwd Qo o twl Ynbp:

Ubhpwdbpy t gnyg puwy, np tph ¢ € C*(Quop), ¥ € C? (Quoy), wyw
u € C? (Qmo’to) L

Uty — (Ugyzy + Yoy + Uzazs) =0,  (Z,1) € Qpopo, (2.311)
ul,_o = 9(z), =€ Quop, (2.32)
wl,_o =), 7€ Quop: (2.33)

u(z,t) Ppnblighwih wwipwitimpniip C? (Quoz) nwuhd hbplndd t Lhddw
25.1-h winmd 1.-hg, (2.31) hwwewpnipymap winnut 4.-hg, (2.32) 1 (2.33)
wuwydwhbtpp wonnuiobp 2, 3., 5.-hg: BFhnpbdh wwywgnigwd t:

Stplualip 2.5.1 Epk o(x), ¥(x) U |Ve(z)| $nbhghwbbpp wwhibwbiwpul

bl Q-nud, wugue (2.30) Upppuhndh pubuudhny wppafwd (2.31) — (2.33) pbnpp
meondn punfupuupnod b hlaplywy whhwjueoapnippubn

u(z, )] < @0 +8(®1 + Vo), (z,1) € (QUQ),
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nppkn
&y =suplp|, @ =sup|Vep|, Yo=sup|¥|:
Q Q Q

bpnp, gwijwgwd (z°,¢°) € Q Ytyph hwdwp (puyp (2-4)-h), hwpdh wobtyny
(2.29), (2.30) U (2.35), uypwbnui Lip

1 t0 t°
0,0
)| < — das, — s, + — ds, =
lu(x", )I_47r f Sgplwl nt - / sgplvwl nt o / Sgp|¢| n
|nl=1 Inl=1 Inl=1
= <I)0 + t0(<I)1 + \Ilo) .

Ruuultpwtitp hwdwwwpwuiwd winnuibkpp Q = R3 dwubwynp nhiypnud

Uty — (Usyz; T Upgwy + Unges) =0, & = (Z1,2%2,23) € Rz, t >0, (2.36)
u|t=0 =¢(z), € R,, (2.37)
w|, ,=v(x), =z€R;, (2.38)

Unghh fubnnh hwdwp:

REnplf 2.5.1 Mgnip ¢ € C3 (Rs), ¥ € C*(Rs): Wy nhwypnni

weh) =g | e [ ewas |4y [ wwas, e

ly—z|=¢t ly—=|=t

Upppuhndh pubwdling inpafuwd Pniblghwd (2.36),(2.37), (2.38) Ungph plinph
jyudnad b

Stiplualip 2.5.1 Epk (), ¥(z) U |Ve(z)| $pnbfghwatnn uwhibwbupud

kl Ra-nuf, wupu (2.39) Uppfuhndh pubuudhing ppafwd (2.31) — (2.33) pbnph
meonudp punjupuupnod F hbaplywy) whhwjuoaapnippuan

|U(.’L’, t)' < ¢0 + t(¢1 + lI’O)) T € R3a t > 0)

npipk
®g =suply|, @1 =sup|Vy|, To=supl|y|:
Ra R3 R3
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Yhpngouypynibl: Rhinphid 2.5.1-nud Ghpwnpynul £ ¢ € C3(R;), ¥ € C%(R»),
dhigntin (nddwh gnynupjwh hwdwp wbhpudtop G @ € C?(Rs), ¥ € CH(Rs)
wuwydwbbbpp: Lokbp Shuyb, np wyu whhpudboyp wWuydwbbtppn pwywpun b
nwiwh gnymupgwd hwdwp, wjuhbph phnpbdnud Godwd wwydwbbtipp twiwb Go.
tiph ulqpbwlwh wwhh wWwjdwhbtpp C?-hg Gb, wwyw npnp wwhh ndnuip Jupng
t swywpywity C? nuuhib:

§ 6. Utphpuyptt hunjuwuwpdwi hwiwp Ynohp julinph mddwa
gnympmip Gpim b WG pupudwlpud thnhnjuwlpuaatiph
ntiypmu

Lwjunpn wwpwgpuwdnul 7 = 3 ghwph hwdwn (2.1) — (2.3) pbnph nwnoibuw-
uhpnuaynihp hhiywd tp

1
Aget) = o / o(y) dS,, T — (21,73,25) € Rs, >0,  (2.20)

ly—z|=t

Inblyjghwyh hwpynipynibbbiph Jpw, npnbp dbwhbtipywd tb Lhddw 2.5.1-nud:
Cwnmbwlting wju dnbljghwih nwnuibwuehpmpnop, 7 = 2 b n = 1 gtiyphph
hwdwnp Ynohh fubnph (Wdwb gnynuupyndbp jwpbih € opwibw 7 = 3 nliyphg
«jwypteoph» tinwibwlny: Stnh mbh htiplyw) wbnnuip:

Ltafiw 2.6.1 2agnip ¢ € C(R3):

L bpk o(x1,%2,23) = @(T1,22), wyupliph’ ¢ Pprubilighwts ufpufud st x3
thmpnpuulpuiihg, wupue Ay(Ty, 22, 23,t) dnbihghuss anylybu Jupofud sk s
hmpnpualpuihg b wyn nlwypenad

A = L ¢(y1,%2) dy1 dya

¢ o 2 _ (4 —21)2 — _x21/2:
(y1—21)% +Hyz—w2)?<t? ( (lyl 1) ('92 2) )

(2.40)

2 bpk o(x1,72,%3) = @(21), uyupliph’ ¢ Prublighut fupurfud sk xo b x3
thmpnpuulubblippg, wupu Ay (21,22, %3,t) drniblighus anyboybu pupufwd sk
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o b x3 thmapnpuwublinhg, it wyn nhwypnol
x4+t

1
A<p = b / ¢(y1) dys

x1—t

Uuyugnyg: (2.29) pwbwalip Ywpbh & gpty htplyw) Yhpy

1
Ay(21,%2,%3,t) = yp /w(yh'yz) dSy+/<,o(y1,yz) sy |,
+ S-

nuptin St = {ly — 2| = t} N {ys > za}-n {ly — 2| = ¢} uPbpwyh Jbphb
Yhuwudtipwd t, huy ™ = {|y — 2| = t} N {ys < z3}-p" wpnphd Yhuwudh-
nwi: Gu tpyme Yhuwudbnwbbph wypnytyghwidtpp {ys = 0} hwppnyaywd Jpw
ohpywywgbnd th K (xq, 22) opowbp: Shpliwpwn,

1 dy1dy» / dy:1dys
A £)= -
(p(xl,x% X3, ) Ant / (P(yl, y2) |I/3| + (p(ylayQ) |V3| )

t(z1,22) Ki(x1,22)
nuptin v3-p hwiwwwpwuehiwd Ghuwedtpugh v = (v, v2, v3) wppwpht Shwydnp
tnpdwih bppnpn Ynnpohbuwpd B Lwdh np {|ly — z| = ¢} udbipwh wppwpht

thwynp bnpdw b mbh
Yy—z
t
gpliupp, wyw ST U S~ Jhuwudbpwbbph hwidwp

|y3 - $3| _ \/{2 - (’91 - $1)2 - (’!}2 - 1»’2)2
t t

VvV =

lvs| =

1 dyyd
A<P($1,$2,x3,t) _ (lo(yl,yZ) Y10Yo

2 12 — — )2 — A :
Ke(or.2) \/ ('y1 1) (92 2)

Ludiwjh wnwehl winnuidh wuwgngywd t:
Ghpwnnptibp ¢ $nbljghwd Yuwhrwd & bwl 2o hmhnfuwlwbhg: Wn ntiypnul
(2.40)-hg Yuypwhwbp

A = 1 ‘P(yl,yz) dy1dys
o= —

2w 2 — (1 — 21)2 — (10 — )2 -
Ke(o1,2) \/ (’91 1) (’yz 2)
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i+t T2t /t2—(y1—1)2

! / oY1) / i
= — 1
2m V12— (y1 — 21)? — (y2 — 20)?
@11 2—4/12—(y1—%1)?

z1+
1 (1) arcsi Yo — Ta v2=z2+1/12—(y1-21)?
- arcsin
o Y\ \/t2 — (’yl — z1)2 y2=w2—\/m Y1
x1—t
1+t
1 / (41) dis
=9 ©Y\Y1) Ay :
r1—1

Ludiwh wipnnenipyuwdip wujwgnigwd t:

dy, =

n = 3 ghiwypnud (2.39) pwbwalip puwihu t (2.36)—(2.38) Unohh fulinph (nudnuip,
tpp ¢ € C*(R3), ¥ € C*(Rs): Uwubwynp ntiwpnud, tipp ¢ b ¢ $nublighwbbipp

LQwhijwd ¢l 23 Ywd z3 b 2o thmpnfuwljwbbtiphg, wn pwbwdlp bnphg pwihu
t (2.36) — (2.38) fubnnh nwnuip: Rwyg wyn phiwpnud, hwdwdw)b Leddw 2.6.1-h,

wyn (ndnuibbpp onybutio Jwhdwd b hwdwwywpuowbwpwn zs Qud zs b 25
ihmpnfuwlwhbbphg, wyuhiipl (2.1) — (2.3) jbnph dnud &6 (f(z,¢) = 0), tipp

n=2Lbn=1
Wuwhuny, n = 2 ghiypnud

Ugg — (Upyz, + Uzozy) =0, &= (1,22) € Ra, t >0,
u|t=0 =(z), € Ry,
ut|t=0 =(z), € Ry,

Unphh fuinph (udnuip ppdnud £

o(y1,y2) dy1dys

8t 2” / VE = (1 —21)? — (32 — 22)?

ly—z|<t

u(z,t) =

+

lb(’éh s ’!/2) dy1dys

& J N A

ly—z|<t

pwbwaling: (2.44) wpypwhwyypnipnibp Ynaynd & Aniwunbh pubwal:
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n = 1 nliypnud, hbswbu wpntl ghyptibp, Ynohh fulinph (ndnuip GhpYwjwgynud
t (2.20) Mupwdpbph pwiwadling, nupnwlh wiu wwpwgnudpnud debp wb uypuguibp
Uty wyl «]wjpteph» tnwbwlny:

NMuwnpnpnid pupdbbop il hwiqudwbph Jpw: 7 =2 L n = 1 nhwypbpnud
Indnuibbippn upugwbp ogytinyg n = 3 giypnud ddwh gnynupnibhg, tpp tb-
pwnnnud tn ¢ € C3(R3), ¥ € C?(Rs): Shpluwpwp, upugywd pwbwdlitipp phinh
nlitih, ipp ¢ € C3(Ry), ¥ € C?(Ry) U ¢ € C3(Ry), ¥ € C?(R;) hwiwuwwypwu-
hwbwpwn: Uwljwb, hbswtiv wpnbd gnyg tbp yputy, 7 = 1 nhypnud npnplynypjwi
wuwydwip Ywptih t prugwgbty, pwwpun t bpwnpty ¢ € C?(Ry), ¥ € C1(Ry):

Lotilip, np

Uy — a2 Agu=0, x€Rs, t>t°
u|t=t0 =¢(z), € R,,
/u’t|t=t0 = 'Qb(x)i x E R3)

Unphh juinhpp, npptin @ > 0 hwuypupnih t, t° € Ry, 7 = a(t—t°) impnfuwljwih
pnfuwphbdwdp phipgnad £ Jbpp nunuibwuehpywd pbnphio o

7] 1
u(z,t) = ot m / o(y) dSy | +
ly—2|=a(t—1°)

1
* 4ma?(t — t°)

f Y(y) dS, (2.45)

ly—=|=a(t—t°)

Pnbyghwidr wyu fubnph (nudnud t:

§ 7. Uihpatiph nhpmqhuyh Ywuha

Wyu ywpwgnuwdnud Yhwdngytibp, np Unohh fubnph (nudnuibtinh nudtib qupptin
hwippynipynbdtp, npnbp Jwhdwd Gh puwpwdnipjwd 7 suhnnwlwbnyEinbhg:
Hupwpltibp

U — @2Au =0, ZE R, t>0, (2.46)
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u,_ =0, z€R,, (2.47)
t|,_o =), z€ R, (2.48)

Unphh fubinhpp, npgtin ¥(z) € C*(Ry), a > 0 hwupuwygpnb t:
blpwnpbbp gnympynd nbh wjbyhuh R > 0, np ¥(z) > O, tipp |z| < R,
P(z) = 0, binp |z| > R: Utibp Ynhypwnlhbp n = 3 L n = 2 nhwphnp:
n = 3 nhypnuf (2.46) — (2.48) fubnph pudnuip ppydnud &
1

u(z,t) = 47a?t

/ ¥(y) dSy, x € R3, t > 0,

ly—=|=at
Yhpluhndh pwhwaling, nphg htiplinud t, np gwwgwd Shpuwd = € Rs, |z| > R,

Ltipph hwidwp
u(z,t) >0, tpp at € (|z| — R, [z + R),

w(z,t) =0, tpp at<|z|]—R Ywd at>|z|+R:

)1 Ubny wuwd, bpb || > R, wuw
at —R<|z| <at+ R

qbnuwyhb sbpypnut u(z,t) > 0 W u(z,t) = 0 wyny sbipphg nnupu: Fw Bowbwlnu t,
np uhgpiwlwd wwhhib ¥(z) nblghwih wnwewgnud wantignipindp dwdwbwlh
pbpwgpnul yuwpwdynud t htiplyw) Yepw. wowewbnud t ghnuhb wihp |z| = at+R

wmughuypl Bwlpupmy U |z| = at — R hluphb Swluopry], npnip swpdynud th

d(at + R)
dt

z, |z| > R, Ympnui u(z,t) = 0 (qwnwph Jhéwl t) pwbh nin at < |z| — R (Ghibsh

wnwelwyhl Swhwpp Yhwubh wn Ypht), wybnihtpl 2| - R < at < |z|+ R
dwiwbwhwhwpwdnd u(z,t) > 0 (Qupwiynn Jhdwl t) L htwpn Yplhb
u(z,t) = 0 (nwnwph Jhéwy t), bpp at > [z| + R (bnp wihph htaphd Gwlhupp
wnntb wgh) & 2 Yhgpny):

Unwobwjht Swluwph wnijwnupjwd hwplnpynuop pinpny & hhwytippnwlwb
hwwuowpnuibbph hwiwp Ynphh fubnnhib, hbsp wwjdwbwynpdwd t odwd pbgpny

= o wpwgnpwdp: Wn qinuiht wihph jwjbnggnibp 2R 6 Swiljwgwd
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bywnpwgnynn bplunypbtnnut wgntignyeyw puwpwddwd Jtpeunnp wpwgnipjwdp:
Uwluyh htiphh  Swlhuwnph  woluwympynip, nph wbghbng  htiypn Yhgpnud
Ytpwlwoghynud t qunuwph Jhwlp, inwsunh fulinph wnwiddbwhwplnypynd t:

n = 2 ghiypnud Bdwb tpluinyp syw: bpnp, 7 = 2 ntuypnud (2.46) —(2.48) tubnph
Inwdnuip ynynud &

uw(z,t) = L / N Y1, 92) dyidys z € Ry, £ >0,

2ma — (i —2)? = (g2 — 22)*
ly—z|<at

Mnuounbh pwbwaling: Swilwgwd z € Ry, |z| > R, Ytwph hwiwnp
u(z,t) =0, tpp at<|z|—R,

u(z,t) >0, tpp at>|z|—R:

Quwhuny, u(z,t) > 0, tpp |z| < at + R W u(z,t) = 0, tipp |z| > at + R:
T Dwbwymd t, np ulgpbwlwd wwhho ¢P(z) Pnbighwih wnwewgnud
wqnbignpyniip dwdwbwlh pbpwgpnyt pwpwdynud £ hbyplyw) Ybpy. z, |z| > R,
Ytpnud u(z,t) = 0 nunwnh JhSwlp swpnibwlynud & Ghigh ¢ = =] ; R

bnp wyn Ygpnyd whghnud t ¢ wpwgnpywdp swpdynn 2| = at + R wnwebuyhb

—R
|x|a wwhbpht w(z,t) > 0 L

z Ytypnut wybe nonwn sh jhoh: Ywiuwyd nddwn & blunply, np wyn Ytgpnud
u(z,t) = 0, tipp t — oo, higp bpwbwhnud &, np Yph stnnuip winfting thnpp t,

wwhp,

Swlhuwypp, dwdiwbwlhh pnnp hwenpn ¢ >

tipp ¢ — oo Wn Juwwlgnipywdp wunwd b, np n = 2 nhiypnud phinh t nddbbnud
wihph hlppt Gwluaph ghpniqhw (htphl Gwhuwpp pwgwlwynud t):

THymunflifh uljgpmbpp: Wdd nwnuibwoehpkip YUnohh huiinhpp wihwiwubn
wihpwiht hwwuwpdwd hwdwp: Wyohwpp E np pwdwpwp © ghpwplibp hwdwuotin
uhqpbwlwd wwydwbbtpng nhwpp

Uy — a*Ngu = f(z,t), € R,, t>0, (2.49)
u,_ =0, z€R,, (2.50)
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U|,_, =0, z€R,: (2.51)

Um bywpwlyny nhypwpytibp

v — a2 N =0, ER, t>T>0, (2.52)
v|,_. =0, z€R,, (2.53)
v|,_ = f(z,7), =€ Ry, (2.54)

hbnhpp, nph dnwip Ywhdwd &z, ¢ hmpnfuwwbbbphg © 7 wwpwdtpphg
v = v(z,t,7): Stnh mbh htplyw) winnuip, npp Yngnud © Anewattk ugpnibp:

@Rhnpkd 2.7.1 (byounitih uyqpmiipp) Hgne v(z,t,7) Prbhghub (2.52),
(2.53), (2.54) pbnpp prudnat b Un nlypnat

t
w(z,t) = / o(z,t,7) dr (2.55)
0
Pribyghwuts (2.49), (2.50), (2.51) pbanph rudmak b
Uuyugnyg: Wdwighinyg (2.55) pwiwalp tphne wiqud puy ¢ thmpnfuwljwih,
hwodh webtyny (2.53), (2.54) wuwydwbbbpp upwinud kop

t t

w =v(t,z,t) + /'Ut(ac,t, T) dr = /fot(x,t, T) dr, (2.56)
0 0

t t

uy = v(t, z,t) + /fott(x,t, 7) dr = f(z,t) + /'vtt(x,t,T) dr:
0 0
Lwbh np puy z; hpnfuwwbdbtinh wdwbgdwb gnpdnnnupnibp Ywplh t puwibty

hoypbgnwih bawbh pul, www
t t
JAVETIE AW /'v(z,t,T) dr = / Agv(z,t,7)dT:
0 0

Stypluwpwp,

t t

U — A2\ u = f(z,t) + /futt(:v, t,7) dr — a? / Ngv(z,t,7) dT =
0

0
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i

= f(z,t) + / (vi(z,t,7) — a®Dgv(z,t,7)) dr = f(=,1)
0
Wuwhuny, v $nblghwd pwwpwpnud & (2.49) hwjwuwpdwbp: (2.55) L (2.56)

bpyuwjwgnuibiphg widhowwbu htiplnud &, np v $nblghwd pwjwpwpnud t
(2.50) 1 (2.51) wwydwbbbphb: Ebnpkdh wwwgngywd t:
B wjuwbu, dkbp Ywnnn thp gnhy

’u'tt_a2Aa:u=f(zat)a zERna t>0a
u|t=0=<p(x), x € R,
ut|t=0 = ’l,b(.’L'), YRS an

Unphh fubinph nddwd phupp, et nudtibp hwdwoetn hwjwuwpdwd hwdwp Ynphh
fubnph (mudnuip:

Gntbp wyn (wdnuibliph yptiupp dhq hwppbh ntwptiph hwdwnp: Bhpwnpynul
t, np f(z,7) drnublyghwd jnipuwpwbsynp 7 > 0 hwdwn, npuwbu 2z hmpnfuwlwbhg
Ywhiwd Pubighw, wunpluwbnud £ hwiwwwpwulowd nuuhi (7 = 1 ghwypnud
C' nuuhb, n = 2,3 ntypbpnud C? nuuhb):
n =1 (huwpuulpbph pubuudl).

z+at t z+a(t—T)
u(et) = LD L [y ae o [ar [ s ae
r—at

0 z—a{t—T)

oML AD) 2 [ v dat [[ 1@t daat ),
NP

MNP

Yud, ptiu (2.20), w(M) =

n =2 (Muuwunip rubauil).

+

0 1 / (Y1, y2) dyrdys

w(z,t) =2 | -
(%9 9t | 2ma Va2t — (y1 — 21)? — (y2 — 22)?

ly—z|<at
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+L / Y(¥1,92) dy1dye
Va2 —

|y—a:|<at ('y1 - 551)2 - (yz - 132)2

L /t dr f(y1,92,7) dy:dys
mt - T)2 - (yl - xl)z - ('yz — xg)z,

0 ly—z|<a(t—7)

n = 3 (Uppfuhndh pubuuil).

u(x,t)=% L / o(y

4a?t

/ () dSy+

|ly—z|=at |y—a:|—a.t

t

1
+/ d’rm / f('g,'r) dSy .
0

ly—z|=a(t—)

§ 8. lownp juinhpp hhwppnpujut hujuuwpiwd hwdwp

Yhuwwinflipe puph qpunpuiinuiiitipp: Thypwpltiop htiplyw) febnhpp. qupbly
Uy — Uy =0, 0<zT <00, 0<t<00, (a>0)
hwwuwniwd wjb jndnuip, npp pwdwpwpnud £
u(0,t) = u(t) (uma u2(0, 1) = u(t)) >0,
tiqnuyhtr b
u(z,0) = o(z), w(z,0)=9%(z), 0<z <o,
ulgpbwlwd wuwydwbbtphb:
Wju fubnhpp Ynsynul t fuwnp fbnhp jwph pupwidwd hwjwewpdwb hwdwnp:
Muwpgnupywh hwiwp Ynhypwplbbp %(0,t) = 0 hwiwubn Ggnuyhb ww)dwbp,
hisp hwdwwwypwuuwbnad © wyb ntiyphtb, tpp jwph dwypp wipwgywd t, hbswtiv
twl 4,(0,¢) = 0 hwdwutin tiqpwjhd wwjiwbp, hisp hwiwwwpwuefiwbnad tw)b
ntwpht, tppe (wph dwjnp wquip t:
Lwh nhypwpltiop wipugwd dwypny Yhuwwdytpe jwph pupwinuibbpp
1(0,t) = 0: Swpwdkibp fubnhpp wdpnne wnwbgph Ypw' swpnibwlbing ulgpbw-
Ywbd $nblghwbbtipp pwgwuwlwh Jhuwwnwigph Jpw Yhigp duny: Lowbwlkbp

35



4
o(z), >0,
P(z) = <

_(p(_z)7 z < 01
\

4

- Y(z), >0,
Y(z) = 4

—(—z), 2 <0:

Whthwyp &, np widbpg (wph pwpuinwip bwpwgnnn

o~

iz, 1) = o(x — at) + @(x + at)

2

1 r+at
N ECL:
r—at

$nbiyghwd {z > 0, ¢ > 0} yphpnypnwt Jhuwwbybpe jwph hwdwp dLwlbpywd

fubnph ndnd £ wyn $ncdlghwd pwywnwpnad b hwwoewpdwbp, oygpbwljwb

wwydwhbdbknhd L 2(0,¢) = 0 tigpuwyhd wuydwdhd (Rtnptd 2.3.2):
Jbpwnwnbwny bwhbwlwd bnph o(z) W ¥(z) uhqpbwlwd dnblghwdbpht

Inwdnuip Yotinywjwgyh htiplyw) dluny.

x —at > 0 phpnypnd (¢ < g L tigph welwynpnidp nhinbu sh gpulinpynu),

Ynbbhwbp

(z — at) + p(z + at)

u(z,t) = % .

1 z+at
o [w©a
r—at

z — at < 0 yphpnypnd (¢ > 2 L wpnbd woljw & bgph wgntignyeynidp), hwah
wnbting uhdtipphly vwhdwbbbpmd Yhbyp Pnblighwgh hbyptigpnuwh qpn |hbtgp,
Ynibbbwbp

ztat
u(e,t) = DAL= L ey a
at—zx

Wi nhypwpltibp wquy dwipny Yhuwwbgbpe jwph pupubnudbbpn u, (0, t) =0
Lnyb Ybipw, ubnhpp pwpwdtibp wipnne wnwigph Ypw, pwyg widd uhqpiwlwb
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dnubljghwidinpn gnyq duny swpnibwlting pwgwuwlwh Yhuwwnwigph Jnuw:
Lowbwlkbp

4

o), >0

P(z) = §
(,0('—.’17), z < 0,

\

4

- ¥(z), >0
Y(z) = S

\'c,b(—x), x<0:

Wu ntiypnud Lu wlbhwyyp t, np wigbpe jwph pupwinuip bliwnwgpnn

- . r+tat
r—at

2

$nbiyghwd {z > 0,¢ > 0} yphpnypnut Yhuwwbybpe pwph hwiwp dbwlbpyywd

fubnph dnud E, uwluwgh b pwppbpngeymd e swpnidwlnpiwid ntyph wju

ntiwpnud pwywnpwpnud t %,(0,¢) = 0 iquuyht wwjdwdhd (Bhnptd 2.3.3):
Jbnwnwniwny bwhibwlwb fubnph o(z) W ¥ (z) uhqpbwlwid dnblghwbbphl’

nwdnuip Yobphwywgyh htaplywy dlny.

tppt < Z b tgph wnlwynuniip nhnliu sh npultnpynad, hoiswtiv bwhnpn phiypnud,

Ynibthwbp

r+at
u(x,t) _ (P(x — at) ;‘(P(x + at) + 21_a / ¢(€) df,
r—at

tpp ¢ > 2 L wpnbid wolw t tgph wgnbignnibp, hwodh wnbting vhdtipphly
vwhdwbbbipnud gnyg Pnblighwjh hinptignuh hwplnyagnibn, Yndtibwbp

z+at

u(a = AEEAIALD) 2 [y aer [ v ae

2
Whipgunjop pwph quupuwimufitipp: Yhypwplbibp htnplyw) fubnhpp, gty
U — QUz, =0, 0<z <!, 0<t<00, (a>0) (2.57)
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hwywuwndwh dnuip, npp pwdwnwpnud t
w(z,0) = p(x), w(z,0)=19(x), 0<z <, (2.58)
uhgpbwlwd wwydwhbtiphd L
u(0,t) =u(l,t) =0, t>0, (2.59)

bgqnuwyhth wwydwbbtphd, hisp hwiwwwpwuhiwbnd t wyb ghwphb, tpp (wph
dwjpbpp wipwgywd Lb:

biswhu U Owhnpn phwpbpnud, fubnghpp Ywpwdtbp wdpnne wnwbgph
qnw: Ulgprhwlwh dnublghwibpp swpnibwlbip swpnibwlywd dnblghwibpp
tpwhwltny @, ¥, htglyw) dbny. bwhe Yeby alind swpnibwlbibp [0,]-hg [-1,1],

o(x) = p(z), 0<z <],
P(x) =9¢(z), 0<z <,
p(x) = —p(—z), —1<z<0,

P(a) = —p(-z), —1<z<0,

wjbnchtiypl swpmibwtbp 2! wwppbpupjwdp wdpnne wnwhgph Ypw’

Plx £ 2lk) =p(x), —-l<z<l, k==%1,2,..
V(e 20k) =9@x), —I<z<l, k=x12..:
Whihwyyp £, np winbpg jwph pwpwinuip djwpwgpnn

. r+at
r—at

dnubiyghwtr (2.57),(2.58),(2.59) pbnph udnd t ((2.59) tgpuyghll wwydwbp
pwqwnupyuwd £ hwiwdwyb Btnptd 2.3.2-h): Upwgywd pwbwdlbng Gwhbwlwh
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hbnph ¢(z) W ¥(z) uygpbwlwd $nblghwibtphd Jhpwnwnbwine hwiwn, hbsutu
bwhinpn ghiyptipnud, whhpwdtiop t {0 < 2z < I, ¢t > 0} yphpnypnut & L "
$niblighwbbtiph wpdtpbtnp wpypwhwypty ¢(z) L YP(z) dnblyghwibkph wpdtpbtiph
dhgngnu, hiigp pnnbinui tbp poptpgnnhb:

§ 9. dmhnjuwlpuibtiph whgunpiwh Whpnnp

Sunfwulie hufwuwpnuiliip: @mpnowlwbbbph wiswpdwd Juwd dnpgtih
ttpnnp dwubwliwd wdwbgyuwibtpny nhdtptbghw] hwjwuwpnuidbph ddwb
hhdbwlwh dtpnnbtphg t, npp Yowpwnptibp bwhu (2.57), (2.58), (2.59) wipwgywd
dwynptipny (wph pwypwbiwd ubnph hwdwp: Rwbh np (2.57) hwdwewponuip
gdwh t U hwiwutn, nwph Gpyne Jwoebwynp  dnibbph gmdwpp Lo
wyn hwjwuwpdwd udnd & Onpatbp qpbly (2.57) hwjwuwpdwd  wjbughuh
Jwubwynp udnuiblin, npnilg gnuiwpp Yhoh (2.57), (2.58), (2.59) winph (nudnud:
Lwp (ndbbp htiplyw) odwinwl fubnhpp, qybty (2.57) hwjwuwnpiwb wyb ng
ypphyhwy (ng Gnybwpwp gpn) (dnuibtpp, npnip pwywpwpnad o (2.59) bqpughb
wwjdwihbbphd L bbb

u(z,t) = X (x)T(¢) (2.60)

phupp, nuptn X (z) dmblghwd Ywhws t vhugh z thmpnfuwlwihg, T'(¢)
$nbiighwd Juwpuwd t Shugb ¢ pmpnfuwlwihg: Stnwnpting (2.60) phuph u(x,t)
$nblyghwd (2.57) hwjwuwpdwd Jhe upwbnud tbp

X@T' () — a2 X" (z)T(t) =0,

npuptinhg, hwoyh wobting X (z) #Z 0, T'(¢) # 0, wypwbnui tbp

X'z 1701

X(@) @ T 281

Npwtugh (2.60) $nblyghwd (hoh (2.57) hwjwuwpdwb ndnud, wihpudtiogp t,
np (2.61) hwjwuwpmpyubp pbnh ndtbw {(z,t) : 0 <z < I, t > 0} phpnyph
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pnpnp Ytypbph huwdwn: (2.61) hwdwewpmpjwi dwhs Jwup uwhudwd t ohwyb z-hg,
huly we dwup thwyb ¢-hg: Shpubtiny z thmpnfuwlwbh nplut wpdtp b thmhnfubng
t pmpnfuwlwip (Qud hwliwnwlyp) wpwdngd Gop, np (2.61) hwywuwpnpwb
we L dwpt dwubpp bnybwpwn hwjwuwn b Shubnyd hwopuwpniohd: Wn
hwuypupnibp bowbwltbp —A-ny.

X”(z) _ iT”(t) _

X@) ET@

Wuptinhg X(z) L T'(¢) $mblyghwibph hwdwp upwingd thp
X'(x)+2X(z) =0, X(z)#£0, 0<z<l, (2.62)

T"(t) + Aa®T(t) =0, T(t)£0, t>0, (2.63)

unynpuwlwi nghdpbiptbghw) hwjwuwpnddbpp:  (2.59) topught wwydwbbbphg
nihtibp

u(0,t) = X(0)T(t) = 0,
u(l,t) = X(OT(t) =0,

npptinhg htiplnud €, np
X(0)=X({)=0: (2.64)

Wuuwhund X(z) dnbighugh hwdwp upwguip htiplyw) fubnhpp gypbtp A
hwupwipniih wyb wpdhpbbpp, npniig hwdwp

X'(2)+2X(z) =0, O0<z<l, X(0)=X(l)=0, (2.65)

fubnhph mh ng gnywywd ndnud: Wnyhuh A hwupupmbbbpn Ynsynud
tb (2.65) pbnph utpwlwd wpdbipbbp, hul hwdwywpweowb  udnubbpp

ubthwliwd dndljghwibp: Wu fubnhph wijwind B wl Sypnpd-Lhnhh
fubinhp: “hypupybip A < 0, A =0 UL A > 0 hbwpwynp ntiwyypbpp:



1. A < 0 nphwypnut (2.65) fubinhpp smb@h ng ypphyhwy jmidnud: bpnp, (2.62)
hwjwuwpdwbd pbphwingp ndndb ndh

X(z) = C1e¥™ 4 Cpe V@

phupp: (2.64) bgnuwyht wwydwdbbphg nbtibp

X(0)=C+0C;=0,
X() = CreVM 4 Che~V=M =0,

nupbnhg C; = C> =0 1 X(z) = 0.

2. A = 0 phiwpnud (2.65) fbnhpp Yplhb snbh ng pphyhwy (nus: bpnp, wju
ntiwpnul (2.62) hwwuewpdwd phnhwbng ndnuid &

X(x)=Cix+ 05

(2.64) tignuyhti wuw)ydwhbbtphg nbikbp

X(0) =C, =0,
X() =Cyl+Cy =0,

nuptnhg C; = Co =0 L X(z) = 0:
3. A > 0 ghwypnud (2.62) hwywuewnpdwd pinhwbnp nodnuib ¢

X(z) = Cycos vVAz 4 CosinvAz :
(2.64) tgnwyht wwyiwbbbphg nbkbp
X(0)=0Cy =0,

X(l) = Cycos VA + Cysiny/ A =0,
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npptinhg C; = 0 b Cysin /Al = 0: bph X(z) # 0, www Cy # 0 wsiny/Al = 0,
wjuhbpl’

mn
="
VA T

nupbn 7 = 1,2, ...; Stapluwpwp, (2.65) bnhpp Yupnn & ndbbw) ng gphghuyg
nudnuibtip Jhwyb

A=A, = (?)2 n=1,2,..

wpdtipbtph (utipwlwd wpdbpbbinh) nhypnud: Snyuupwisnp A, -hid hwdwwyw-
pwufuwbnu £
mm

Xu(z) = Dy sin T

ndnuip (ubithwlwd $nblyghwd), npyptin D, -p Judwjwlwh hwugpwgpnid & A,-hb
hwiwwwpwufswbng (2.63) hwywuwpdwbd phnhwinp dnult ndh

T.(t) = A, cos W;?nt + B, sin W;?nt

ptiupp, npptin A,-p L By,-p Judwywlwd hwogpwpmibbbp to:
Wyuwhuny,

Uy (z,t) = Xp(2)T,(t) = (An Ccos ?t + B, sin ?t) sin 7r_lnm, n=1,2,..

dnbiyghwdbpp  (2.57) hwjwuwpdwd  dwoebwynp  udnuibbp &G, npnip
pwdwpwpnut &6 (2.59) bqpuyghh wuwydwbbbph L Gbplwjwgynud GO Gpln
dnuiilighwidbnh wppwnwih pbupny, npnilghg dhlip Ywhdwd © dhwyb z-hg,
gnuwp dhwyb t-hg: Gu ndnuibtipp Jupnn 60 pwdwpwpt) bwhibwyws obnph
(2.58) ulgpbwlwd wuwydwbbbpht Shwyd dwoebwdnp ¢ L Y $nblighwbbph
hwdwn:

Wi Jbpwnuwebwbp (2.57),(2.58), (2.59) pbphwinp fubnphd: Gopwnptbp
An, B, qnpdwijhgbtipnp wybwhuht tb, np

(9]

= wan . man )\ . TN
u(z,t) = ;un(x, t) = Z (A,,, cos Tt + B, sin Tt) sin —-x (2.66)

n=1
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ownpn, hiswbu bwl wyb swpptinp, nonbp upwgynud G wju swppp tpyne whgud
winwd wn winuwd wdwbgtihu pup z U ¢ pnipnfuwlwibbtnh, hwjwuwpwsuath
guquitiy 60 {0 <z <1, ¢t > 0} pwquinipywi Jpw:

Mupg t, np u(z,t) dnublhghwd Ypwjwpwph hbswbe (2.59) bgnwghb
wwydwbdbphd, wbwbe & (2.57) hwjwewpdwdp:  (2.58)  uygpbwlwd
ww)ydwhbtphg qpbtibp A,, B, gnpdwlhgbtpp: Mdtbp

u(z,0) = p(z) = Zun(m,O) = ZA,,, sin W—lnx, (2.67)
n=1 n=1

w(z,0) = Y(z) = Zau"( ,0) = Z B, sm%z (2.68)

n=1 n=1

bpt ¢ U ¥ Imblghwidtinp Ywnptjh t obphwjwgit)] Snpgbh swnpny, wuyw

l
= 2
o(x) = z; P Sin %x on=17 / ¢(&) sin W—lnﬁ dé, (2.69)
n= 0
) =3 vhsin o, =7 [w@snTede: @
n= 0

(2.69), (2.70) swpptinh L (2.67), (2.68) pwhwdlbph hwikdwypnypnibhg bpln t,
np ulgqpbwlwd wwjdwbbbph pwjwpwpdwd hwiwp wbhpudtop t ybpgbty

An = ©¥n, B, = _'Qb'm (271)

U wyn nwypnud (2.66) swppny Ohpuywgywd w(z,t) Pmblghwid Lhwinhuwbw
(2.57),(2.58), (2.59) fubnph jmdnud:

Wuwhuny, dhbp (ndnuip btplwjwgphbp (2.66) swpph ptiupny: bpb (2.66)
2wnpp pwpwihpnud £ Ywd win 2wnppny diplwjwgywd prublghwd nhdptintibghith
sk, wwyw, hhwpbb, wyb sh Yupnn (hoty (2.57) nhdbpbbghw) hwwowpdwb podnd:

Wdd ytivbkibp, pt hbs wuwjdwbdbbbph whypp t pwjwpuptd ¢ L P
$nblyghwidtipp, npytiugh (2.71) pwbwalng npnogwd gnpdwlhgbbinny (2.66)
swnpp b wyl swpplinp, npniip uwpwgynud b wyn swppp tpyne wigwd winwd
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wn whnwd wdwbghihu puyp z L ¢ phmpnfpwlwbbtnh, hoth hwjwouwpusunh
qniquitip {0 <z <1, ¢t > 0}-nui:
Lwlh np
[un(z,t)| < [An| + [ Bnl,

Wy

> (14a] +1Bal) (2.72)

ownpn (2.66) swpph dwdnpwing & U (2.72) swpph gnigushypnieynitihg htplinad &
(2.66) swnph hwjwuwpwswih gniqudhypnepynibp:
w2z, t) Pnublighwih whpbnhwpnpnidp upwbwne buypwpwlyng nwnuibwuehptibp

(o) (o)

ou,, man . man Tan \ . Tn
ug(z,t) ~ Z ek ; - (—An sin Tt + B, cos Tt) sin —~z (2.73)

n=1

swnph hwjwuwpwswih gnigudhypnipynibp: (2.73) swpph hwdwnp dwdnpuig t

)
wa

= 27 (14| +|Bal) (2.74)
n=1
owppp: by Jbpowwybiu, u(z,1) U s (z,t) dnblghwibph wipbnhwpnipymin
upwiwnt bywpwlny nuwnuibwuhptibp
0 62%
t ~ _— =
u’tt(w7 ) - 8t2

n—

- _ (Lﬁ)zinz (A,ncos Elnt—l— B, sin @t) sin ?ZB, (2.75)
n=1

[o o]
8%u,,
Uga(Z,8) ~ ) o =
o] oz

2 (o o)
N (?) n; n? (A,,, cos ﬂlnt + B, sin ?t) sin 7rl_nx (2.76)

sownpbnh hwywowpwsunh gniquishypnipnubp: Wu swppbiph hwdwp hwogpugnidd
pwqiwuwipihsh Goypnpjwdp dwdnpwby swpp t hwinhuwbnud



372 (14| + | Ba) (277)

swnpp: Wandhtupl, hwodh wnbtynyg A,, B, gnpdwlhgbtph (2.71) btiplywywgnuip,
(2.72), (2.73), (2.77) pwpptiph qniguihypnipywh fubnhpp pepynud ©

> nMeal, k=0,1,2, (2.78)
n=1

o0
> nflyal, k=-1,0,1, (2.79)
n=1

2wnptinh gniquidhypnipjwd fubnphi:
Swiwdwyd Snpyth owpptiph hwyppdh hwplynggyndbtph

o
> rMlenl, k=012,
n=1

swnphph qnuquithynipywi hwiwp pudwpwn t Gbpwnpty, np @ € C2(0,1] Pnuby-
ghwh mbh tppnpn Ywpgh Yypnp we pnp wipbnhuwg wdwbgyw) L phnh mbh

9(0) =) =0, ¢"(0)=¢"(}) =0, (2.80)

wuwydwbp, huly -
an|¢n|a k:_laoala
n=1

swnptinh gmuguidhpnpywd hwdwp pwdwpwn & Ghpwnntip, np ¥ € Cct [0, {] $nubily-
ghwbh mbh tpypnpn Ywpgh Yypnp we Yynp wopbnhugp wdwbgw) L phinh ndh

P(0) =4(l) =0 (2.81)

wwyiwbp: Wuwhuny, wwywgnigytig htiplyw) phnptidp:

Plinphd 2.9 Ygnip ¢ € C?0,l] Ppmbihghwte mbph bppnpy Gupgh
Inpnp wn ppnp whpbhnghwop wowbguy, ¥ € CH0,1) $nibhghwbes mbp bpy-
nnpn lpupgh pppnp we Ippnp whpblnhuop wowbgpuy b inbnh naka (2.80),
(2.81) wupbwbbibpp: Um nlwprad (2.66) nuppny Glphupugfud u(z,t)
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Pnbhghws, nppkn A,, B, qupdwhhgtbipp npnpynud &a (2.71) pubuudhna,
(2.57),(2.58), (2.59) pulingph jrudnut k:

Uypwghniiup wihunfwubipmpyunip hunjwowpnuilibip: Fhypwnybbp hbigplyguy
fubnhpp. qpbity

Uy — @Uge = f(z), 0<z<],0<t< 00, (a>0) (2.82)
wihwdwutin hwdwuwpdiwbd ndnuip, npp pwywnwnnud t
w(z,0) = p(z), w(z,0)=19(x), 0<z <], (2.83)
ulqpbwlwd wuwydwhbbphh L
u(0,t) =u(l,t) =0, t>0, (2.84)

hwdwutin tqpuwjhh wwydwhbbphb:
Lndnuip thbypnpkbp
u(z,t) =v(z,t) + w(z) (2.85)

tpynt drublyghwdbiph gnuiwph phupny, nonbp pwwpwpnud o (2.84) tgnwjhb
wwydwbhd: w(z) $mblghwd Ynefmd t nddwd upwghnbwnp dwoe: Mwhwbehbp,

np v(z,t) dnbljghwd pwjwnpwph
Vi = Q% Vgg
hwidwutn hwwuwnpdwbp: Swdwdw)b (2.83) wwjdwbh
v(z,0) = u(z,0) — w(z) = ¢(z) — w(z), (2.86)

v(z,0) = w(z,0) = Y(z) :
Uuwhuny, v(z) dmblghwh hwdwp vypuwgwbp fuinhp, npp Ywphh tnodt
thnpnfuwljwbbbph whgunpdwh dhpnnny:
Stnwnpbiny (2.85) dtiplwjwgnuip (2.82) hwjwuewnpdwd by w(z) $nibljghugh
hwiwp Yupwbwbp
a*wye + f(z) =0,
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hwwuwpnuip, npp dynud & ipyne wbgud hbgptignting puyp z hnginfuwlwbp’

hwoh wnbtind w(0) = w(l) = 0 bgpughl wwjdwbbbpp: Stnunptying w(z)

dnublyghwh (2.86) uligpbwlwd wwjdwbh dhe Ywpnn top qpbty v(z) $ndlighwi:
Lughwimp wihwiwuiompyunip hudwowpnuiilip: Yhgnp ppgwd k&

Uy — @Ugy = fz,t), 0<z<l, 0<t<oco, (a>0) (2.87)

wihwdwutn hwjwuwnpnuip, hisp hwdwwywpwupwibnud © owjd phyphb, bpp

wgnnn wppwpht mdp hnpnfugnad © dwdwbwlh pbpwgpnul:
TYhypwnpytibp (2.87),(2.83), (2.84) pubnhpp: Lndnuip thinppkibp

u(z,t) = Zun(t) sin 7rl_nz (2.88)

yphupny: Utiplujugbtibp hwjwuwpdwd f(z,t) we dwup L (2.83) uygpbwlwh
$nbjghwbtipp Snipgbh hwiwwwpwupiwb awpphpny.

l
= 2
f(z,t) = Z; fn(t) sin W—lnz, fa(t) = 7 / f(&,t)sin 7r_ln§ d¢, (2.89)
n= 0

l

@) =3 pusi o pa=7 [e@smTiede (290
n= 0

W)= dasin e, va=7 [v@onTea: o
n= 0

Stnunptiny (2.88) L (2.89) wpypwhwypnuyeibbbpp (2.87) hwwuwpdwb Jhe
ugpwibnud tbp

(9]

" Tan\2 . ™ had . ™
; (un(t) + (T) un(t)) sin —-2 = n; fn(t)sin 7%
npuptinhg

wan

i) + (T)zun(t) — L), n=1,2,..: (2.92)
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Wuwhuny, u,(t) $mbhghwd npnotiint hwdwp  wpwgwbp  hwupugpnd

qnpdwlhgbtpny unynpulwid ghdtipbbghw; hwjwuwpnut: (2.83) ulgpbwljwb
wwjdwbbbphg wpwinud Lhp

o0 o0
u(z,0) = p(z) = Z un(0) sin W—lnx = Z ©n Sin 7rl—nx,
n=1 n=1

ug(z,0) = Y(z) = Zu;(O) sin ?w = Z Yy sin ?z,
n=1 n=1

npuptinhg
Un(0) = @n,  Un(0) =1y : (2.93)

Lndtny (2.92), (2.93) fubnhpp Yupwbwbp 4, () dublghwi:
Unhufwaline hqpuyhlt wpuydwiiiips Thypwplitbp wnwehh fuwep ubinhpp
jwph pupwbdwd hwjwoewndwd hwdwnp pinhwbnp phwpnud.

Uy — GUgy = fz,t), 0<z <], 0<t<oo, (a>0)

u(x,O) = (p(z), ’U;t(z, 0) = 1/)(:6)1 0<z <l
w(0,t) = i (t), wu(l,t) =po(t), t>0:

Uju fubinhpp (nudtpne hwdwn Gkipdmidbbp Gnp v(z, t) wihwpp $nblighw.
w(z,t) =v(z,t) + Ulz,t),

npptin bhpwnpynut &, np U(z, t) dmblyghwd hwypbh & v(z,t) $nblghwd whipp
t (hoh

Vg — az'va:a: = f(z,t)

hwwuwpdwd jondd, nuptn f(z,8) = f(z,t) — (Uy — a*Usg), L pwdwnurh
htigplyw) uqpbwlwd L Ggpuwghl wwydwbbtphi

v(z,0) = §(z) = p(z) - U(z,0),
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w(z,0) = P(z) = P(z) — Uy(z,0),
v(0,) = i1 (t) = pa(8) — U(0,2),
v(l,t) = pa(t) = po(t) —U(1,0) :
Coypntbp Uz, t) dnbiljghwd wybytu, np
p1(t) = pa(t) =0
Wy bywypwlnyg Yunpnn top Jtngbty
Ule,t) = m(®) + 7 (ualt) — m(®)) :

Wuuwhuny, w(z,t) $mblyghuwjh hwdwp phnhwinp tgpughl  wwydwbbbpnyg
fubnhpp pbpdtg v(z,t) $mblghwh hwdwp hwdwube tgpughl wwydwbibpnyg
tubnpht:
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Qniju 3

Mwpwpnuijut phyh hu wowpnedtip
u(z,t), z € Ry,, t > 0, dnibiljghwd Ynsynui
Lu=u — Agu= f(z,t), € R,, t>0, (3.1)

u|t=0 =¢(z), x€R,, (3.2)

Unshh fulinph (dnud, tpt -0 wwplwibnud
C?(x € R, t >0)NC(x € Ry,t> 0)

pwqinwbp, {z € R,,t > 0} phpnypnud pwywpwpnud £ (3.1) hwwuwpdwbn
U ¢t = 0 nhiypnud (3.2) wwyiwbhb: (3.2) wwydwbp Ynsynud £ uljgphwlwd ww)dw,
huly ¢(z) nublghwd Yngynud & ulqpbwlwd niblghw:

Lmuddwh uwhdwbnuhg wybhwppnpbd htiyplinad &, np (3.1), (3.2) hbnph
nwiwh gnnipywh hwiwp wihpudop 6o f € C(z € R,,t > 0) b ¢ € C(R,)
wwjdwbbbpp:

bigwyhiu b whpwihd hwwuwwpiwd nliypnud, ttp nwnuibwehpnuyywi wwip
htplywyd £ uhgpnud Supybh dbunpnfunpiwi dhengny (wowig hhdbwynpiw)
diynwhtibip» (3.1), (3.2) ubnph nddwb pwiwalp, wybnthtiph uwbnnunwebwbp
fubnph dwphdwphlwlwd fehuyp hbpwgnpdwbnp:
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§ 1. Dmpytih dluhnjumput fhpupnudp
otiptwhwnnpnpulijuimpudt hwyjuuwupiwia hwiwp
Umohh jutipph mdnudp uwypuiupm hunfwip

Muwpgnupywb hwiwp phypwpytibp hwdwubn huwwuwpdwb phypp.
w—Nu=0, z€R,, t>0, (3.19)

u|t=0 =¢(z), zER,: (3.2)

by wjuybu, nhgnip u(z,t) Pmbyghwh (3.1°),(3.2) lbnph udnut E
Puquiwwwpltip (3.1°) Gnybnyp)wi we U dwh dwubpp e~“®)-ny, npptin £-0 R,
pwnwdnipiwd Juwiwjwlwd Yty &, L upuwgwd hwjwowpnpnuop hiypbigntip
R,-n: Guypwibwip

We(€,0) + |€|%U(€,t) =0, z € R,, t>0, (3.19

nuptin %(¢,)-0 ¢ > 0 wwpwitypphg Gwhwd u(z,t) dnblhghwh Dnpgbh
dlwnpnfunpymbd t puyp 2 € R, t(hmpnfuwlwih.

ué,t) = /u(x,t)e_i(‘”'s) dx :
Rn
Lnyh auny, (3.2) ulgpiwlwd wwjdwdhg Yupwibwbp
(€, 0)],o = () : (32)

8nupwpwiigniy $hpuwd £ € Ry, ntiwpnud (3.1°), (3.2) fubinhpp @(¢, t) $rublghugh
hwiwnp hwinhuwbnui £ Unphh fubnhp hwopupnd gnpdwihgbipny unynpuljwb
nhdtinkbghw) hwywuwndwd hwdwn, nph (Bt mbh

(g, t) = e K%G(E), t>0, £ €R,,

gphiupp: Shpluwpwp, Snpjbh hwlwnwpd dlwnpnfumpywi thengny, (3.1%), (3.2)
fubinph (ndnuip btipwjwgynud &

1 - : 24 .
u(®,t) = Gom / (¢, 8)e"™0) de = )y / e FI%G(£)e" ™0 de =
R, R,
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Rn Rn

~ @or

= f o(y)

R,
iptupny, npptin

1 - i(z—
@ / e WeE D g | dy = f K(z—v,6)9() dy
R,

K(z,t) = (271r)" /ei(z’g)e"mzt d¢, z2=1(21,..,2,) ER,, t>0:
R

K(z,t) $rubljghwyh hwidwp ptinh nbh

n +°° n
1 .
K(Z, t) — H g / ezzjfje—ﬁft d€j = H k(Zj, t),
=1 " =y i=t

hwywuwpnupyniddp, npptin

v v
k(a,t) = Py / it ge — g / e€tcosal dé, a€ Ry, t>0:

Swoyh webtyny, np

+oo

—:——/£s1na§e gtdf——ﬂ cosake” gtd{———k(a t),

Luypwhwip
ol
k(a,t) = e «k(0,1) :

Ujnw Ynnihg mbtibp

+o0

1 2 1
k O,t = — e—g t d e s
(0.9 2m / : 2/t
htippliwpwp
2
ko) = S ac Ry t>0
a’ - ? a ? ?
2/t !

kb

” 22 212
e 4t e 4t

K(z,t) = = , Z€R,, t>0,
(z.¢) J1;112\/71'1? (2+/ 7)™ B
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nwph b (3.19), (3.2) pbnph (nddwd hwdwp Yupnn Gohp gpty

w(z, 1) = / K@ — v, )ly) dy =
Rn

]. Q—yz
/D) /e‘JTL(,o(y) dy, z€R,, t>0: (3.3
Rn

(3.3) wpypwhwyppnpnibp Yngdmud © Dnowunbp pubwdls

§ 2. bminuikinpu) mdmy: ipdwhumnpnuijuinyejui
hujuuupiw® huniwip Ynpghh junph médwh gnympymap

Thypwplybbp

1 _l=I?
e, ze R, t>0,
Ulz,t) = GVt

O,zERn,tSO,

dnublyghwd: {0} = {z = 0,6 = 0} Ywpni U(z,t) Imblghwd tugynud
t, huly dhwgwd pnnp Ytipbpnud pwdwpwpnad §obipdwhwnnpnulwbnupjwb
hwwuwnpiwbp: ddjwn st upnighy, np U € C° (R, 41\{0}):

Uwhdwinui: U(z,t) $nibhghwb §ngnod b obplwhwnnpnpudpubnigepui
hwfwuupilw gralmudlipuy (momnd.

Stinh nubh htiplywy wbnnuip:

REnphkat 3.2.1 2hgnip ¢ € C(R,) Pnibhghub wwkhibwbwpul F

sup |p(z)| =M < o0
z€R,

m nhwpnnk (3.3) puhwdhny npifud pribhghud (3.1%), (3.2) pblnph jrudnak
E Um pudnnip wwhibwbwanpwl F

sup |u(z,t)| < M, (3.4)
r€ER, >0
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wfleply, nlnh vkl hbaplywy whwajuwwupngeribbbpp

inf p <wu(z,t) <supyp, z€R,, t>0: (3.4)
Rn Rn

Uuyugnyg: Jdbpghtidp huwiwwlwd R > 0, 0 < 6 < T < oo b Qrsr-ny
bowbwltibp
QR,S,T = {|$| < R,6 <t < T}

quuip: Lwhr wuwgmgkbp, np (3.3) pwiwdltng ppjwd u(z,t) Pmblyghwh
wwyplwinwt t C*(Qpsr) nwuhl U Qpsr-n pwwpwpnud o (3.1°)
hwywuwpdwbp: (3.3) hiphgnup bhplwjwgbtibp

u(z, t) = Ii(z,t) + I(z,1) (3.5)
tinyne hbuptignubiph gnuiwph ptiupny, npgptin

h(z,t) = / K(z - 9,8)0(v) dy,
ly|<2R

I(z,t) = / K(@—v,0)0() dy -
ly|>2R

Lwbh np [(z,t) hbypbgnunh bhpwhipbgnwught  $ndlghwd L bpw
gwiljwgwd Jwpgh wdwbguwibbpp pup z L ¢ hmpnfuwlwbbtph wipbnhwyg
uh {(z,t) € Qgrsr: |yl < 2R} thwl L vwhiwbunpwl pwqinpwd Jpw,
wuyw wdwbgdwd gnpdnnnupynubp Juwnptih € pinuhnfuly hbptigpugh opwbh pwly:
Stypluwpwn, 1 € C°(Qpsr) W I(z,t) dmblghwd Qg sr-nul pwnjwpwpnud t
(3.1%) hwywuwpdwbp:

Iy(z,t) hinptgnwih Gopwhbpbgnuwiht $nblyghwd b Gpw  gwblwgwd
LQunpgh wdwbgyuibtpp puyp z L ¢ hmpnfuwlwbbbph  wbpbnhwyp GO
{(z,t) € Qrsr, |yl > 2R} pwquinpywd Jpw: Uwluyh I>-nud hbyphgpnuip
uwypwpynt £ {|y| > 2R} whuwhdwbunpwl pwqinpyming: L(z,t) $nblghuwh
hwdwp I3 (z,t) $nblghwih hwiwywpuoeowd hwpynpgndbbpp wywgngbin
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hwiwnp pwywpwp t gnyg gy, np (2, t) $nblighwd b bpw gwdlwgwd Yunpgh
wdwbgpwbbpp puy z L ¢ hmpnfuwlwdbtph {|jy| > 2R} pwqingeywb Jpw bbb
hinptigntih Jwdnpwbpbbip, npnbp Ywhdwd skb (2, t)-hg, (z,t) € @R,&T:

Lwth np {(2,?) € Qrsr, [y] > 2R} Yhpbiph hwdwp

lz —y| > |y| — |z| > |y| —

wyw
x— (|y —R!z

t
o) < @ \/—)nlw(y)l < (2 \/—)n
Ue dwunud gnyuwd Pnibljghwd npnbtih dwdnpwbgh L.

|K(.’L’ - Y,

(||R>2
e T dy<oo:

Iz, 1)) < / IK(x—y,t)w(y)ldySﬁ /

ly|>2R ly|>2R
Liwh auny Yuwntih & qpbt) dwdnpubpihtn wdwbgyunbtiph hwdwp: Ophbwl,
qupbtibp Jwdnpubiyp wnweht Ywnpgh wdwbgyubbph (ouyp z;, ¢ = 1,..,n, LW ¢
ipmpnfuwlwbbbtph) hwdwn .

8(; (K(:v—y,t)qo(y))‘ ‘ (22\(/93’—),,3;) =) <
I$I+Iy| R+|y| e

’ (K(z— y,t)w(y))‘_(;%zgéze R 0 -

Wuwhuny, Ii(z,t) W L(z,t) $mbljghwibpp wbtipe nhdtipibghh o
Qrsr-nu, I1, I € C°(Qps1), U Qpsr-nudl puwpwpnuf b (3.1%) hwwuwp-
Jwbp: Shplwpwp, w(z,t) dmblghwid (puyp (3.5)) Lu odpdwd t bnyb
hwyplnpgnibbtpny: Lwih np R > 0, T > 0, § > 0 udwjwlwb &b, www u(z,?)
Pmblghwd pwdwpwpnud t (3.1%) hwjwuwpdwop {z € R,,t > 0} phpnypnui L
u € C®(z € R,,t > 0):
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Yhgnp z € R, jwdwywlwbd Yhyp t, o > 0 Juiwjwlwd phy t Wn ntiypnud

_—'y (23—y;)?
[

Rn 7=l

fI (/ dm) V) (o

Shypluwpwn, gwblugwd z € R,, t > 0, o > 0 nhwpnul

1 _JWL =0 /2
v ] / dy = (3.6)

Uwubwynpwuytbu, bpp o =1,
2|2
K(x —y,t)dy = ——— /_ #* dy=1, zE€R, t>0: (3.7
/ (2v )" S
Widd wwywgnighibp, np v € C(z € R,,t > 0) L ypbnh mbh (3.2) wwydwbp: pw
hwiwp pwdwpwn £ gnyg gy, np Judwjwlwi z° € R, hwdiwp

lim  wu(z,t) = p(z°) : (3.8)
(2,t)(20,0)
(¢>0)

Jbpghtiip Yudwjwlwd & > 0: Lwbh np o(z) Pblghwd wipbnhugp t z°

Ytipnud, wwyw gnynpynud mbh wybwhuh 6 > 0, np
lp(y) —¢@") <e tpp Jy—2°|<4:
Mokip

u(z, ) — p(a®) = / K(z —v,1) (p(y) — 9(z%)) dy =
R,

_ / K@ —,t) (p) — 0(") dy+

ly—=°|<§

+ / K(z —y,t) (¢(y) — p(2°)) dy = L5+ Ios: (3.9)
ly—2°[>5

76



Cuyp (3.7) hwywuwpnypywb

gl < / K(z -, 9)l¢() — 0@%)| dy <

ly—a0|<5

<e / K(x—y,t)dygs/K(:z:—y,t)dy=s (3.10)
Rn

ly—=°|<$

Qhwhunpkbp (3.9) Ghiphwjwgdwb tppnpn gnulwnpbhb.

L) < / K(z — v, Hlo(y) — 9a%) dy <

ly—=°|>6
e 5t : 2
_le—y?
< / K(z —y,t) (le@)| + |o(z°)]) dy <2M / o dy :
ly—a0|>8 ly—=0|>6
Jtinghtibp wjbwyhuh z, np
|z — 2% < °.
5
Wn ntgpnud, bpp |y — 2% > 4,
d 4
eyl =129~ @29 2y —a"| g2 >0 =
Cuyp (3.6)-h mbtbp
e"J%IE 52
|[Iz5] < 2M / e 3% dy <
(2y/mt)
ly—20|>8
52 G_J%E 2
< 2Me‘ﬁ/ @/ dy =2Me %/329"2 40, tpp t— +0: (3.11)

Ry
(3.9), (3.10), (3.11) wnbsnpyubbtphg wbfhgwwytiu htwplnd £t (3.8)

hwjwuwpmpinap:
{z € R,,t > 0} phpnypnut u(z,t) nddwb vwhiwbwhwlmpnbp widthew-
whiu wpwgynud £ (3.3) obplwjwgnuihg

fu(z, 1)) < /K(x—y,t)lw(y)l dy < M/K(x—y,z» dy— M,
R, R,
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huy ¢t = 0 nhiwpnud yphinh nubh (3.2)-p, npuptinhg htplinud t (3.4) ghwhwpwlwbp:
Liwh auny wwywgnigynud 6o (3.4") wihwwuwpnipmbbbpp:
bpp z € R, t > 0 yplinh nbh

inftp:fK(x—'y,t)inftpd'y < u(z,1t) S[K(x—'y,t)suptpd'y = sup ¢,
Rn Rn Rn Rn
Rn R,

huly £ = 0 ntiypnuf phnh nuh (3.2)-p, npptinhg htiplnud £ (3.4°) ghwhwypwlwip:
Ehnptdh wuywgnigwd &

§ 3. ILmditwi dhwlimpymip: Uwpuhdinuih uyqpmbpp: Imddwh
wipinhunp juipnjwdmpymap uljqpiwljud pmaljghujhg
Lowbwlkbp B = B(z € R,,t > 0) pninp g(z, t) $nblighwibinh pwqingeymbp,

npnbp nppwd tb {x € R,,t > O0}-nui b vwhiwbwihwly b Yuwdwjwlwb

{z € R,, 0<t<T} sbpupnuf’
gwilwgwd 7' > 0 hwiwp gnymupnith nbh wybwheh C(T) > 0 phy, np

lg(z, )| < C(T), tpp z€R,, 0<t<T:

Stinh mbh htiplyuwy wbnnuip:
Rlinplad 3.3.1 B pwqingepubn wuaplubnng

Lu =vu — Ngu = f(z,t), € R,, t>0, (3.1)

u|t=0 =p(x), x€ R,, (3.2)

panph midnnin dhubb kb

Uhis phnptidh wwwgnyghh wbgbtn’ Gotbp dhwyb, np (3.1), (3.2) hbnph
Inwdwd dhwympnibp Juwpth b wywgngt) bwb B guoehg wdtih (wyb guonad:
Lowbwltbp B,-nd, nuptn ¢ > 0 ngpuwgwuwlwd phd & ponp  g(z,t)
$nblyghwbbiph pwqingeynibp, npnip npnpfwd b {z € R,,t > O0}-nud L
pwywnwnnod b htiplyw] wywydwbhb
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Juwiiwjwlwd 7' > 0 hwiwp gnynuypynd nibh wybwhuh C(7T7) > 0, np
g(z,8)] < C(T)e*, tpp z€R,, 0<t<T:

Stinh nbh htiplyw) wbnnuip, npp bbpywjwgbnud tbp wnwig wwwgnygh:
Rhinpkaf 3.3.1 (3.1), (3.2) pubinph nednuin dhali b By, o > 0, quuunad:
Whbhwup t, np B = By C B,: Lokbp bwl, np uwhiwbunhwlnipywi wwjdw-

oh pwgwiwnipwd ghwpnd (wnwig npbt wyp wwydwbh) (3.1), (3.2) wbnph

Inudnuip Jhwiyp st:

Rtnpld 3.3.1-h wwyugnyg: Yhgnp uy(z,t) U ue(z,t) Pnblighwibpp

(3.1), (3.2) jubmph udnuibtp 0 b wwyplwinud 66 B nwohb: Wn phiypnud

w(z,t) = uy(z,t) — ua(z,t) Pnibljghwi

Lu=u—Agu=0, z€R,, t>0, (3.19

u|,_ =0, z€R,, (3.2

fubnph udnud £ L wupwinud © B quuhb: Gw bwbwlndd £, np gwbljugud
T > 0 hwidwn gnymupynid nibh wybuhuh C(T') > 0 phy, np

lu(z,t)| < C(T), z€R,, 0<t<T: (3.12)

8nyg pwip, np
w(z,t) =0, z€R,, t>0: (3.13)

(3.13)-p wwwgnigtint hwdwp $hpubbp Yudwjwlwd (2°,t°) € {x € R,, t > 0}

Yty b gnyg ypuwibip, np
uw(z®,t%) =0: (3.14)

Jhipgbtibp Qudwjwlwb € > 0 b nhypwpykbp
wi(z,t) =e(|z2 + (2n + 1)t) + u(z,t), z € Ry, t >0,

$nubghwitipp, npgptin wi-p hwlwwwypueiwind t hwjwuwpnipjwb  we
Jwunwt 4+ Opwbhd, w_-p hwiwwwpuulowind © — Opwbhd: wy L w-
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Pnblghwbbtipp wuwpwont &b C%(z € R,,t > 0) N C(x € R,,t > 0) nuuhb
U pwjwnwpnud &b
Lwy =¢, Z€ Ry, t>0, (3.15)

hwjwuwpdwbp: wy pnubljghwibpp pwydwpwpmnud bo
wi|t=0 =¢lz’, = €R,, (3.16)

ulgpbwlwd wwydwdhb: Swiwdwh (3.12)-h° gynuyeynid nubh wybpwh dtd R, np
{|z| = R, 0 <t <t°} quibwjhb Jwibplnyph pw

Wil g = eR?+(2n+ Dte L u wer =
0<t<t0 0<t<t0
>eR? — |u|’ wer 2 eR2—-C(@% >0 (3.17)

o<gtt0

(pwbh np eR? — C(t°) — +oo, btpp R — o0): LOn npnud, Yupnn hbp
thpwnplp R-p wybpwd o&d &, np B > |2° u (2°¢°) UYtypp poilwd t
Qro = {|z| < R, 0 < t < t°} qubh Jbphh hhdph Gbpunul: Ogqyultbp
htuplyw) wonnuihg, npp htiin Yuwywgnighibp:

Lfdw 331 Hgnpe 2(z,t) pmblghwh wuophuwbnol b C*(Qr) N C(Qr)
nuupl, nppbny Qr = {|z| < R, 0 <t < oo}, R > 0, b optfwd b hlaplyuy
huaphngeyrubiibprf

1 Lz>0 Qg-nui,

2 z| 0 >0,

> z‘ wien 2 O mpupbn °-& npllt npulul pho b

o<gt<to

Un nlaypnid
2(z,t) >0, (z,t)€Qre={|z|<R,0<t<t%}:

Swoyh webting (3.15), (3.16), (3.17) b wi(z,t) Pnblghwbliph hwiwp
Uhpwnbny LEddw 3.3.1-p" upwinud bbp, np Qg o-nul wi(z,t) > 0, dwubwdnpuw-
wtu wx(z°,2%) > 0: Shypluwpwp
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—e (|2°2 + (2n + 1)t°) <u(2°,t°%) < e (]a°P + (2n + 1)t°),
npuptinhg
lu(2®,t%)| < e (|2° + (2n + 1)¢°) :

Lwbh np £ > 0 Yuwdwywlwd t, upwingd Gop (3.14) hwjwuwnpnipnibp: Bhinptdo
wwwgnigywd t:

Ltafdw 3.3.1-h wyuwgnyg: Gwypupbbp hwljwunn hpwnpnuyainid: Ghpwnptibp
gnyupynith mbh wibwhuh (21,61) € Qg 0 Ubyp, np 2(zh, ¢ < 0: Yhypwpybbp
v(z,t) = e *z(z,t) dmblghwh: Mwpg t, np

v(z',t') <0: (3.18)
v(z,t) wihpbnhwy $niblghwd Qg o thwl gubnu pinnbinud . hp thnppwgnyb
wndbipp. gnyupynil mbh wibwhuoh (22,¢%) € Qg 0 Yhy, np

v(@* ) = min w(z,t):
(zt)ep 40

Swiwawgb (3.18)-h
’U(.’L‘Z,tz) <0: (3.19)

Lhiddwgh 2. b 3. wuwjdwbbbph hwiwdw)h

'vlt=0 = (e7*2) |t=0 20, v

_ -t
e G|
0<Lt<Lt0 0<Lt<t0

nwyh (z%,¢%) Ypp sh Ywpnn wuiplwity ng quith {|jz| < R, ¢ = 0} wpnph
hhupht, ng b quuih {|z| = R, 0 < ¢ < ¢°} Ynndbwht dwhbplngphb: Seplwpwn
(z2,%?) Ytpp Guwd Qg o qubh bhpphb Yhy © Yuwd wwplwbnd t guudh Jtphb
hhiphti’ |2%| < R, 2 = t°: Unwehl nbuwpnui, tpp (22,¢2)-p dhihdnuih Yhy t,

v(@?,t?) <0, v,(2%t}) =0, wvpe (%) >0, i=1,..,n,
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bnpypnpn nhiwpnud

v(@?,t%) <0, (2%t} <0, Wy (2%,t%) >0, i=1,..,n:

bnlnt nhwpnul §)

Lz(2?, ) = L(e'v)(2?,1%) = ' (v + v, — A0) <0,

a:=:c2
t=t2

hisp hwiwunud & ddwgh Lowuwpdwbhb: Lidwh wwwgniggwd L

Yhgnip u(z,t) dublghwd wwyplwibndd &t B pwqinpuip b (3.19), (3.2)
fubnph ndnud £ Uhwingpjwb phnptidhg htiplnad €, np wyn indnuip whgp t
hwdpdlyoh (3.3) Mnuwwunbh hopbguuny ppiwd uddwid htig: Siplwpwp w)b
uwhdwbwihwly t wipnnge {z € R,,¢ > 0} Jhuwpupwdmpndnud b pwywpwpnud
t (3.4) wihwywuwpnupynbbbphd: Wuwhuny, phnh mbh htiplyw) whngnup:

@inpld 3.3.2 (Vwpupinuih uliqpmipp) B puquingepubn wuplubinyg
(3.19), (3.2) manpp puomuip pujupupnnd b (3.4) whhwjuwwpngemdibib-
phi:

@tinptd  33.1-h wwwgnyghg phind &, np  ehpiwhwnnpnulwbnupwh
hwywuwnpdwbd huniwp Ynghh fubgph uwhdwbwihwl ndnuip odypwd t htiplywy
hunpynipynibbtinny’

1. dwdwbwlh uygpbwlwd ¢ = 0 wwhhb |hotny Jhw)b wopbnhwp, ndnaip
widhowwhu nunbnud t witne nhdbptibighih pnnp ¢ > 0 hwdwp:

2. bpt dwiwbwlh ulgprbwlwd ¢ = 0 wwhhd dnuwip hwjwuwp & gpngh
wibbnpbip, pwgwonipjwip nplit Yph higpwd wubiv thnpp 2pgwlwyph, npptin
wih gnulwd t, wwyw gwiljwgwd ¢ > 0 hwdiwp dnuip puninud £ ppuljwb
pninp Ygpbpnud: % bpwbwynud £, np (3.1), (3.2) mbnpny Ohwpwgnynn
stpinupjwd puwpuddwd wpwgnynitbp wigtine &, hisp, hhwplb, gnyg t pwihu
fubnnh ng thwpdtip hwiwwwpuowbnugnip pinge)wid tplinyphb: updngp)wih
pwnwddwb bplnypbtph wowdt) dognhy bwpwgpnypwd hwiwp wihpuwdbog

t nhypwplty Unghh wytijh pwpn bnhp ng gdwiht nhybiptbghw) hwdwowpdwb
hwdwnp:
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@inptf 333 (Ulgpiwlpul  dmblghunhg mddwh  wiplighunp

Yuwujwdmpyuh Swohit) Hgnipe ug(z,t) hus(z,t) pniblghuwblipp wuplubnot
ka B pugungepubn

4
Ult—AmU]_:f(x,t), zERﬂ) t>0)
\'u'l |t=0 = <P1(5U), VS R’rn

4

uy — Ngug = f(z,t), x € Ry, t >0,

\ullt=0 =pa(z), z€R,,
pbaghpbabph muonntabp &a: W nhwypnod, Gpk npht € > 0 huwatwup

|01(z) — o) <&, =€ Ry,

wpu

lui(z,t)) — us(z,t)| <e, zE€R,, t>0: (3.20)

Wupgnyyg: Yhupwnplbbp u(z,t) = ui(z,t) — uo(z,t) punptinmpynin: u(z,t)
$nubyghwd wwpwinud £ B pugdnypjwip

u—Ngu=0 x€R, t>0,

u|t=0 =¢(x), x€R,,

Umphh fubnph dnut £, npptin @(z) = @1(z) — 2(2), |@(@)| < & Jbpp
swnuwnpywdhg htpmud &, np w(z,t) ublghwd vwhdwbuwpwly t {z € R,,t > 0}
Yhuwpupwdnipynionyd U hwiwdw)b Jwpuhdnuwh uygpmibph puwywpwpnud t

—e < inf(p1 — @2) = inf o < u(z,t) = t) — £) <
e < ipf(py — ¢2) = inf o <u(z,1) = wy(,8) —ua(z,8) <
< supyp =sup(py — @2) <€, T € Ry, >0,

R, R,
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whhwywuwpmpubbbpht, npyptnhg htyplnad £ (3.20) wihwywuwpnigymbp:
Ehnptdh wuywgmgywd &

Ulgplimljults  pmiiljghuphg mdiwir  wiplhghunp  Gujowdnpywi
pugwluwympywb ophlwli: Fhypwnplkip Unghh htiplyw) tubnhpbtpp (<hwljw-
nupd» shpdwhwnnpnulwbngaywd hwwowpdwd hwdwp)

4

U + Uoge =0, x € Ry, t >0,

(Ko) 4
=0, € Ry,

\fu’olt=0 z 1

4

Upg + Unge =0, x € Ry, t>0,
(Kn) 4

\fu,nlt=0 =e"™cosnx, x € Ry:

uo(z,t) = 0L u,(z,t) = e e cosnz,n =1,2,...,z € Ry, t > 0, $nubiyghwitipp
hwdwwwipwuuwbwpwnp (Ko) L (K,) mbnhpobph indnuibbp 60 L wugpubnud
tb B puqinpwip: (K,) bnpnud uhgpowlwd $nblighwd (pnpnp wdwbgyuybbph
htup Jhwuhd) hwjwuwpwsuwth pup z € Ry dgpnud & qpgh, bpp 1 — 00,
wjuhbpl’ (Ko) ubnph uyqpiwlwd $nblighuwghd: Uwluwyd, ophbwl, tpp z = O,
un(z,t) — wo(z,t) (ndnuibbiph pwppbpmpnip gwilwgwd ¢ > 0 hwdwp dgypnud
t widtipgh, tpp n — oo: bpnp.

|t (0,8) — uo(0,8)| = 1, (0,2) = e ™™™ — 00, bpp n— 0o

Tymunflith uljgpmbpp: Wdd nwnuibwoehpbibp Unohh fuiinhpp withwiwubin
stipdwhwnnpnuljwinpwd hwjwuwpdwd hwdwp: Wohwpyp €, op pwdwpunp t
nhypwplyty hwiwubn ulgpbwljwd wwjdwbng nhiwpp.

Uy — azAwu = f(x’t)7 VRS an t> 07 (32]‘)
u|, =0, zE€R,: (3.22)

Thypwnltibp
v —a?Aw=0, 2R, t>T7>0, (3.23)
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f0|t=T = f(z,7), x € R,, (3.24)

lbnhpp, nph pudnip Ywhdwd t oz, ¢ hmpnowlwdbbphg b 7 wwpwdipphg.
v =v(z,t,7):

Uotiip dhwyh, np (3.21), (3.22) bnhpp, hbswbu b wihpwihd hwjwuwpdwb
ntwpnd, hmpnfpwwih hwdwywpwepwb hnpuwphinuing pipdnud £ a = 1
ntiwphi:

Stinh mbh htiplywy wonnuip, npp Ynginud £ Ymuwdtih uygpnibp:

Rinpkd 3.3.4 (‘bymunilih uqpmipp) 2hgrp v(z,t,7) Prubihghwui (3.23),
(3.24) puainpp pudnat b Gn nlypnot

t

u(z,t) = /v(z,t, T) dr (3.25)
0
Prilthghwt (3.21), (3.22) pbnph prudnat b
Uwugnyg: Wdwoghing u(z,t) dnblighwd pup ¢ pmhnfuwljpwih, hwpth
wnbtiny (3.23) wwydwdp wypwbnud Lop

t t

u =v(t,z,t) + /'vt(a:,t,T) dr = f(z,t) + /'vt(x,t, T) dr: (3.26)
0 0

Lwih np puwp z; hmhnfuwlwbbbph wdwigdwd gnpdnnnipimbn Jwphh €
ptinuipinful hinphigpwih bowbh pul, wuyw

t t
Agu= A, /fu(x,t, T)dr = /Amfu(z,t, T)dr:
0 0

Stypliwpun

t

t
ug — @2 Au = fz,t) + /’ut(z,t, T) dr — aZ/Amfv(x,t, T)dr =
0 0

t

= f(z,t) + / (vi(z,t,7) — a®Lv(z,t,7)) dr = f(=,1) :

0
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Wuwhuny, » $nblighwd pwywpwpnad t (3.21) hwywuwpdwbp: (3.25) obpluyw-
gnuihg widhowuytu htiplnud £, np v $ncblghwd pwwpwpnud t (3.22) wwydwidhi:
Rhinptdh wywgmgywd k:

Wuwhuny, tph mbkbp hwiwotin hwywownpdwd hwdwp Ynphh fubnph nodne-
uip, Utbp Ywpnn tbp gpty Dwl

u; — a?Agu = f(z,t), * € Ry, t >0,

u|t=0 = ¢p(z), z € R,,
Unshh fubinph jmdnuwip: Gopwnptbp f(z,7) $nblighwd wipbnhuwp & U wuwplw-
bnui t B puqimpywip, hul ¢ $mbdyghwid wipnbnghunp t L vwhiwbunhwly: Wn
nhiwpnud b mbh

u(z,f) = / () dyt

(QW

t

Sy

x—y

e 4e2(t—7 >f(y,7')dy, z€R, t>0,

iptiupn, pbn npnul » € B:

§ 4. Townp junhpp wwpwpnpuljui hunjwuwpiwi hunfwp
THupwpltbp htiplyw) fubnhpp. ity
Lu = — Uy = f(z,t), 0<z<l, 0<t<T,
hwywowpdwb wyb pudnuip, npp pwywpwpnud t
w(0,t) = pi(t), wu(l,t) =pe(t), 0<t<T,
bqnwjhh wwjdwbbtiphd
u(z,0) =p(z), 0<z <],
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uyqpbwlwh wwydwbhib:

Wyu fubinhpp Yngynud & wowehl fuwnp jubinhp shpdwhwnnpnuwlwingsjwid hw-
Juuwpiwb hwiwp: Lawbwybbp

Qr={0<z<l,0<t<T}, To={0<z<I, t=0},

Dir={z=0,0<t<T}, TIor={x=10<t<T},
I'r ZFT :TOUTLT UFQ’T:

Cp-b Yngynud £ Qr nupnuibilyywd wwpwpnjwlwb ign: Wnwehb fuwnp fubinph w(z, t)
udnuip wwipwint t C%(Qr) N C(Qr) pwqinpywip. v € C*(Qr) N C(Q7):
Stinh mbh htiplywy wonnuip:
linptaf 3.4.1
Lu = f(z,t), (z,t) € Qr, (3.26)

ul.. =, (3.27)

wnmughli ppunp pbanph jrudnodp dheull L
Uuwpgnyg: Thgnp uy(z,t) W us(z,t) dnblghwdtpp dhubngh fuwep fubnph
Inudnuibtip tib.

4

qu‘l = f(z)t)7 (z) t) € QT)

\IU’III‘IT = (p')

4

L’U;g = f(z)t)7 (z) t) € QT)

kUZII‘T =@

Un ntiwpnud v(z, t) = uy(z,t) — ua(z, t) Pnblighwd
Lv=0, (z,t)€Qr,
'v|I,T =0,
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fubnph dnud £ Leddw 3.3.1-hg htiplnud &, np
v(z,t) >0, (z,t)€ Qr: (3.28)

Yuipwnpbiny onyb nupnnipmbbtpp —v(z,t) = us(z,t) — uy(z,t) $nblighugh
huwdwp Juypwbwbp
—v(z,t) >0, (x,t) € Qp: (3.29)

(3.28), (3.29)-hg htuplmd &, np
v(z,t) = uy(z,t) —ug(z,t) =0, (z,t) € Qr:

Ptinptih wuwgnigwd t
Hupwpltbp htnplyw) bnhpp

Uy —Ugy =0, (2,t) € Qr, (3.30)

uIFT =¢: (3.31)
Stinh mbh htuplyuy whnnuip:
Pinptaf 3.4.2 (Cwpupinuih uligpmibipp) Hgnip u(x,t) $pnibygpeut (3.30),
(3.31) pbappp pudnd b n nhwpnid

ming <u(z,t) <maxy, (z,t)€ Qr: (3.32)
I'r Ty

Wwumgnyyg: Lawbwlbhp
m = rrlyTn<p, M = rrllﬂgmp :

Yupwplbibp 2(z,t) = u(z,t) —m $nblghwi: Wbhwyp t, np 2(z,t) Pnubl-
ghwt pwywpwpnd t (3.30) hwywuwpiwbp b

zII,T >0:
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Cuyp Lhddw 3.3.1-h,
2(z,t) >0, (z,t) € Qr,

wjuhbpl’

U(.’L’,t) Z m, (z’t) € aT :

Gpwptiny ongh pupnnnipmbbtpp M —u(z, t) $mblghwh hwiwp Yugpw-
bwbp
u(z,t) <M, (z,t) €Qr:

EHnpbIh wwywgnigywd t:

(3.32) whhwywuwpnypynibibphg plunud t htiplyw) wbnnuip:

Plinptaf 3.4.3 (Ungmygh Swpupuinufh ugpmbpp) Hgnipe u(z,t) dnibhghui
(3.30), (3.31) pmanpp jprudnk b Un nlaypnod

max |u(z,t)| < max|ep| : (3.33)
(z1)eQr Lr

tinptid 3.4.3-hg htiplnud & (3.30), (3.31) ubnph (nddwb wopbnhwy Jwiudw-
onupniip tignuijhtt $nibilighwyhg:

@hinphf 3.4.4 (Gapuyhhh pmblighuyhg pmddwi wipighunp fuwfudwdnyywi
dwuply) Hgnp ui(z,t) b ug(z,t) prublghwbbpn

4

Uy — Utzz = f(z,t), (z’t) € QT:

\U1 rp — PL

4

Uy — Ugpe = f(z’ t)) (zat) € QT’

kuzer = P2,

pbanhpbbph midnntabp ka: Wy nhypenod, ek npht € > 0 hwdwnp
— <
lo1 — 2| —_— €,
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wa

lui(z,t) —up(z,t)| <€, (z,t) € Qp:

Uwwgnyg: Yhypwnplbbp u(z,t) = ui(z,?) — ua(z,t) puppbpnypnibp: u(z,?)
Pnilighwi

Ut — Uge = 0: (.’L’, t) € QTa

ulFT =,

fubiqph udnud &, npgpbin @ = @1 — @2 Swlwduyt Rhnpbd 3.4.3-h° mbkbp
|’U;1(.’L’,t) - Uz($,t)| = |U(£L’, t)| < max |’U;(23,t)| < rrrl‘ax|<p| -
T T

= n%ax|<p1 — o <&, (z,1) €Qr:
T

Finptdh wuwgnigywd

§ 5. Pmhnjuwlpuaitph wigunpiwha dhpnnp

bbswyhu wpnhb 0oty kbp bwhinpn gllunud, thmhnfuwlwbbbnph wbowpdwd Yund
dnpbth dbpnnp dwubwlwd wdwdgywbknpny nhdbptibghw; hwjwoewpnuibbkph
nwdwh hpdbwlhwd dhpnnbtphg & Wu wwpwgpudnd Jupwnting  bdwb
nuupnnnupynbdtin, hbswybu (wph puwpwiddwd hwjwuwpdwd  gtiypnwd, Jhbp
pwpwnptibp Snpyth dhpngp shpdwhwnnppuiwinewi hwwuwpdwb wowehb
fuwnp fuinph hwdwp Q7 = {0 < z <1, 0 <t < T} yphpnypnu;

Sunfwulin hujwowpnuifip: Yhypwnplbbp htplyw) bnhpp

U — QU =0, O<z <, 0<t<T, (3.34)
w(0,t) =u(l,t) =0, 0<¢t<T, (3.35)
w(z,0) =p(z), 0<z<I: (3.36)

Lwbh np (3.34) hwjwuewpnuip gdwihd t L hwdwebn, wuw tpyne dwubwdnp
[nwnuittiph  gnuiwpp e wyn  hwjwoewpdwd  dnud . @npdkibp  qupbly
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(3.34) hwjwuwpiwd wyiwhuh Jwubwynp (udnuibbp, npnbg gnuiwpp Yhh
(3.34), (3.35), (3.36) ubnph nidnuf: Lwiu udkibp htiplyw) odwinwl bnhpp

qupbty (3.34) hwywuwpiwb wyb ng pphyfhwy (ng bnybwpwnp gpn) jndnuibbnn,
npnip pwywpwpnad b (3.35) tqpught wwydwbbbphd L nbkb

w(z, t) = X (z)T(¢) (3.37)

phupp, npptn X (z) dmiblghwd Ywhwd t dhwyb z pmpnuwlwihg, T'(t)
$nubighwid Ywhawd t dhwjb ¢ hmpnfowlwibhg:
Stnwnpbtiny (3.37) yhuph w(z,t) $nblighwd (3.34) hwjwuwpdwd Jhy
upwbnud tbp
X(@)T (t) — X" (2)T(t) =0,
npplinhg, hwoyh webting X (z) # 0, T'(t) # 0, wpwbnui Liop

X'(@ _1T(@)
X(z) a2T(t)’

Lwbh np (3.38) hwjwuwpnpywid dwhe Jwup Gwhwd t dhwyb 2-hg, hul we

(3.38)

dwup thwyb ¢-hg, wwyw (3.38) hwjwuwpnipiwd we Ut dwh dwutipp bnybwpwnp
hwywuwn 66 dhingd hwugpwpnioht: o hwugpuipniop ipwbwltibp —A-ny.

X'(z) _1T'(t) _
X(z) a2T({)

Wuyptinhg X(z) U T'(¢) $mblyghwibph hwdwp uipwbngd tbp

-

X'(z)+2AX(z) =0, X(z) £0, 0<z <], (3.39)
T'(t) + Aa®T(t) =0, T(t) £0, t>0, (3.40)

unynpulwd nhdtipbbghw] hwyjwuwpnuibbp:  (3.35) bguughd  wwydwbbbiphg
niiitibp
X0)=X()=0: (3.41)

Wuwhuny, X (z) $nublghwih hwdwnp ugpugwip
X"()+2X(2) =0, 0<z <1, X(0)=X(l)=0, (3.42)
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Cypnupd-Lhnujhph - pbnhpp, npb nwnidbwuhptyp Ghp  (wph ugpuidwb
hwjwuwnnuip ndbhu b gnyg tbp by, np dhwyyh

2
An = (Wl—n) n=12, .

wndtipbtiph nhwypnut (3.42) ubnhpb nubh

Xn(z) = Dy, sin ?w

ng gqnywljwh jdnud, nupbin Dy, -p Yuwdwywwd hwupugpnd &
An-hl hwdwwwipwupuwing (3.40) hwywuwndwd pinhwingp (ndnudd ©

To(t) = Ane ( !

ﬂan) 2

nuptn A,-p Yudwywlwd hwopupnid
Wuyhuny.

mwan

2
— t
un(z,t) = Xp(2)T,(t) = Ane ( I ) sin ?z, n=12,..

$dnblyghwdtipp  (3.34) hwjwuwpiwd  dwoebwynp  udnuibbp &b, npnbp
pwdwpwpnud b (3.35) bgpuyht  wuwydwbbbpht L Gbphwjwgynud th bplym
dnubiighwibph  wppwnpwih pbupnd: W dnblighwibphg dblp juwhajwd t
thuyh z Ppmpnfuwlwbhg, Jgnup dhugl ¢ pmpnfuwlwbhg: Wu jmdnuibtipp
Ywnnn 66 pwdwpwpt) bwhibwlwb fubgph (3.36) ulqpbwlwd wwydwdhb Thuyb
dwubwinnp ¢ Pniliyghwbtiph hwdwp:

di Jtpwnuwnbwbp (3.34), (3.35), (3.36) pinhwinip fubnphi: bopwnptbp A,
gnpdwlhgbbtpp wybwhehb tb, np

u(z,t) = ;un(az,t) = ;A"e sin —-z (3.43)

ownpp, hbswytiv bwl wjb owpplinp, npnbp wpwgynud Bh wju 2wppp bplyne wbgud
nuy z-h L dbl whgwd puyg £-h winwd wn winuwd wdwbghjhu, hwwowpwswath
gnuquiitip b hwdwwywpuwuhiwb pugingeynudbtiph Jpw:
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Mwnpq t, np u(z,t) $nblghwd Ypwdwpwph hogwtiu (3.35) bgpwjhb
wwjdwbbtphb, wibwbtu § (3.34) hwjwewpdwbp: (3.36) ulgpbwlwd wwjiwbhg

qubkbp A, gnpdwlhghtpp: Lwbh np
u(z,0) = p(z) = iun(ﬂc, 0) = iAnsin LG (3.44)
n=1 n=1 l

www A, gnpdwlhgbbtpp ¢ $nblighwih puyp vhbnwbbph 2wnpph Jbpnodngpywh
Snupytih gnpdwyhgtph Go (bbpwnnnui t, np ¢ Pmblhghwd wybuhuhd t, np wyb
Ywptigh t Jtpnidt) puyp vhbnwbbph Snugbh swpph).

An:(pnz

o~

l
/<p(£) sin 7r_ln§ d¢ : (3.45)
0

Wuuhuny, dkbp jndnuip Ghipwjwgphbp (3.43) 2wnph phupnd: bpl wn awnpp
puwpwdhypnut b, wd wyng owppnd dephuwjwglwd $nblghwd nhdptiptbghih <,
www, hhwpyt, wyb sh Qupnn (hiob) (3.34) nhdbptibghw hwjwuwpiwb nodna:
Lwibh np
|[un(z, )| < |Anl,
wuyw

> 1Aq (3.46)

pYwhb swppp (3.43) $mblghnbw) swnpph hwiwp dwdnpwing t, b (3.46) swpph
gniguihypnipynibhg htiplnu t (3.43) swpph hwywuwpwswth gniguihpnypynin
{0 <z <!, 0<t<T} puwgingeyud Jpw: Swiwdw)h dnupytih swpptiph hwypbh
hwplnipynibbtph’ (3.46) swpph gniguiupnieywd hwiwp pwdwpwn t Gbpwnt),
np ¢ € C[0,!], nbh Yypnp wne Ypnp wbpbghwy wdwbgyu) b gphinh ndh

@(0) = (1) =0 (3.47)

wwyiwbn:
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Nunuibwuehpbbp w(z,t) U Uge(z,t) Publghwdbph wbpbnhwypnuypnibp:
THupwnltibp

mwan

2
uy(z,1) ~ 2 %_ﬂin = — (%)2 ; n2Ane (T) g sin %x, (3.48)

wan\ 2
—) ™m

=, myet = (T) 3.49
Uy (T, ) ~ B2z (7) Zn Ape sin -2 (3.49)
n=1 n=1
swnptinn: Thgmp || < M: Wy ntiypnud
!

2
Aa =2 / p(§)sin "¢ de| < oM,

0

npptinhg htiplnud £, np

&%u,, m™m\2 — (@)21?
< oM (—) VA

ox? |~ 1) €

Wybhhwyy &, np gwblwgwd to-h hwdwp, nuptin 0 < 6, < T,

Qn) _ opr (”‘m : _(W;Ln)zt"
S| <om (TR) e . t>to,
Funl (e (7) 5 oa:

Shyplwpwn, (3.48), (3.49) oswppbpp  hwjwuwpwswh gmguihypmd G
{0< < 1, to <t <T} pwqinyeywd Jpw: Wtyhi.

ak+mun
ozkotm

?

2
T 2m+k k — (@) tO
<2oM (7) n2mtkg2me l t > to,

L (3.43) swnpp Ywphih t gwiljwgwd whqud wdwigh) puyp z-h b pup ¢-h L
uwpwgywd swpphpp Yhosd hwjwowpwsuh gniqudtip {0 <z <1, 6 <t < T}
pwginipjwi Jpw: Lwbh np to-0 Qudwpuwd & wyw {0 <z <1, 0 <t < T}
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yphpnypnut (3.43) swppp (3.34) hwywuwpdwd udnud £ L wbgbpe nhdliptbghh
t: Ukbp wuwwgnigtighbp htiplyw) winnuip:

Rinplaf 3.5.1 Mgnipe ¢ dnillighwis whpbnhuap F o € C[0,1], nith ppnp
wn lppnp whpbnhuon wowbgpuy b ipbnh mbh (3.47) wwpbwbanp: Uy nlaypnat
(3.43) puuppny Gbplpujugfud u(z,t) prublghwd, npupkn A, gnpowlhghlipn
npnpynnd kh (3.45) puwbuudhn, (3.34),(3.35), (3.36) pbanph jnidmd b

Wiwfwulie hawjwowpmdiitip: Yhypwplbkbp

U — QU = f(z,t), 0<z<l,0<t<T, (3.50)
w(0,8) —u(l,t) =0, 0<t<T, (3.51)
u(z,0) =0, 0<z<I: (3.52)

fubnhpp: bbaytiv jwph pupwiddwd hwjwouwpdwd giypnud, (dnuip hogpptiop
> .
u(z,t) = ;un(t) sin - (3.53)

yphupny ¢ hmpnfuwlwip nphypwnplbing npuytu wwpwdbpp: Swywewpdwd f(z, 1)
we dwup bbpywjwgbtbp Snuyybh swppny.

l
= 2
fat) =3 fOsn e fO=] [rensmTea: e
= 0

Stnunptny (3.53) U (3.54) wppwhwypnpynibbtipp (3.50) hwjwuwpdwb dhy
upwbnu tbp

(e 9]

Z (u;(t) + (W;ﬂ)zun(t)) sin ?z = i fn(t) sin 7r_lnx,

n=1
nuplinhg

wan

¢@+(7Qﬂwa=n@,n=Lzm: (3.55)

Un(t) dublighwd npnpbine hwiwp wpwgwbp hwugpupnid gnpdwbhgbtinny
unynpulwb nhdtipkibghw) hwywuwpnud: Cup (3.52) uygpbwlwd wwydwdh

(oo}
u(z,0) = Zun(O) sin ?z =0,
n=1
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htippluwpwip
un(0) =0: (3.56)
Ldtigny (3.55) unynpwlwd nhdptintibghw; hwwuewpnuip (3.56) gqnywlwd
uliqphwlwd wwydwing Jupwhwbp
t

un(t) = / ( ) (=) fal1) dr - (3.57)

0
Stnunntny (3.57) wppwhwypnuypinidbp (3.53)-h dtig upwbnud tibp (3.50), (3.51),
(3.52) pubnph pnudnuip’

u(z,t) = f: /e_ (T> (t= T)fn(’l') d'r) sin ?z :

n=1 0
Wihwiwubie Ggpuyplt wuydwiilip: Thpwpltbp wnwehh fuwnp fubnhpp
stindwhwnnpuwlwinpuwid hwwowpdwd hwiwp pbphwbng phwpnad.

U — Q2Uge = f(z,t), 0<2<l,0<t<T, (a>0)
u(z,0) =p(z), 0<z <],
w(0,t) = py(t), u(l,t) =us(t), t>0:
Wyu fubinhpp nudtgne hwdwp bpindbbp tnp v(z, t) wihwyy dnblighuw.

u(z,t) =v(z,t) + Ulz,t),

npytn Ghpwnpynut £, np U(z,t) $nblighwd hwypbh & Wy v(z,t) dnblighwd
wtyp t (hoh

Uy — Qe = f(x t)
hwdwuwpdwd judnd, nuptn f(z,t) = f(z,t) — (U; — a®Us), L pwunuwph
htiplyw) ulqpbwlwd L tgpuwyhb wwydwbbbphi
v(z,0) = &(z) = ¢(z) — U(z,0),
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’U(O, t) = 1y (t) = ﬂl(t) - U(O, t),
v(l,t) = pi2(t) = pa(t) —U(L,0) :

Caypptbp U(z,t) dnblighwd wbuybu, np
Fir(t) = fia(t) = O

Wn bywypwyny Ywpnn top Jbpgbty (hbsybu qwph pupwidwd hwdwewpdwb
ntiypnuf)

Ule,t) = m(®) + 7 (mat) — ma())
by wuyby, u(z,t) dnblghuwh hwiwp phghwbnp topughd  wwydwbbtpny
hubnhpp pbpdtg »(z,t) $mblghwih hwiwp hwiwoebe gpuyghl wwydwbbtpny
fubinnh:
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Q-pniju 4
Ejhwyumfjmt yphygh huwwawpmdatip

§ 1. Swpunhhly Pmalghwmitp: Lwujjuup huuwuwupdwb
Pminunitiimpuy mdnuip: phth pwhwdabktpp

Thgnp @ C R, n > 1, phpnype & Ywubkbp, np w(z), z € Q, Pmblyghwh
hupinihy t Q phpnypnu, tpk v € C?(Q) UL pwwpwpnu &

AU = Uy, + oo+ Ugz, =0 (4.1)

Lwuyjwuh hwwowmiwbn:

Uotilip, np gnynygynid mbh $mblyghw, npp nipupwbsjnu Ytigpnud puswpupnud
t Lwywuh hwjwuowndwbp, vwlwib hwpdnbhy sk, pwbh np wbpbnhweyp sk n = 2
ntiypnud winwhuh $nublighwyh ophbwy t

1

reen (s

),ﬁ+£#a
u(zy, z3) =

0, z3+x5=0,

$nblyghwd, npp fuqynui t (0,0) Yhpnu:

n = 1 phypnui (a,b) C R; thewlwjph ynpw npnafwd hwpdnbhl $nibl-
ghwibpp % = 0 hwwuwpiwbh dnuibbp 6 L mbbh w(z) = ¢z + co phupp,
npptin ci-p b c2-p Yudwjwlwdh hwupugpnibbbtin bo:

Utiq htipwppppbint t 7 > 1 ghwpp: Wu ghwpnud hwpinbhly $nibljghwibtph
pwquinipynibp twwybu hwpnup b

Swpdnbhly $rubyghwdbph phumpyub tbe Jwnplnp nhp mbbh hupnldy phuph
hwninbhy $nbljghwitipp:
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“Yhgnip £€-00 R, n > 2, pupudnpiud Quwdwpwlwd Yty & 2z € R, Ytph
htinwynpnipynibp € Yhyphg Bwbwlbbp p-ny. p = p(z) = |z — €|: Qpbkbp pninp
u(z) hwndnbhy $niblyghwbitnp, npnbp Ywhdwd &b dhwyd p(z)-hg: bpt u = u(p),
wyw

(z; — &)

Uy, = UpPz; = Up 0 )

i — &i)? 1 i — &)
(@ = &) +up——up7(x 6), 1=1,..,n,

Ugizs = Upp™ 3 3
p p p

Au=upp—|—(n—1)%:
P

Stpluwpwn, dbq htipwpnppnn hwpdnbhly $nublghwitipp

!

" up
'u,pp—l—(n—l)?=0, p >0,

unynpwlwd nhdtiptibghw] hwjwoewpdwd (ndnuibtn bb: 7 = 2 pliypnul wyn
hwywowpdwd ponhwbnp dndb t

u(p) = ¢y lnp + co,

huly 7 > 2 phiypnut’

1
U(p) = + g,
pn—2

npptin ¢; b ez Juwdwywlwd hwupuwpnibbtin to:

Wuwhuny, n = 2 ghwpnud ¢ In |z — €] dnublghwbbipp, huly 7 > 2 ghiwpnul
p;_cﬁ $nublyghwitipp R, \ {£} whpnypnut hwpdinbhy bo:

Lungpuup hwifwwwpibwh prbqudbelopuwy prdnol § Glapmd qulpni-
ey Ynsynud &

1

1D|Z—€|, ZER \{6}7
U—¢=1{7%" 2

-1
(n —2)on|z — "2’

z € R, \{¢} n>2,
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$dnblyghwd, npptin o, dhwdnp udbpwih Jdwitiplngeh Jwhbptivh t R,-nui:
Uwubwynpuytiu, n = 3 ntiypnud dnbnuibibpuy) (ndnuit nh

Uz —§) = & z € Ry \ {¢},

47r|:v
iphiupp:

Ogyytyny Ouyppngpunulyne pwbwadlhg nnipu phpbbp pwbwalbp, npnbp dkbp
Logywgnpdtibp htipuquinud:

TYhgnip Q-0 R, wpwpwdnpjwd vwhiwbwihwl phpnyp £, 9Q € CL, L
v e C?(Q), v € CYQ): Wn ntiypnud
/'UAu dzx = /'v div(Vu) dz =/ div(vVu) dx — /ww dx =

Q Q Q

Q
ou
= /(quu,z/) ds — /VuV'v dx = /'UE das — /VuV'u dz,
oQ Q Q Q

npuptin v-0 8Q-hh pupdwd Q-h bljwipdwdp wpypwpht Jhwynp bnpuiw) JEyypnnph
t: Wuwhuny, dtbp uypwgwbp Qpabh wnughl pubudhn.

/quu dx = /vg—u ds — /VuV’u dx: (4.2)
Q 9Q Q

Uydd thpwnpliop v, € C?%Q): (4.2) hwywuwpnpywh dbe hnuting v L v

$nibighwitiph nbpbipp Yupwbwbp

ov
Q Q

(4.2) hwjwuwpnyenibhg winud we winud hwiting upwgjwd hwjwuwpne-

/uAfv dr = ua—v ds — /vaVu dz :

pInthn Yuypwbwbp Qpath kpypnpn pubnudhn,

/('uAu—uA'v) dx:/( g—q: - %) ds: (4.3)
Q

9Q

Uypwgywd pwibwdltiphg plunud t htnplywy wbnnuip:
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@tinplaf 4.1.1 Mgnipe Q -i wwhibwlupul) pppnyp b 0Q € C, u(x) Ppnibly-
ghwh hupdnbpl FQ-nuk hu € C%(Q): W nlwyprurt

ou
9Q

Uwwgnyg: Wwywgnygp htipplinud t, ophiwl, (4.2) pwiwdlhg, ytpgbting v = 1:

§ 2. Mmpliighwyitip: Onnpy pmalghwh dliplujugnuip
wynpkighwiatph gmiwph piupny

Yhgnip Q- R, pupwdnipjwh uwhiwbunhwy phpnyp &, Q € CY, U u(x)
Pnublighwd wwplwinui £ C%(Q) puquinpywip, v € C%(Q):

Muwpgqnupjwb hwdwnp tbpwnptbp n = 3:

Jdhngitibp Yudwywiwd £ € Q b nhypwplbp Q. = Q@ \ {|lz — ¢ < €}
whpnypp, nuptin € > 0 Quwiwwlwd phy & npp hnpp & § Yph 6@ baphg
niitigwd htinwnnpnipniihg.

O<e<r = min |€ —vy| :
3] yeaQIE Y|

1
Yhpwntbp (4.3) pwbwadlp u(z) b v(x) = m $nbjghwdbph hwdwp
1
(pbphwonin gypnd gt v(z) $ubljghw wtipp & Jtpghty =
$nblghwd, bpp n # 2, b In|z — £ $niblghwd, tpp n = 2): Lwbh np v(z)

Pnblyghwd @ phpnypnut hwpdnbhly t, Hupwbwbp

Au Su 1 o 1
dz — - u= (——))ds, =
/|x—§| ’ a/ (au z— ¢ “aum(u—a))

Qe =
ou 1 d 1
-/ (a_u T=g  “ov. (|x—— s|))d3‘”+
z—E&|=¢
Su 1 o 1
*/(5 |x—£|‘“%(|x—e|))ds’”' (44
Q
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Lowbwltop M = max |Au(z)|: Lwbh np
re@Q

/ E%E of<v ﬁﬁaz

lz—¢|<e lz—¢|<e
szdgo/smGdG/rdr—QM?re
wyw
/| —§|dx_>/| de, tpp £—0: (4.5)

Lowbwltiop M; = max |Vu(z)|: Lwbh np
ze@

ou dSz dS:n
Ou < Vu, )| -2 <
f v le—q| = /‘K =g

le—¢&|=¢ |z—¢|=¢

1 M,
< - f |Vu| dS, < ?147rs2 = 4 Mie,
|z—¢|=¢
wiyw
ou dS,
v |z —¢€|
|z—¢|=¢

Luwih np {|z — €| = ¢} udlipwgh = Ypnu pwpwd Q.-h bliwypiwdp wppwphb
—z
Ghunjnp bnpduyp % Jtlypnpd &, www wjn udbpwih Ypw

0 1 (v 1 E—z\ z—§ {—z\ 1
52(&—&)‘(zm—ﬂ’e )__(M—W’s )‘?

/ u(z) (%z (Wlfﬂ) ds, = g% / u(z) dS, = 81—247r82u(0) = 4mu(6),

|z—¢|=e |z—€|=¢

—0 tpp €—0: (4.6)

nuptin 6 € {|z — £| = €}: Muyph

/ u(z) Bi <|x L |) dS, — 4mu(€), tpp € —0: (4.7)

ja—¢l=s
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Uaghtiny uwhiwbh (4.4) hwywuwnpnipjwb dhe, tipp € — 0, hwoth webtiny (4.5),
(4.6), (4.7), Quypwbwibp

1 Au ou 1 o 1
ul) =~ ] - w—g “ /(a Z—q uﬁw(lx—fl))d‘%:
R

-1
Swoyh wnbbynyg, np n =3 qtqunui Iz — | U(z — &), nuptin U~ Lwujjwuh
hwywuwpdwd dnbnudbigpw) (dnudd £, upugwd hwjwuwpneynudp Jwpnn
tibp gnhy htiplywy pliupny.

0 ou
w(é) — / Ulz — &) Au(z) de + / (’u,(x) o U= - o U 5)) ds, :

Q aQ
Jbpowwtu, £-0 hnfuwphbting z-ng, z-p hnfuwphbbing y-nd ugpuggwd
hwywuwpmpinop Yponnioh htaplyw) phupp.

u(z) = / U(z — y)Au(y) dy+

Q

0 ou
v [ (s0) g Va9 - GoUG—v))ds, zeQ: (49
9Q
(4.8) pwhwadlp yphnh nubh gwbljwgwd n > 2 auhnquliwinpywd nhwpnu:

uo(z) = /U(a: —Ypo(y) dy, z€Q, (4.9
Q
$rubilighwd, npuptin po € C(Q), Unsinud t duefuyuyple wraplilighwy po foypne-
Pywdp:
u(@) = [V -t ds, =<Q, (4.10)
5Q
Prnubiyghwd, nuptin p; € C(0Q), Ynginud & wuupg 2kpipp wniplilighuwy py fopne-
Pywp:

w@ -~ [ Fe=0 pwy s, z<a, (11)
Q
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$nibiyghwid, npyptin p2 € C(Q), Unginul t hphluulh shpoph wmplhghuy ps
fupnipjwdp:

Tdjwp sk Dwpl), np wwpg 2tpgph b Ypliwlh otipgph wnptibghwbpp @
phpnypnut wigtpe nhdtipkbghih b hwpdnbhly ndlighwbtip tb:

Uhibp wwwgngtighp (n = 3 nhwypnul) htiglyw) wbnnuip:

linphid 4.2.1 Hgnip Q-4 R, ypwpwongepul wwhiwhwapwl iphpnyp L
8Q € C': Um nhwypnid gublpugud u € C*(Q) prmubihghw hbplugugynig
b dwrjuquyple wrnipblghugh (Av puprugopuaty), wupq 2kpaph wnipkighuwh
¢ —% haprupyuiy) b iplloulh 2kpinh wninkaghwgh (u pupnieyunty) gnutwnh
nbupny:

Styphwbp: Eph phnpbidnad hppuopulpfwd w(x) prublghwb huplnbply b
Q phpnypnol, wupu Q-nid uyl hupny b bbpluyugdl) wunpq b hphlouh
2ipapliph wmapbbghwybliph gnabwuph inbupgny:

§ 3. Uhgohtih Ywuht phnptip

Pinptf  4.3.1  (Cwlhtiphmpuyhlt  dhohh  dwuhl)) Hgnpe Q-4 R,
nwpudngepul unbwpulpul phpnyp £ u(z) dnblghwb hupdnbply b Q
nhpnypnat, o € Q Yuatwpulpub hloap b Uy nbwypnid gublpugud R-p hu-
tup, 0 < R < r(2°), npuptin r(2°)-4 2° Gaph hnuwfnpngemial  0Q kqphg,
nbnh nibp

w(z®) = anli"‘l / u(y) dSy

|20—y|=R
hwjuwwwpnogaynian, nupbin o, dhwynp wpbpuyp Bwhbphnygph Guwhbpnbub b
R, -nud:
) pnupnyf, zo € Q flapnid hwpdnbply pnibighuyp wpdbpp huanjuuiun
Exo htuppnbny b R swumugnyf udpbpuyh fpu wyn dndblghugh pognibwud
wnpdbplbiph Bhohh prfrupubnulpubtpl:
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Uuwwgnyg: Rhinptith wwywgnygp swpwnplip 7 = 3 phwph hwdwnp: Lwbh
np Br(z°) = {ly —2°| < R} gqminp twwbtu pblwd t Q yhpnyph dbg
Br(z%) = {ly— 2°| < R} € Q, wyw u(z) € C*(Br(z")) L Ywnnn kip Yhpwnt|
(4.8) pwiwalip u(z) $mblghwih hwiwp Br(z®) qbpnud.

L e 1o
u(z) = 4 / ov |z —uy| a5y

|#0—y|=R

1 8 ( 1 o
‘E?‘/ ngz(m_m)d%,zeBﬂzy

[0 -yl=R

Uwubwynpuyby, ipp z = 2°, Jupuwbwbp

1 ou(y) 1 / o 1
0y _ _ _ — =
u@) = 4R / v dSy 4T u() Ay, \ |20 — | 4y
|20 —y|=R l0—y|=R
1 0 1
5 | 05 ()
|z0—y|=R
du(y) — 0 {|20 _
pwih np puyp Btinpkd 4.1.1-h nbkbp e dS, = 0: {|z° —y| = R}

|z°—y|=R
udtinwjh ¥ Yhypnd pupdwd Br(z°) ghnh bjwpdwdp wpgpwphd dhwygnp Gnpdw)p
0
y—x
7 Ytlppnpd & SEplwpwp, win udtipugh dpw

i 1 __(y_xo')y_zo)__i
vy, \|2°—9y|) Rz —y]®*  R2

1
y / u(y) dS, :

[2°-y|=R

u(z°) =

Etinptih wuywgnigywd

tnptid 4.3.1 - hg pfunud & htiglyw) wonnuip:

Hinptaf 4.3.2 (Cwjwuyhii dhohth dwuhl) YMgnpe Q-4 R, pupwdnipyuh
uebuyralpuls pppnype b w(z) prublighws hupadnapl b Q iphpnypnat, 2o € Q
hunbwpudpul Y b U ghyprnd gullugwd R-p hwnfup, 0 < R < r(20),

105



nbknh ntbh

u@) =T [ wwa

|2°—y|<R

huafwwwupngenian, nppbn % dpuurnp Qanp dwafwyl b R, -nod:

W) pmupny, xo € Q hlapnal hupdniply grubiighuyh wnpdbpp hunjuwwup £
Zo QEluppnbny b R swumuynnyf qamnal wyn prblighuyp plgnibud wpdtiplt-
ph vhghl pfupwbulubpi:

Wwpmgnyg: Yhgnip n = 3: Cwp Bhnphd 4.3.1-h, Juwdwjwlwd p-h hwdwp,
0<p<r(z?),

4mp*u(z®) = / u(y) dS,
[20—yl=p

boyptgntind wju hwdwuwpnipniip puyp p-h 0-hg R, uwpwbnud top

R

TR = (4 [ wwas,— [ wwa

0 [0 —y|=p |«®—y|<R

f¢hnptidh wwywgnigyuwd t:

§ 4. Uwpupimup uljqpmbpp

Ywukbp, np @ C R, ywhpnypnut »(z) wipbghugp $ublighwi odypdwd t dheh-
Oh hwipympjwdp, bpt gwilwgwd zo € @ Ytiph hwdwp b gwiljwgwd R > 0 hw-
dup, 0 < R < (2%, ptinh nibh htiplyw) hwwuwpnigynibp

u(z?) = 0,3%" / u(y) dy : (4.12)

[2°—y|<R
fgtinptid 4.3.2-hg htiplinud &, np hwpinbhly $nbljghwdbtinn odypywd tbh Jdhehbih
hwipnupywdp: bpwlwbnud win hwpnggguwdp pbnypwgpynud Bb pnpnp hwpdnbhly
PInblyghwbtipp. hipwgquynud dtibp Juwwgnighbp, np ptinh mbh bwl Ghehbih
Jbpwptipyw) hwiwnuwpd phnpbdin:
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Uhghtth hwiplnipjudp odipwd pnibljghwidtiph hwdwp pinh nuoh htigplywy
winnuip:

Latdw 4.4.1 dagnp Q-4 R, wpwpwongewb wwhidbwblwpudy inhpnyp k
uw(z) prblighws wuoplpubnat t C(Q)-hi b odyfwd b Bhohlih huaplmueyutp:
U nhwypnid pud

u(x) =const, x € Q,

ik

miny < u(z) < maxu, z€Q: (4.13)
Q Q

Uunpmgnyg: Lowhwlhtbp M = maaxu: 3nyg pwip, np tpt gnynpnd nbh
wjbwhuh z° € @ Ytup, np 4(z°) = M, wwyw u(z) = M, z € Q:

Jbpgbtibp Juwdwjwlwd ¥y € Q Ytup b gnyg ypwbp, np u(y) = M: Uh-
wghtp ¥ U 2° Yapbpp L = L Jbpowynp phljjwiny, npli wdpnnonipjuip
piywd t Q@ phpnyph dhe: L phljjwih b 4Q tgnh hnuwnpnipynibp trwibwlkip
d = min |z — y| > 0 U L phljjuyp dwdlkibp B; = {|z — 2| < g}, t=0,1,...,N,
thguzetfrfp pwiwlh ginbpny, npyptin 22 € LN8B;_y, i = 1,...,N, pn npnud
y € By:

Thgnp n = 3: Cuy (4.12)-h nbbbp

u(z?) = 3 /u(z) dz,
4m(d/2)3
By

npp Yupbih £ wpgpuignt

/ (u(z®) —u(z)) dz =0

Bo
ptiupny: Rwih np 4(z°) — u(z) Ghpwhiyptgnwiwiht $nblighwd whpbnhwy
Bo-nuf U ngpugwuwljwd £, wwyw Bo-nud 4(2°%) — u(z) = 0, wyuhbpd® Bo-nui
wz) = u(z®) = M U, Swubwynpuubu, u(z!) = M: 2! Ytaph W By ghnh
hwiwp Yplotiny Gnygh nupnnipymbbbpp Yupwbwbp, np By-md 4(z) = M,
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Jwubwynpuwhu’ w(z?) = M: Upyhd Jupwpbnyg Gnyb nupnnupnibbbpp wpn-
jnubpnu Gupwhwbp, np By-nul u(z) = M, dwubwynpuwtiu® u(y) = M:

by wyuwbu, wuwgnigbghlip, np Ywd Q-nud u(z) = const Ywd Q-nui phinh
mbh (4.13) wihwjwuwpnyeywd we Jwup: Yhpwebing wuwwgniguwd wonnuip
—u(z) dnblghwih Bhwpdwdp Yupwbwbp, np Ywd Q-nui uw(z) = const Luud
@-nui yptinh nubh (4.13) whhwwuewpnpywd dwhe dwop: Lidwd wwywgnigy wd
t

Ltddw 4.4.1-hg htuplmd t, np (Gddwgh  wuwydwbbdbpht pwjwpwpnn L
hwupuwipnibhg pwppbp w(z) $niblghwt Q phpnyph bhpunud sh Ywpnn poinnidt)
wybughuh wpdbplitn, npnip hwywuwp 60 Q-nui wyn ncliyghugh Thdwgnyh Yud
hnppwgnyl wndbpbbpht: Stplwpwn, wnuhuh $nblghwd hp dEdwgnyd L
hnppwgnyl wpdbpbbpp pinmonud t 4Q tigph Ypw: Stnh nibh htgplywy winnuip:

Lafdw 4.4.2 Mgnp Q-4 R, ypwpwongeywb wwhibwblwnpuul inhpnyp L
u(z) Pprublihghruh wuoplpwlinot E C(Q)-hi i odyfud E ihohlih hunplmipuip:
U nbwypnal wd

u(x) =const, x¢€Q,

ik

minu < u{z) < maxu, x€ Q:
inu < u(e) < maxu, € Q

bhwnlb, yptinh nih bwl htyplyw) wybh pnyp winnuip:

Lddw 4.4.3 agnp Q-6 R, ypuwpwdngenul wwwhibwbuapuly nphpnye L
u(z) Ppmbhghul wunplpubnd F C(Q) L odymjwd F hghlih huaplngepunip:
U nhwypnak

minu < u(z) < maxu, z€Q:
inu <u(z) <maxu, EQ

Lwih np Q@ phpnypnt hwpdnbhly  $nbljghwd  odpwd t  dheohlih
hwplnipywdp, www Laddw 4.4.2-hg L Lddw 44.3-hg widhowuytiv htigplunad GO
htiplywy wonnuibbtipp:
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Plinpd  44.1 (Ukdwgoylh  wpdbiph  ulgpmbpp) 2gnpe Q-4 R,
puwpudngepul wwhidbwlwpul wnhpnge b uw(x) gniblghwb wuaplubnat b
C(Q)-ht h muminthly b U nhuypnof fuk

u(z) =const, z€Q,

lpud

minu < u(x) < maxu, T € :
it (z) < ma. Q

Pinphd 44.2 (Ukdwgnylh wpdliph ey ulqpmipp) Hgnpe Q-4 R,
pwpudngepul wwhilwhunpul wnppnyge b u(z) gublghwi wuoplubnot b
C(Q) pumqinippubn b hupinbpl b Wy nhyprd

minu < u(z) < maxu, z€Q:
pinu < u(z) < maxu, < €@

§ 5. “hphjuith jighp: Imddwh thwimyeymap b wipinhunp
Yuprjudmpimap kqpuyht pmayghuyhg

Yhgnp Q-0 R, ypuwpwdnpuwd vwhiwiwhwl phpnyp & C3HQ) N C(Q)
pwqinpwip wupwbnn w(z) $nblighwd Ynsynud t

Au = f(z), z€@, (4.14)

uIaQ = p(z), (4.15)

HYppfuybh plgpp ndnd (f(z) L oe(z) ppwd dnblghwibn th), tph wib
@ yhpnypnud pwywpwpnyt € (4.14) hwjwuwpdwbp, huy 8Q tigph Jpw (4.15)
tqpwyht wwjtwbhb: Lnddwd vwhiwbnuhg wlbhwypnpti htplnad &, np (4.14),
(4.15) fbnph ndtithnyeywb hwiwnp wihkpwdbop t, np hujwowpdwi we dwup
U tignwyht $nbiyghwd (hokh wopbnhwy, f € C(Q), ¢ € C(0Q):

fFtinptid 44.2 - hg plunui G htiplyw) bpyne wbnnuibtipp:
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Phnptaf 4.5.1 (Uhuympyuh phoptaf) (4.14), (4.15) mbanhpp sh jupny
nthklow) Lhhhg wallyh midmnd:

Uwuwgnyg: bhpuwnntbp hwiwowlp: Yhgnp v (z) U us(z) Inblighwbbpp
(4.14), (4.15) fubgph (nudnuibibip Go: W ghiypnud w(z) = vy () —ue(z) Pniblhghwib

Au=0, z€@,

“laQ =0,

hwdwutn fubnph (udnwt £ Lwih np u € C(Q) $nibilighwb hwpdnbhly £ Q-nud
L maxu = na%nu = 0, wyw puyp Bhnphd 442-h u(z) = 0, z € Q: Phnpkdh
wuwgnigywd t:

Hnpbd 4.5.2 (Gapuyhli pmilghunhg mddwi wipighunp fuwudwdnpywi

dwuhit) Magnip uq(z) b us(x) Priblyghwblipn

4

A'u’l = f($), HAS Q:

\'u’l |3Q =¥ (23),

4

AUZ = f(z)’ zc Q1

\'u’2|3Q = 902(2:)1
pbanppabph mdnobabp &a: g nhwypenad, ek npht € > 0 hwdwp

lp1(z) — pa(2)| <€, z€0Q, (4.16)

wupu

luy(z) —ua(z)| <e, z€Q: (4.17)
Uupugnyg: Hhypwnlbbp u(z) = u1(z) — ua(z) pwppbpnipyuin: w(z) dnoy-
ghwi
Au=0, z€@,
Uz = ¢(2),
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fubnph pudnud t, npptin () = @1(z) — pa(z): Cuyp Bhnptid 44.2-h L (4.16) wh-
hwjwuwpnipjwi’

—e<minp <u(z) <maxep <g, x€AQ,
< ming < u(z) < maxyp < Q

npuptinhg htigplunud £ (4.17): Bhnptidh wupwgnigwd t

Uhblh “*hphhyih fubnph (nddwd gngupjwd hwpgh nunuibwoehpnypjwbb
whgbtyn’  Obphwjwgbtbp Unwdwph ophwlp, npp gnyg £ guwihy, np
Unohh fubnhpp Lwyjwuh hwjwuwpdwd hwdwp ngpjwd £t ng  Unnblpyp,
npnihbiplh pwgwliwynud £ nddwd wbpbnhwyp Jwhdwdnyeyniip ulgqpbwlwh
dnibilighwitkiphg:

Ugunfwph ophliwli:  Hhuypwplbbp Unphh hbplyw) uinhpbbpp  Lwujjwoh
hwywuwpiwh hudwp

4

Yo + Uowe =0, T € Ry, t >0,
(Ko)  Yuo|,_,=0, z€R,,

U =0, z€ Ry,
\ 0t|t=0 1
4
Upgt +Unze =0, x € Ry, t >0,
(Kn) 9 'u,ﬂlt:0 =0, z€ R,

1.
'u,ml = —sinnz, € R;:
L =0 p

shnt
wo(z,t) = 0 WL us(2,t) = 3

hwdwwwpwuswbwpwn (Kp) U (K,) bnhpbbph (ndnuibbp Gb: (K,) fubngpoud
uqpbwlwh $nbljghwd hwjwuwpwsunh pup z € Ry dgqpnud & gqpngh, bpp
n — oo, wyuhbiplt (Ko) ubnph ulgprbwlwd $nblighwihd: Uwlw)b, tpp z # 77,
§=0,%1,..., uy(z,t) — uo(z, t) pwppbpnuypymbnp sh dqpnud gpngh, tpp 7 — oo;

sinnz, n =1,2,..., z € Ry, t > 0, pnililjghwbtinp



§ 6. innpY Pmalghuyh Gliplpuymgnuip ghnnud:
Q-phap pmialghut qinh huniwp

Thpwplbp 7 = 3 ghypp: Yhgmp v € C3(|z| < R): Wn nhiypnud, puy
(4.8) btiphuwywgiwh, gwilwgwd z, |z| < R, Yhyph hwidwp ptinh nih htglywg

hwjwuowpnipynibp.
1 Au(y) 1 Ou(y) 1
=g [ pog e [ 8 s
I‘yI<R ly|=R
—— : 4.1
o [0 g (Gt (419
IyI R

Jbpgbtbp Ywiwjwlwd ¢ Ybp, npp sh wuwplwondd {|z| < R} thwl gbnhb.
|€] > R: Wn phiypnui yplinh nbh htiglyw) hwjwuwpmpmbp,

1 Au(y) i 1 ou(y) 1

“ar ) ey @ v JE—q
IyI<R II—R

f u(y) auy(|§ y|)d8 (4.19)

Iy—

bpnp, (4.19) hwjwuwpmpnibp wpwiwine ywpwing {jy| < R} gbnud

—1
Uhpwetbp Qphbh (4.3) bpypnpn pwbwalp u(y) L e — 4] dnublyghwibtiph
hwdwnp.

[ (0 () + gy @

[y|<R

1 Ou(y) 1 1 / 3} 1
“w ] o Eu™ | "W, \jey) P

ly|=R ly|=R

1
1 hwpyh wnbtbp, np yr— $nublighwh hwpinbhy t {|y| < R} ghnnud:

Pugiwwyuwplbbp (4.19) hwwuwpmpymip jwdwpwlwd d(¢) (€] > R)

wipinhwyp $nbljghwyny U upwgywd hwjwuwpnipynidp winuwd wn  winud
hwikbp (4.18) hwjwuwpnipynibhg: YWupwbwbp, np gwiljugwd z, |z| < R, Yhyph
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hwiwn ptinh mbh htplyw] hwjwowpngaynbp
1 g 1
u(z) = o / ( —y|) Au(y) dy+

E—y| Jz
lv|<R

1 ou(y) ( 1 dE) )
T ] o ol e P

[y|=R
1 6 (49 _ 1 )dS- 4.20
+47r||fRu(y)(9Vy (If—yl lz—yl) Y (4.20

i

Utip Dwuwypwlyd £ jnpupwbsnn z, |z| < R, Yph hwiwp qpblty wybwhuh €,
€] > R, Ytup (€ = &(x)) W d(€) = d (§(z)) dmublyghw, np {|y| = R} udpbpwyh Jpw
yptinh mbkhw
1 d@
lz—y|  [§—9l’
onybmpubp: Wn giypnd (4.20) hwywuwpnpywi we dwuh bplpnpn gnuiw-
ntitht hwwuwnp Yihth qpogh:

@hpnptilp € = £(z) Ytpp

lyl = R, (4.21)

E=alx)z

phupny: Qupbtibp a(z) nubljghwd: Cup (4.21)-h nubkbp
laz — 9> =d’lz —y*, |y|=R,
nuptinhg
(@® - d)|z]* + R*(1 - &°) = 2(z,9)(a — &), [y|=R:
Jdbtipghtny a = d?, ymokhwibp
P&~ Vel + B(1-d)=0, |yl =F,
(@~ 1) (@laf ~ B) =0, |y =R,

npiptinhg htiplunud &, np



(hwiwaduwyh (4.21) wwydwdh d > 0): Llwpkbp, np d2 = 1 nphwpp dbp

wwhwbehbiphh sh pwywpwpnud, pwbh np wyn ghwpnd upwgyni £t ¢ = 1,
&(z) = z, htipluwpwn €] = |z| < R, hisp hwhwunud & dbp wyb Ghpwnpnpiwinp,
np [£| > R: by wjuybu, tph Jtpgbkip

d(E@)) = d(z) = |—R| - %x

RZ
(byunpkibp, np wyu nhwypnut |§| = z |2|ar:| | | > R), wyw (4.21) Gnybnipnibp

ybinh nubh: Shpluwpwn, puyg (4.20)-h, phinh mbh

u(z) = f Gz, v) Aul) dy + / P(z,y)u(y) dS, (4.22)
ly|<R ly|=R

hwywuwpnipynibp, npp
Au = f(z), |z|<R, (4.23)

U e = ©» (4.24)

Yhppjybth fubgph ddwd hwdwp Ypoguioh htigplyuw) gbupp (wjugptn Go-
punpnud £, np u € C3(Jz| < R))

u@) = [ et d+ [ Peye)ds, (4.25)
ly|<R ly|=R
npuptin

2

R -1
B ""D ] W < B, |2 < B,

Cla4) = o [—| iR (l

P(z,y) = iG’(:zlc v), |y|=R, |z|<R: (4.26)

G(z,y) dnublghwi Yngnus & (4-23), (4.24) tubinph Qppblip prctlghu, hul P(z,y)
$nblyghwd Ynginud t (4.23), (4.24) ubnph Mnauunih dhgndy: Mnuwunbh Thenyh
hwdwn Yunpbih & upwbwy, npng hdwugng, wybih wwpg phop: Swiwdw)b (4.26)-h
u (4.21)-h,

Ple.) = 5,-Gle.9) = (VGle.9). ) =
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1 1 d 'y)
=—1{ -V +V ,—= ] =
47f( “le—y]  YlE—9l'R

_ Lt mmy d€-w) ) _ 1/ zoy o -y v
dr\ |z—ylP  [£-yP"R/ 4w\ |z—y]® Plz—-yP R

R*,
4m|z — y|3 R? "R
1 E A
= 'y 1 _— y =
dm|z —y|? R?J’R
R2 _ |.’IZ|2
= = R, < R: 4.27
R V=R (@27

Ywdwjwlhwd » > 2 gtuypnud (4.23), (4.24) bnph Sphth $nblyghwd nbh

htuplywy pupp

G(z,y) = 4

( R n—2
N IR )
+

on | lz—yl"? ' |R? 2
BE Y

|yl <R, |z| <R, tppn > 2,

RZ
z — —=Z

——In , <R |z|<R, & n =2,
s Rz —y| ly| < R, || np

huly Mnuwunth Shendyp’

RZ _ |Z|2

P(z,y) = onR|z —y*’

ly| = R, |z| <R,

npuptin o, Shwynp udptipwgh dwitipbnyph Jdwitpbub t R, -nui:
Utbp gnyg ypytghbip, np tpt (4.23), (4.24) bnph (dnuip gnynipymb mbh
U wwyplwin t C%(jz| < R) pwqinpjwip, www wn udnuih mbh (4.25)

yphupp: Showpwlwd fubinph nddwd gnynipwd Ybpwptngwy Gpbbp Shwb, np
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tpt f(z) W ¢(z) $nblghwibpp pwdwpwpnud G0 npnpwlh wwyiwbbbph, www
(4.25) pwbwalny ppywd u(z) dnblhghwd wyn pubngph dnut t: Stnh nbh
htigplywy wonnuip, npp bbplwywgbnud Gbp wnwbg wwwgnygh:

Rinplaf 4.6.1 &pk f € C(jz| < R)NCY|z| < R), ¢ € C(|z| = R), wupu
(4.23),(4.24) hpppybip panpp pudnaip grngeyn nilh b ppdnat b (4.25)
ruwlauahmy:

§ 7. Luyjjuuup hunjwuwpiw@ hunfwip Hhphhifh jpinph mStwh
gnympymap qhnpmu

Wu wwpwgnpwdpnud Juwwgnighbp Rtinptd 4.6.1-p f(z) = 0 dwubwynp nhuy-
pnui: Stinh nubh htiplywy whnnuip:
Rhinphd 4.7.1 Bpk ¢ € C(|z| = R), wupu

Au=0, |z| <R, (4.28)

Ul y_p = @ (4.29)

Mphhybtih pbnpph prudnodn grynogemda nbp b ppafnod £

u@) = [ Pewe)ds, ldl<R (4.30)
ly|=R
ruludhny:
Uwwgnyg: Wuwgnygn Jugpwpkbp 7 = 3 ghiwyph hwiwp: Lwje gnyg pwbp,
np u(z) Pnbihghwd wwyplwind t C%(|z| < R) pwginpywip L hwpinbhly t
(4.27) Mnuwunbh dhendyp bhiplwywgbtibp htiplyw) phupn

R—|z—y+yf _ R-lz—y’—Wf-2z-y1) _
AnR|z — y3 4mR|z —y|3

= — — :R, :
AnR|z —y| 27R|z—y|?’ o =l < R

P(z,y) =
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Rwbh np, tpp |y| = R, |z| < R, ptinh mbh

(x—1v,7) ( 1 y) 3( 1 )
%Y _pl(v,— 2 ) =R— [ ——
|z —y? Yle—y|'R Ay \ |z — |

hwywuwnpmpnbp (GYwypkbp, np v, = %), wiyw

1 1 & 1
P(z,y) = _m - %B_I/y (m) , ly|=R, |z| <R,

1 (4.30) pwhwalip Ywnpbih t gpb) hbiglyw) phupnyd
1 o(y) 1 9 1
u(z) ATR |z — 9] 45y o2 v(v) Ay \ |z — 9 v |Z <R
ly|=F lyl=R

Uypwgywd pwiwdlp gnyg t pwihu, np u(z) nblghwd wwng stpph b Ypybwlh
obipyph wnpbbghwibtinh gnuiwp & Shplwpwn, w-b wupwbnat t C°(|z| < R)
pwqinpwip L hwpdnbhy t {|z| < R} gbnnud:

Uy gnyg pwbp, np u(z) $mblghwd wunphwinu t C(jz| < R) pwquinypjwbp
L pwjwpwpnud £ (4.29) tgpughl wwydwbhb: Jhpgbtbp Qudwjwlhwd z° Yoy,
0| =

|2 R, L gnyg ypwibp, np

u(z) = o(2°), tpp z—2° |z| <R: (4.31)

Jhipghtibp Guwdwywlwh € > 0: Lwbh np ¢(z) Pniblghwd wipbnhugp t 2° Yhpnd,
wuyw gnyupynih nbh wybwhuh 6 > 0, np

lo(y) —o(a)| <&, tpt |y—2°| <4, ly|=R: (4.32)

(4.22) pwbwalhg widhowwtiv plunyt t (Whpwobind wyb u(z) = 1, |z2| < R,
$rublyghwyh hwdwp), np
/ P(z,y)dSy=1:
lyI=R
Stypluwpuwn, u(z) — ¢(z°) puwppbpnpynin (2| < R) Ywpnn Gop bpluwjwgbby
htigplywy ptiupny

u(z) — p(a") = / P(z,9)0(y) dS, - f P(z,)p(a?) dS, =

ly|=R [u|=R
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- / P(z,9) (o) — p(2%)) dS, =

lvl=R
— [ PG (b0~ @) dS, + [ Pay) (0le) - 9la) S, =
51(%) 52(%)
= I1(z) + Ix(z),

npuptin S1(6) = {ly| = R} N{ly — 2°| < 6}, S2(8) = {ly| = R} n{ly — 2°| > o}
Qbwhungptibp I;(z) L Ix(z) hbptgpuwbbpp: Cugp (4.32)-h" nbtibp

@< [ Pawlew - p@)ds, < [ Payds, <
51(9) 51(8)

. / P(z,y) dS, —¢, |2|<R (4.33)
=R
(oquytightip buwl wyb thwuphg, np Mnuwunbh Shondyp nspuigwuwlwb t):
Lowbwlhtibp M = lliclli% lo(2):

I(z)| < / P(z,9) o) — 0(2%)|dS, <
52(%)

< oM / P(z,y) dS,, |o| <R: (4.34)
53(3)

)
Jlipghtiip |x — z°| < 7 |z| < R: bph y € S3(6), wyw

o &
o-sl =l —a) ~ @) 2 |y -~ oo 25— 2 =2

(4.34) ghwhwypwlwihg vpwinud thp

— |=f*

< —
L(z)| < 2M f P(z,v) dS, — 2M f AT

55(5) 52(6)
2 _ (2 2 2
< M ]R 21 dSy_M4 R?, |x—x°|<g, lz| < R :

=R (5/2)3 2R /2)3
S2(8)

ds, <
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Jdtngbtyny z°-ht pwdwlwbwsunh dny z, |z| < R, Yupwbwbp
|Ia(z)| < e: (4.35)

(4.33) U (4.35) ghwhwpwlwbbtphg upwinud Gop, np 2°-ht pudwlwbwsuh dng
z-tiph hwdiwp (2| < R)

[u(z) — ¢(2°)| < [I(@)] + | L2(2)] < 26,

nuptinhg htippunud £ (4.31)-p: @hnpbidh wuywgnigywd t:
Swonpn wwpwgnwdbbipp ohpdwd 6o wywgnigwd ptnptith npno Jwplinp
Yhpwnnpymbbtphi:

§ 8. Uhghtih dwuh@ hmljumwpé phnptdp

Rinpli 48.1 (Uhohih dwuhli hwlwgupd phoptd) 2pgnpe Q-4 R,
yrupwongepul lpuilwgalpul nhpnyp b u(z) $prubiighwb wanpbnhwp b Q-nuk
l ochymfwd b dpohth huaplngepudp: U nlypnot u(z) $riblghwd hupinbpl
EQ-nuk:

Uwwugnyg: Uhpghtiip Yuwdiwjwlwid z° € Q Yty U pnn R > 0 wjbwyhuhb
t, np z° Ybhyppnind L R swnwynny thwl gmbnp pbywd t @ yphpnypnud.
Br(z®) = {lz —2°| < R} € Q: Rwbh np z° € Q Ybypp Yuwiwjwlwd t,
wwyw phnptdh wwwgnighne hwdwnp pwywpwp b wwwgnighy, np w(z) $nblghwb
hwpinbhl t Br(z°)-nul: v(z)-n| bowbwltbip Be(z®) qhnmud

Av =0, z& Bg(z°),

”IaBR(a;O) = ulaBR(a;O)’

Yhphhuth fuinph (ndnuwip: Lwbh np u| 9Ba@) © C(0Bg(z")), wuw puyp Rhinptid
47.1-p v(z) mdnuip gnymupymib mbh: Yupwpliop u(z) — v(z), z € Bgr(z?),
Pnubighwid: Wu Prublghwd wupwdnud t C(Br(z°)) pwqinipjwin b Bg(z?)
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qghnnui odypwd t dhohGh hwyplnipjwdp, pwih np u(z) Pnblighwid odpwd t
thehtih hwyplmpjwip puyp phnptdh wwydwbh, bwl »(z) $nblghwd t odpwd
thehth hwypynipywdp, pwih np hwpinbhy & Cup Lhddw 4.4.3-h° gbnh mbbb
htiplyw) wihwwowpnipnubbtipn.

min (u —2) <u(z) —v(x) < max (u—v), z¢€ Bp(z®):
I, (1) Sue) ~ o) < max (@ v), =€ Bale)

Uynws Ynnihg (v —v) | 9Ba(a®) = 0, htipluwpwn Br(z®)-nuf u(z) = v(z), wyuhbpl®
u(z) $niblyghwd hwnpinbhy t Bg(z®) qinnui: B4npkdo wuwwgnigdwd t:
Yhpoympymi: Lwptibp, np phinptdh wwwgnygh pbpwgpnul swwhwhgtig
hphtulkh fudnph pusdwd pugwhwyy phupp, w)) wwhwbgdtg dhwyd Thphfuth
fubinph (ndtwh gnynipynubp:
Hupwploud: Thpwnlbip Luwjwoh owbpwipnph (nhgnip 7 = 2) wwpqugnyb
puppbnulwd dnpupynuip: ARwdwliwbwsunh thnpp A-h ghiypnud

1
DU = Ug, gy + Uy B 2 [u(zy — h,22) — 2u(zy,22) +u(zy + h,22)] +

1
+ﬁ [U(il?l, Xg — h) - 2’11;(%1, .’132) + U(.’.Cl,ilig + h)] .

My bowbwynud £, np Au = 0 Lwwywuh hwjwuwnpnuip thnfowphiygnuad ¢

1
U(.’.Cl, 1,’2) = Z [u(a:l — h, .’132) + u(xl + h,xg) + U(.’L’l,xg - h) + u(ml,zg + h)]

hwjwuwpnupywdp, npp ng wy) hi t, pwb dhohth hwplnupywi wpypwhw)ppnup)nid,
npruhtipl w(z) $rublghwih wpdtpp (21, z2) Yhbppnbwlwd Yepnad hwdwuown t
wyn Ytph (21 —h, z2), (z1+h,22), (21, 22—h), (21, 22+h) hwpluwb snpu Yhptipnud
dnublghwyh wpdtiphitinh dhehll pYwpwbwlwihi:

§ 9. dhpwghbkih Gquijhmpjui vwuhb pnptip

Rhnplf 49.1 (Lhpwghlih Gquihmpywh dwehl) 2pgnpe Q-4 R,
ywprudnippul nhpnye b ° € Q nphk hlap b hul w(x) dnbhghrub hupinipl
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EQ\ {z°}-nut: Bpk
uwz)=o0U(z—12"), &pp z—2°, (4.36)

npplin U -4 Lungpuuh huofuoupiduwd dncaqualbiopuy pudnala b wupu u(z)
Pruliighute ° Ylapnd lpuplgh Enpnply wyloybiu, np wpugfwd prufilighud

[hith hupinbply uwaipnng Q phpnypnod:
n = 3 nhiypnnt (4.36) upuplwhls vablih hlaphpuy nkupn,

u(z) =0 (ﬁ) , bpp x— 20, (4.37)
huly n =2 nhypnik
u(z) =o(lnjz—2°), &pp z—2°:

Wwpumgmyg: Uwwgnygp Ywypwnptbp n = 3 niyph hwdwp: dbpghtbp wjbuhuh
R >0, np z° Yubyppniing U R swnuwinny thwl gnibinp pbijwd 1hth @ phpnypenud,
Bgr(z°) = {|z—2°| < R} € Q, W nhypwnltiip u(z) Prublghwh Br(z°)\ {z°}-md:
v(z)-n| Bpwbwytbp Br(z°) qhnnul

Av =0, z¢& Bg(z?),

"’laBR(a;O) = “laBR(a:O)’ (4.38)

Yhphfuth pebgph udnuip: v(z) Pndghwd gnyypynid mbh L wwyplwbnd t
C(Bgr(z?)-hi:

ERtnptdh wuwwgnighine hwdwp pwdwpwp € gnyg pw), np w(z) b v(z)
$blghwitipp hwdpbybmd 6 hpkbg npnadwh yphpnyphtph phnhwing Gwunud
Br(2%) \ {z°}-nui, wyuhlipl® uiwjwlwd z' € Br(z°) \ {z°} Ytph hwiwp

u(z) =v(z') : (4.39)

by wjuytiu, nhgnip 2! € Bg(z) \ {z°} Ywiwjwlhwd Yty t Jdbkpghtbp
gublwgwd € > 0 phy U {p < |z—2° < R} phpnypnud, nuptin 0 < p < |21 —2°|,
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nhypwplbbp htiplywy

wi(z) = + (u(z) —v(@)) + e%

tipnue $nublyghwidbinp, nppbn w4 -p hwiwwwpuwoehwbna t hwjwuwpngpwb we
Gwunui 4+ bowbhd, w_-p hwiwwywpwupwbnud t — Dowbhb: Wolhwypp £ np
wy(z), w_(z) Inublghwibpp hwpinbhy &b {p < |z — z°| < R} phpnypnut L
wy € Cp < |z —2° < R):

{p < |z —2° < R} phpnyph {|z —2°| = R} wpypwphb tigph dnw, pup (4.38)-h,

|zt — &

w(z) ||:n—n:°|=R =€ |z — 20|

{p < |z — 2° < R} phpnyph {|z — 2°| = p} Gbnpphl bgph Upw, pug (4.37)-h,

|zt — 29
wy(z) ||a;—:c°|=p =+ (u(z) — v(z)) ||z_m0|:p + ET =

|zt — z°| 1
=eg——+to0 ; , tpp p—0

p
(pm{l]'l np v € C(Br(z%)), wyw v(z) = o(m), tpp z — xo):

Coypkip p phdp (p < |z' — 2°[) wjbpwd inpp, np

wi(z)la{p<|z—z0|<R} >0:

Un ntiypnud, hwiwduyh dhdwgnyb wpdbph wyqpndph
wi(z) >0, p<l|z—2°| <R,
dwubwynpuugtiv,
w:l:(xl) > 07

npptinhg htiplinud &, np
lu(z') —v(zh)| <e:

Lwbh np ¢ > 0 Jwiwjwlwd &, www ypbnh mbh (4.39) hwjwewpngaymbn:
Btinptdd wwwgnigyuwd t:
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§ 10. Lhnujhih phnptaip

YGwukbp, np  wdpnne pupwdmpwd gy npnoqwd  w(z) $mblghwd
wwhibwlowpuly b fkphhg (Gkpelipg), tpt gymupyub nbh wybwyhuh M
hwuygpunpnid, np

u(lz) <M (u(zx)>M), z€R,:

REnpkd 4.10.1 (Lhoujhih phinplsp) Qupnne R, wpwpwdngeyub kg
npnpfwd Ybkphhg Gk Ghpphhg wwhibwlupul hwpdnipl) dniblighud
hwapuapnia b

Uupugnyg: Yhgnp uw(z) hwpinbhy $nblighwd vwhdwbuhwl t Jtiplhg
(bbpplhg): Wn niwypnud M —u(z) $nibljghwd (u(z) — M $nblighwd) hwpinbhly
t U ngpuwgwuwlwd: Munph, Lhnwph ptinptdp pwjwpwnp © wwywgngt] dhwb
Jwubwynp niyph hwdwp, tpp w(z) > 0: 8nyg pwibp, np R,-nui ngpugwuwljwb
hwninbhy $nbljghwd hwugpwgpnid t:

Thgnip R,-nud hwpinbhly w(z) $nblyghwd ngpuwgwuwlwd £ u(z) > 0 :
Jhipghtibp Guwdwjwlwi 2° € R, [2°) # 0, Yhyp U gnyg pwbp, np

u(z®) = u(0) : (4.40)
Yhgnip R > |2°: Cuyp Rbtnptd 4.7.1-h nibbbp

u(z) = / P(z,y)u(y) dS,, |z| <R,
lyl=R
dwubwynpuwtiu,
u@) = [ Pa9u)ds,
lyl=F

Muwpgnyejwd hwiwp thpwnphip 7 = 3:
L2wih np {|y| = R} uPbnwyh y Yhpbph hwdwp

R—|2°| < |2° —y| < R+ |2,
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wyw
R? — |29 R — |2
4t R(R + |z°])3 ATrR(R — [z°])3
Uypwgwd wihwjwuwpnipymbitpp pwgiwwwgplting w(y)-nd (uw(y) > 0) L

hinptigptny {|y| = R} udtipwyngd” Yupwhwbp

< P(z%y) <

R2 _ |$0|2 o R2 _ |$0|2
< <
47R(R + [27))° f uly) dSy ul@) < ppp T / uly) dSy,
ly|=R ly|=R
e (R? - |2°]%) (R? —|2°%)
R(R* - |Z R(R*— |z
—(R T u(0) < u(z?) < _(R ——|x°|)3 u(0) :

Uypwgwd whhwwuwpmpynbibbpp phnh mobh guiugwd R > |z° hwdwn:
Waghting uvwhdiwbh, tpp R — o0, Juypwbwibp (4.40) hwywuwpnpynibp: @hnpkdb
wuyugnigyuwd t:

§ 11. Lhpdwbh juinhpp Lwujuwuh hajwuwumiug hwiwp qanpmd

Giu wwnpwgnudpnwd Ynhypwplbip Lwyjwuh hwjwuwpiwd hwdwp Lo okl

tqnuyht fubnhp” Lhypdwbh fubnghpp (Qud bplipnpn bgpughtl feiinhpp): Utkip wjb

Ynwnuibwuhptibp dhuyb wyb gwpnud, tpp phpnygpep gnuon 0 W@n febnhpp
htiplyuwn b €.

Au=0, |z| <R, (4.41)
du
— = 4.42
20 ot~ (4.42)

npptin v-0 {|z| = R} udbnwihi punpdwd {|z| < R} ghnh Ghwypiwdp wppwphd
Ghwynp Gnpdwgd £ Lwih np Judwjwlwbd 0 < p < R hwdwp {|z| = p} udbpugh
ypw v = %, wuyjw

6_u
ov

—l(Vu,z)l =y

—_— - T
lzl=p P |lzl=p

jal=p’
Jwubwinpwwbu,

ou 1
E||m|=n "R (Vu,2) ||a:|=R = U

e (4.43)
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Ywutilip, np u(z) dnublghwi (4.41), (4.42) Lbpiwbh fwbnph jndnud t, bph
u € C*(|z| < R)NC(|z| < R) N {(Vu,2) € C(|z] < R)}, (4.44)

pwywpwnpnud £ (4.41) hwdwowndwbp b (4.42) Ggpughd wwydwbhi:

Whbhwyp &, np mddwb gnynpyub hwdwp wihpudiop t, np
felC(z| =R): (4.45)

Pwgh wyn, puyp Rhnptd 4.1.1-h, gwijugwd p < R hwdwn phinh mbh

%d8’= / %(Vu,x) dS=0

|z|=p |z}=p
hwywuwpnpnibp: Lwbh np (Vu, z)-p wipinhwy & {|z| < R} qbnnut b ypligh
nbh (4.42) tgpught wwydwbp, www Jtpght hwjwuwpnipjwh dhe whghtjnyg
uwhdwibh, tipp p = R, Qupwbwbp nddwh gnynipjwd hwdwp Lo dbl wihpwdtog
wwydwh’

fdsS=o0: (4.46)
|z|=R
Shypuwquynud gnyg Yywbp, np (4.45) L (4.46) wwydwbbbpp Lkydwbh fubnph

Inddwih gnynupywd hwiwp ng Shwjb wihpudbop o, wy bwl pwwpuwn tb:

Lwhr winpunuebwdp ULkpdwbh fuingph  nddwd  dshwiynpjwd  hwpghi:
Wythwyy &, np Uljdwbh fubnph (ndnwip Shwlyp sk, pwih np tpt w(z)-p (ndnud
E, wyw u(z) + C $nubljghwd b bnyd fubgph pudnud &, npgptin C-b gwbljugwd
hwupupnid t: Stnh mbh htaplyw) whnnuip:

@tinplid 4.11.1 (Lmddwh phghwimp gluph dwuhll) Epk ui(z) o us(z)
Pnibighwbbpn dhlimyh Ubplwbh pbgph pudmdhbp &o, wugu qryngamil
nthh wybwhup C hwurypapnil, np

u(z) =ug(z) + C, |z| <R,

wy) punupny, Llpdwbh pbngph pudnaip dheali b hwwpuwoepnd gnobwupliph
aopnprudp:
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Uwugnyg: bph v (z) L ux(z) dnibiljghwbbpp dhbngh Lbkpdwbh fbnph
[ndnuibibp 6o, www w(z) = uy(z) — ua(z) Pmblghwh

Au =0, |z|<R,

ou
Ovlz=r

hwidwutn wwydwbibpny Lhpdwbh fubnph (ndnad & 8nyg ywbp, np

0, (4.47)

uw(z)=C, |z|<R: (4.48)

Lwibh np gwiuwgwd p < R ptwpnd u € C%(|z| < p), wyw puyp phih
wnwehh pwhwdlh

/uAudx: /u%d&‘— / VuVu dz,

|z|<p |zl=p |z|<p

npptinhg uypwbnud tibp

1
;/u(m)(Vu,x)dS= / |Vul?dz, p<R:

|z|=p lz|<p
Lwbh np u(z) L (Vu, z) pnbljghwbbinp wuwpwind 66 C(|z| < R) puginggjw-
op, www puy (4.47) wwydwbh

.1 1
31_%12; / w(z)(Vu,z) dS = & / w(z)(Vu,z) dS =0,

lel—p le|=R
npptinhg htipplinud &
lim / |Vu?dz =0 (4.49)
p—R

|z[<p

(4.49) hwjwuwnpnpynbp Juwpnn & gbnh ndbbw) dhugb wb ghiypnud, tpp

/ |Vul?dz =0 guiljugwd p < R hwiwp : (4.50)
|z|<p
(4.50)-hg htuplud &, np |[Vu(z)| = 0, |z| < R, W yptnh nibh (4.48)-p: @bnptdh
wwwgnigywd t:
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Ui winpunwnbwbp (4.41), (4.42) Ubkjiwbh fbnph nddwb gnynupjwbp:
Lowbwltibp v(z)-my
Av=0, |z| <R, (4.51)

— 4.5
0 pper = (4.52)

“hphputh fubnph ndnuip: Stinh moh htigplyw) Woinnuip:

Ptinplad 4.11.2 (Smympywh dwohl)) Thgnp ipbnp nbkh (4.45) L (4.46)
upupbwbhbbpp: Wn nhyprnd (4.41), (4.42) Ukpfwbh ubigpp prudnotpn qrumi-
pyntl nilp b ppafnd b

1
-1
(@) = R / @ dt + const, |a| <R, (4.53)
0

pulnudhmf, npapbn v(z) pnbhghub (4.51), (4.52) Yapppybh pangph (nidnoth
L

Uwwgnyg: (4.45) wwyiwbhg htiplinud t, np (4.51), (4.52) Yhphlubth jubnph
v(z) udnuip gnynupgnih nubh: (4.46) wwjyiwdhg htigplnud &, np

v(0)=0:

bpnp (thpwnntbp 7 = 3), puy Jwhbpluinpuwyhb Jhehbh twuhb phnptdh, guwilw-
gud p < R nhypnui

1 . 1 1
v(0) = T v(z) ds:gl_%m / v(z) dS = pp f fdS=0:

lai=p lel=p lel=R

v(z) Pnibighwd wupywinui t C?(|z| < R)-hi L puyp Rbynph pwbwalh

v(z) =v(0) + (Vo(0),2) + o (|z|?) ZC’z,—l—o |z[2)

o
npuptin C; = ;:(::) s i=1,.,n
Stiypluiwpwn
'U(a: t)

Z Ciz; + o (|z[*t)
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L ¢ = 0 ntiypnut (4.53) Ghpwhbypbgnuwiht wppwhwppmpimbp Gquwlihnyend
smbh: Lunphibp, np bph {|z| < p} ginh z Ytapbph hwdwp nhpwplbbp y = =,
0 <t < 1, Ytpbpp, www v Yhpbpp Ypnfudtd Ongd {|y| < p} gqbnnud.
lyl = |z-t| = ||t < pt < p: Npubu (4.51), (4.52) Yhphuish fbnph ndnud o(z)
Prubiyghwd wuwyplwinwl t C(|z| < R)-hb, htupluwpwn (4.53) pwbwaling ppjwd
w(z) $mblghwd Lo wuwplwinud £ C(|z| < R)-hbh: Rwgh wyn, gwbljugwd p < R
hwdwp v € C?(Jz| < p) L

0 (v(=xt)\ _ 10v(y) RIC)
axi t o t ay, y=at o 8% y=:nt’
2 2
& (2@ _o%W) i1

htyplwpwn, (4.53) pwiwdlng ppjwd u(z) dublyghwd Lu wuphubnd
C2(|z| < p)-hb b

1
Au(x):R/Ay'v(y)l tdt=0, |z|<p:
y=uat
0

Wuwhuny, u(z) $nbilghwd wupluinu t C%(|z| < R)NC(|z| < R) pwqdinypjw-
op L hwpdnbhy t {|z| < R} ghnnu:

Uy gnyg pwip, np (Vu, z) dnublighwd wuwplwind t C(|z| < R)-hb b yphinh
nubh (4.42) tqnuyhb wwydwbp: (4.53) pwbwalp gptibp udbtphl Ynnpphbwpulwb
hwdwlwngnut: bpk @ = (21,22,23) = (r,¢,6), wwyw y = z¢ Yyh uPbphl Ynnp-
nhiwupp Yhbh (rt, ¢, 0): Mugph, udbphl Ynnpphbwpwlwd hwiwlwpgnud (4.53)
pwhwadlip Ynbbbw htiplyw) pliupp.

1 T
6
w(r,p,0) = R/ M dt + const = R/ % dp+const:  (4.54)
0 0

Lwih np v € C(|z| < R), wwyw, hwiwdwjb (4.54) pwbwalh, ru.(p, ¢,0) dubl-
ghwt wwpwind t C(|z| < R)-hb, ru.(p,¢,0) € C(|z| < R): Stplwpwnp,
(Vu,z) € C(|z] < R) (rus(p,9,0) = (Vu,z)) L phnh mbh (4.42) bapughb ww)-
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dwbp.
%
ov

Ehnptdh wywgmgwd t;

_ R _
lz2l=R  p le=R

_f:

= u?‘ =
|z|=R |z|=R

129



Q-puijmbnyaynih

.B. Il . Muxaitanos, Jlekyuu no ypasrHeHuam wmamemamuieckold
Pusuxu, Yueb. mocobme mia ByszoB, M.: UsparenbcTBo dH3EKO-
MaTeMaTHdecKol grTepaTypsl, 2001

. B.II.Muxaiiao B, Juppeperyuasorvie YpasHeHUA 8 YACTVHHLL NPO-
ussodnvir, M.: Hayka, 1983

A H. Tuxonos, A.A.Cawmapckuii Ypasuenus mamema-

muueckol gusuxu, M.: Hayka, 1977

N.T'.IlleTpoBckui, Jexyuu 06 YypasHEHUAT C YACMHOIMU NPOU3-

so0nvimu, M.: Hayka, 1970

.B.C.Baxaagumup o B, Ypasuerusa mamemamuveckol, gusuxu, M.:

Hayxka, 1988

B.IIl. Muxaitaos, A.K.I'ymwun, Jonosnumesvnole 21a8v

xypca "Ypasnenus wmamemamuneckoll ¢dusuxu”, JleknmoEHBIE KypChHI

HOII, Brin. 7, M.: MUAH, 2007

I A . KyapsaBues, Ochosv mamemamuseckozo anasusa, T. 1-3,

M.: Bricmag mkosa, 1988

' M. ®@uxTeHroab 1, Kypc dudpeperyuasbrozo u unmezpasbHo-

20 ucyucaenus, 1. 1-3, M.: Hayka, 1970

9. A.M.Mauas e B, Ochoss, aunetinotl anrzebpu, M.: Hayka, 1975

10 JI.C. ITouTpsaruH, Obvxnosenuvie ougddeperyuasvrove ypasHe-
Hus, M.: Hayka, 1982

RS, Upwppgymbd, U.N, S\ndhwibhuywi, 0. L.Cwh-
pwn)ywh, Dwpbduapplpulpuh Phghlpuyp  hwjuwnwpnodblip, 6MS,
1988

130



Jwhpwd dnpugh nwiwiywb

Uwpbdunphjujub $hghjuyh hwjwuwpnudbitp

Uypnpugnyuwd t 17.02.2017, Sywgpnipyub tnuwbwlp
Juningy hpung. fwdny
Swwpwbwl 250

Swwnwbh hwugt

131



